SITE ID	LOCATION ID	GOOSNEC TYPE	PUBLIC MATERAIL	WAS PUBLICSIDE EVER LEAD	PUBLIC SIZE	PUBLIC INSTALL	BASIS OF PUBILC MATRERIAL CLASSIFICATION	WASPUBL IC FILED VERFIED	DATE OF STREET SIDE FIELD VERIFICATIO N	PUBLIC METHOD OF STREET SIDE FIELD VERIFICATION	PRIVATE MATERAIL	PRIVATE SIZE	PRIVATE INSTALL	BASIS OF PRIVATE MATRERIAL CLASSIFICATION	WAS PRIVATE FILED VERFIED	DATE OF PROPERTY SIDE FIELD VERIFICATION	PRIVATE METHOD OF PROPERTY SIDE FIELD VERIFICATION
			PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE
	DAMS PL 1003 DAMS PL 1006	N SF	C	N N	0.75	2015 2015	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1953 1953	FILED INSPECTION ONY FILED INSPECTION ONY	Y	2022	VISUAL INSP AT METER VISUAL INSP AT METER
	DAMS PL 1008	N SF	C	N	0.75	2015	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1953	FILED INSPECTION ONY	Y	2022	VISUAL INSP AT METER
	DAMS PL 1009	N SF	C	N	0.75	2015	INSTALLED AFTER LEAD BAN	γ		VISUAL INSP DURING INSTALL OR REPAIR	С	0.75	1953	FILED INSPECTION ONY	Υ	2022	VISUAL INSP AT METER
	DAMS PL 1014 DAMS PL 1015	N SF N SE	C	N N	0.75	2015	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1953 1953	FILED INSPECTION ONY	Y	2022	VISUAL INSP AT METER VISUAL INSP AT METER
	DAMS PL 1020	N SF	C	N N	0.75	2015	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1953	FILED INSPECTION ONY	Y	2022	VISUAL INSP AT METER
	DAMS PL 1021	N SF	C	N	0.75	2015	INSTALLED AFTER LEAD BAN	γ		VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1953	FILED INSPECTION ONY	Υ	2022	VISUAL INSP AT METER
	DAMS PL 1026	N SF	С	N	0.75	2015	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1953	FILED INSPECTION ONY	Υ	2022	VISUAL INSP AT METER
	DAMS PL 1027 DAMS PL 1032	N SF N SF	C	N N	0.75 0.75	2015 2015	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	0.75 0.75	1953 1953	FILED INSPECTION ONY FILED INSPECTION ONY	Y	2022	VISUAL INSP AT METER VISUAL INSP AT METER
	DAMS PL 1032	N SF	C	N	0.75	2015	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	c	0.75	1953	FILED INSPECTION ONY	Y	2022	VISUAL INSP AT METER
	DAMS PL 122	N SF	С	N	0.75	2015	INSTALLED AFTER LEAD BAN	γ		VISUAL INSP DURING INSTALL OR REPAIR	С	0.75	1953	FILED INSPECTION ONY	Υ	2022	VISUAL INSP AT METER
	DAMS PL 128 DAMS PL 134	N SF N SF	C	N N	0.75	2015 2015	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1953	FILED INSPECTION ONY FILED INSPECTION ONY	Y	2022	VISUAL INSP AT METER VISUAL INSP AT METER
	MPHITHEATER	N NONRES	P	N N	1.00	2013	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	1953 2013	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER VISUAL INSP AT METER
	MSTERDAM CT 300	N SF	P	N	1.00	2015	INSTALLED AFTER LEAD BAN	γ		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1976	INSTALLATION RECORD	Υ	2015	VISUAL INSP DURING INSTALL OR REPAIR
	MSTERDAM CT 301	N SF	P	N	1.00	2015	INSTALLED AFTER LEAD BAN	γ		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1976	INSTALLATION RECORD	Υ	2015	VISUAL INSP DURING INSTALL OR REPAIR
	MSTERDAM CT 307 MSTERDAM CT 313	N SF N SF	P	N N	1.00	2015 2015	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1976 1976	INSTALLATION RECORD INSTALLATION RECORD	Y	2015 2015	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	MSTERDAM CT 314	N SF	P	N	1.00	2015	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	1976	INSTALLATION RECORD	Y	2015	VISUAL INSP DURING INSTALL OR REPAIR
	MSTERDAM CT 319	N SF	P	N	1.00	2015	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1976	INSTALLATION RECORD	Υ	2015	VISUAL INSP DURING INSTALL OR REPAIR
	MSTERDAM CT 322 MSTERDAM CT 325	N SF	P	N N	1.00	2015	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1976 1976	INSTALLATION RECORD INSTALLATION RECORD	Y	2015	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	MSTERDAM CT 325 MSTERDAM CT 331	N SF	P P	N N	1.00	2015	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1976	INSTALLATION RECORD	Y	2015	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0027 AI	NGELA CT 517	N SF	c c	N N	1.00	1994	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	1994	INSTALLED AFTER LEAD BAN	Y	1994	VISUAL INSP DURING INSTALL OR REPAIR
	NGELA CT 518	N SF	C	N	1.00	1994	INSTALLED AFTER LEAD BAN	γ		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1994	INSTALLED AFTER LEAD BAN	Υ	1994	VISUAL INSP DURING INSTALL OR REPAIR
	NGELA CT 519 NGELA CT 520	N SF	C	N N	1.00	1994 1994	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1994 1994	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1994 1994	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	NGELA CT 520	N SF	C	N N	1.00	1994	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1994	INSTALLED AFTER LEAD BAN	Y	1994	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0032 AI	NGELA CT 523	N SF	C	N	1.00	1994	INSTALLED AFTER LEAD BAN	γ	1994	VISUAL INSP DURING INSTALL OR REPAIR	Č	1.00	1994	INSTALLED AFTER LEAD BAN	Υ	1994	VISUAL INSP DURING INSTALL OR REPAIR
	NGELA CT 524	N SF	C	N	1.00	1994	INSTALLED AFTER LEAD BAN	γ		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1994	INSTALLED AFTER LEAD BAN	Υ	1994	VISUAL INSP DURING INSTALL OR REPAIR
	NGELA CT 525 NGELA CT 526	N SF N SF	C	N N	1.00	1994 1994	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1994 1994	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1994 1994	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	NGELA CT 527	N SF	C	N	1.00	1994	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1994	INSTALLED AFTER LEAD BAN	Y	1994	VISUAL INSP DURING INSTALL OR REPAIR
	NNE ST S 200	N SF	P	N	1.00	2015	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2015	INSTALLED AFTER LEAD BAN	Υ	2015	VISUAL INSP DURING INSTALL OR REPAIR
	NNE ST S 203	N SF	P	N	1.00	2015	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2015	INSTALLED AFTER LEAD BAN	Y	2015	VISUAL INSP DURING INSTALL OR REPAIR
	NNE ST S 204 NNE ST S 209	N SF	P P	N N	1.00	2015 2015	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2015 2015	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2015	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	NNE ST S 212	N SF	P	N	1.00	2015	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2015	INSTALLED AFTER LEAD BAN	Y	2015	VISUAL INSP DURING INSTALL OR REPAIR
	NNE ST S 215	N SF	P	N	1.00	2015	INSTALLED AFTER LEAD BAN	γ		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2015	INSTALLED AFTER LEAD BAN	Υ	2015	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0043 AI		N SF	P	N N	1.00	2015	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2015	INSTALLED AFTER LEAD BAN	Y	2015	VISUAL INSP DURING INSTALL OR REPAIR
	NNE ST S 222 NNE ST S 228	N SF N SF	P P	N N	1.00	2015 2015	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2015 2015	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2015 2015	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	NNE ST S 231	N SF	P	N	1.00	2015	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2015	INSTALLED AFTER LEAD BAN	Y	2015	VISUAL INSP DURING INSTALL OR REPAIR
	NNE ST S 239	N SF	Р	N	1.00	2015	INSTALLED AFTER LEAD BAN	γ		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2015	INSTALLED AFTER LEAD BAN	Υ	2015	VISUAL INSP DURING INSTALL OR REPAIR
EPALO048 AI		N SF	P P	N	1.00	2015	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2015	INSTALLED AFTER LEAD BAN	Y	2015	VISUAL INSP DURING INSTALL OR REPAIR
	NNE ST S 247 NNE ST S 252	N SF N SF	P	N N	1.00	2015 2015	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2015 2015	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2015	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	NNE ST S 257	N SF	P	N	1.00	2015	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2015	INSTALLED AFTER LEAD BAN	Y	2015	VISUAL INSP DURING INSTALL OR REPAIR
	NNE ST S 258	N SF	P	N	1.00	2015	INSTALLED AFTER LEAD BAN	γ		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2015	INSTALLED AFTER LEAD BAN	Υ	2015	VISUAL INSP DURING INSTALL OR REPAIR
	NNE ST S 264 NNE ST S 265	N SF N SF	P	N N	1.00	2015 2015	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2015 2015	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2015	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	NNE ST S 270	N SF	P	N	1.00	2015	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2015	INSTALLED AFTER LEAD BAN	Y	2015	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0056 AI	NNE ST S 276	N SF	P	N	1.00	2015	INSTALLED AFTER LEAD BAN	γ	2015	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2015	INSTALLED AFTER LEAD BAN	γ	2015	VISUAL INSP DURING INSTALL OR REPAIR
	NNE ST S 309 NNE ST S 310	N SF N SF	P P	N N	1.00	2015 2015	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2015 2015	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2015 2015	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	NNE ST S 310 NNE ST S 315	N SF	P	N N	1.00	2015	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2015	INSTALLED AFTER LEAD BAN	Y	2015	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0059 AI	NNE ST S 316	N SF	P	N	1.00	2015	INSTALLED AFTER LEAD BAN	γ	2015	VISUAL INSP DURING INSTALL OR REPAIR	č	1.00	2015	INSTALLED AFTER LEAD BAN	Y	2015	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0060 AI		N SF	P	N	1.00	2015	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2015	INSTALLED AFTER LEAD BAN	Y	2015	VISUAL INSP DURING INSTALL OR REPAIR
	NNE ST S 323 NNE ST S 328	N SF	P P	N N	1.00	2015 2015	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2015 2015	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2015 2015	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPALO062 AI		N SF	P	N	1.00	2015	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2015	INSTALLED AFTER LEAD BAN	Y	2015	VISUAL INSP DURING INSTALL OR REPAIR
	NNE ST S 334	N SF	P	N	1.00	2015	INSTALLED AFTER LEAD BAN	Y	2015	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2015	INSTALLED AFTER LEAD BAN	Y	2015	VISUAL INSP DURING INSTALL OR REPAIR
	NNE ST S 339	N SF	P	N	1.00	2015	INSTALLED AFTER LEAD BAN	γ		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2015	INSTALLED AFTER LEAD BAN	Υ	2015	VISUAL INSP DURING INSTALL OR REPAIR
	NNE ST S 340 NNE ST S 347	N SF	P P	N N	1.00	2015	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2015 2015	INSTALLED AFTER LEAD BAN	Y	2015	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0069 AI	NNE ST S 355	N SF	P	N	1.00	2015	INSTALLED AFTER LEAD BAN	γ	2015	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2015	INSTALLED AFTER LEAD BAN	Y	2015	VISUAL INSP DURING INSTALL OR REPAIR
	PPLE BLOSSOM CT 712	N SF	С	N	1.00	1993	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	1993	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP AT METER
	PPLE BLOSSOM CT 715 PPLE BLOSSOM CT 716	N SF N SF	C	N N	1.00	1993 1993	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1993 1993	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1993 1993	VISUAL INSP AT METER VISUAL INSP AT METER
	PPLE BLOSSOM CT 717	N SF	C	N N	1.00	1993	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1993	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP AT METER VISUAL INSP AT METER
EPAL0075 AI	PPLE BLOSSOM CT 719	N SF	č	N	1.00	1993	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	1993	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP AT METER
	PPLE BLOSSOM CT 720	N SF	С	N	1.00	1993	INSTALLED AFTER LEAD BAN	γ		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1993	INSTALLED AFTER LEAD BAN	γ	1993	VISUAL INSP AT METER
	PPLE BLOSSOM CT 721 PPLE BLOSSOM CT 724	N SF N SF	C	N N	1.00	1993 1993	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1993	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP AT METER VISUAL INSP AT METER
	PPLE BLOSSOM CT 726	N SF	C	N N	1.00	1993	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1993	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP AT METER VISUAL INSP AT METER
EPAL0080 AI	PPLEJACK CT 516	N SF	C	N	1.00	1993	INSTALLED AFTER LEAD BAN	γ	1993	VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	1993	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP AT METER
	PPLEJACK CT 517	N SF	C	N	1.00	1993	INSTALLED AFTER LEAD BAN	γ		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1993	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP AT METER
	PPLEJACK CT 518 PPLEJACK CT 519	N SF N SF	C	N N	1.00	1993 1993	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1993 1993	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1993 1993	VISUAL INSP AT METER VISUAL INSP AT METER
	PPLEJACK CT 520	N SF	C	N N	1.00	1993	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1993	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP AT METER VISUAL INSP AT METER
EPAL0085 AI	PPLEWOOD DR 505	N SF	С	N	1.00	1994	INSTALLED AFTER LEAD BAN	γ	1994	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1994	INSTALLED AFTER LEAD BAN	Υ	1994	VISUAL INSP AT METER
EPAL0086 AI	PPLEWOOD DR 509	N SF	С	N	1.00	1994	INSTALLED AFTER LEAD BAN	Υ	1994	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1994	INSTALLED AFTER LEAD BAN	Υ	1994	VISUAL INSP AT METER

SITE ID	LOCATION ID	LEAD GOOSNEC K	BUILDING TYPE	PUBLIC MATERAIL	WAS PUBLICSIDE EVER LEAD	PUBLIC SIZE	PUBLIC INSTALL	BASIS OF PUBILC MATRERIAL CLASSIFICATION	DATE OF WASPUBL STREET SI IC FILED FIELD VERFIED VERIFICAT N	PUBLIC METHOD OF STREET SIDE FIELD	PRIVATE MATERAIL	PRIVATE SIZE	PRIVATE INSTALL	BASIS OF PRIVATE MATRERIAL CLASSIFICATION	WAS PRIVATE FILED VERFIED	DATE OF PROPERTY SIDE FIELD VERIFICATION	PRIVATE METHOD OF PROPERTY SIDE FIELD VERIFICATION
		_		PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC PUBLIC	PUBLIC	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE
	PLEWOOD DR 511 PLEWOOD DR 512	N N	SF SF	C	N N	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 1994 Y 1994	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1994 1994	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP AT METER
	PLEWOOD DR 512	N	SF	C	N N	1.00	1994	INSTALLED AFTER LEAD BAN	Y 1994	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1994	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP AT METER
	PLEWOOD DR 514	N	SF	С	N	1.00		INSTALLED AFTER LEAD BAN	Y 1994	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1994	INSTALLED AFTER LEAD BAN	γ		VISUAL INSP AT METER
	PLEWOOD DR 515 PLEWOOD DR 521	N N	SF SE	C	N N	1.00	1994	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 1994 Y 1994	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1994 1994	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP AT METER
	PLEWOOD DR 522	N	SF	C	N	1.00		INSTALLED AFTER LEAD BAN	Y 1994	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1994	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER
	PLEWOOD DR 524	N	SF	C	N	1.00	1994	INSTALLED AFTER LEAD BAN	Y 1994	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1994	INSTALLED AFTER LEAD BAN	Υ	1994	VISUAL INSP AT METER
	PLEWOOD DR 526 PLEWOOD DR 527	N N	SF SF	C	N N	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 1994 Y 1994	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1994 1994	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP AT METER
EPAL0097 API	PLEWOOD DR 528	N	SF	c	N	1.00	1994	INSTALLED AFTER LEAD BAN	Y 1994	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1994	INSTALLED AFTER LEAD BAN	Y	1994	VISUAL INSP AT METER
	PLEWOOD DR 530	N	SF	С	N	1.00		INSTALLED AFTER LEAD BAN	Y 1994	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1994	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER
	PLEWOOD DR 533 PLEWOOD DR 603	N N	SF SF	C	N N	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 1994 Y 1994	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1994 1994	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP AT METER
	PLEWOOD DR 604	N	SF	C	N	1.00		INSTALLED AFTER LEAD BAN	Y 1994	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1994	INSTALLED AFTER LEAD BAN	Υ	1994	VISUAL INSP AT METER
	PLEWOOD DR 614 PLEWOOD DR 623	N N	SF SF	С	N N	1.00	1994 1994	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 1994 Y 1994	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1994 1994	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1994 1994	VISUAL INSP AT METER VISUAL INSP AT METER
	PLEWOOD DR 623	N N	SF SF	C	N N	1.00	1994	INSTALLED AFTER LEAD BAN	Y 1994 Y 1994	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1994	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP AT METER
	PLEWOOD DR 633	N	SF	C	N	1.00	1994	INSTALLED AFTER LEAD BAN	Y 1994	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1994	INSTALLED AFTER LEAD BAN	γ		VISUAL INSP AT METER
	PLEWOOD DR 634	N	SF	C	N	1.00		INSTALLED AFTER LEAD BAN	Y 1994	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1994 1994	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER
	PLEWOOD DR 643 PLEWOOD DR 703	N N	SF SF	C C	N N	1.00	1994 1994	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 1994 Y 1994	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1994 1994	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP AT METER
EPAL0109 API	PLEWOOD DR 708	N	SF	c	N	1.00	1994	INSTALLED AFTER LEAD BAN	Y 1994	VISUAL INSP DURING INSTALL OR REPAIR	č	1.00	1994	INSTALLED AFTER LEAD BAN	Y	1994	VISUAL INSP AT METER
EPAL0110 API	PLEWOOD DR 713	N	SF	С	N	1.00	1994	INSTALLED AFTER LEAD BAN	Y 1994	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1994	INSTALLED AFTER LEAD BAN	Y	1994	VISUAL INSP AT METER
	PLEWOOD DR 718 PLEWOOD DR 723	N N	SF SF	C	N N	1.00	1994 1994	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 1994 Y 1994	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1994 1994	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1994 1994	VISUAL INSP AT METER VISUAL INSP AT METER
EPAL0113 API	PLEWOOD DR 725	N	SF	C	N	1.00	1994	INSTALLED AFTER LEAD BAN	Y 1994	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1994	INSTALLED AFTER LEAD BAN	Y	1994	VISUAL INSP AT METER
EPAL0114 API	PLEWOOD DR 728	N	SF	С	N	1.00		INSTALLED AFTER LEAD BAN	Y 1994	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1994	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP AT METER
	PLEWOOD DR 729 PLEWOOD DR 738	N N	SF SF	C	N N	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 1994 Y 1994	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1994 1994	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP AT METER
	PLEWOOD DR 739	N	SF	C	N	1.00		INSTALLED AFTER LEAD BAN	Y 1994	VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	1994	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP AT METER
	PLEWOOD DR 824	N	SF	С	N	1.00	1994	INSTALLED AFTER LEAD BAN	Y 1994	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1994	INSTALLED AFTER LEAD BAN	γ	1994	VISUAL INSP AT METER
	PLEWOOD DR 826 PLEWOOD DR 829	N N	SF SF	C	N N	1.00	1994 1994	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 1994 Y 1994	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1994 1994	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP AT METER
EPAL0120 API		N	SF SF	C	N N	0.75		INSTALLED AFTER LEAD BAN	Y 1988	VISUAL INSP DURING INSTALL OR REPAIR	c	0.75	1988	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER
EPAL0122 AR	THUR CT 407	N	SF	C	N	0.75	1988	INSTALLED AFTER LEAD BAN	Y 1988	VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1988	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP AT METER
EPAL0123 ART		N N	SF SF	C	N N	0.75 0.75	1988 1988	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 1988 Y 1988	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	С	0.75 0.75	1988 1988	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP AT METER
EPAL0124 AR		N N	SF SF	C	N N	0.75		INSTALLED AFTER LEAD BAN	Y 1988 Y 1988	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1988	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER
EPAL0126 AR	THUR CT 413	N	SF	С	N	0.75		INSTALLED AFTER LEAD BAN	Y 1988	VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1988	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP AT METER
EPAL0127 ART		N N	SF SF	C	N N	0.75 0.75		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 1988 Y 1988	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	0.75 0.75	1988 1988	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP AT METER
EPAL0129 AR		N	SF	C	N N	0.75		INSTALLED AFTER LEAD BAN	Y 1988	VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1988	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER
EPAL0130 AR		N	SF	С	N	0.75	1988	INSTALLED AFTER LEAD BAN	Y 1988	VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1988	INSTALLED AFTER LEAD BAN	Υ	1988	VISUAL INSP AT METER
EPAL0131 ART		N N	SF SF	C	N N	0.75 0.75	1988 1988	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 1988 Y 1988	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	0.75 0.75	1988 1988	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1988 1988	VISUAL INSP AT METER VISUAL INSP AT METER
EPAL0132 AR		N	SF SF	C	N N	0.75		INSTALLED AFTER LEAD BAN	Y 1988	VISUAL INSP DURING INSTALL OR REPAIR	c	0.75	1988	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER
EPAL0134 AR		N	SF	С	N	0.75	1988	INSTALLED AFTER LEAD BAN	Y 1988	VISUAL INSP DURING INSTALL OR REPAIR	С	0.75	1988	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP AT METER
EPAL0135 AR		N N	SF SF	C	N N	0.75 0.75		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 1988 Y 1988	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	С	0.75 0.75	1988 1988	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP AT METER
EPAL0137 AR		N	SF	C	N N	0.75		INSTALLED AFTER LEAD BAN	Y 1988	VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1988	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER
EPAL0138 AR		N	SF	С	N	0.75		INSTALLED AFTER LEAD BAN	Y 1988	VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1988	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP AT METER
EPAL0139 ART		N N	SF SF	C	N N	0.75 0.75	1988 1988	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 1988 Y 1988	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1988 1988	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1988 1988	VISUAL INSP AT METER VISUAL INSP AT METER
EPAL0141 AR		N	SF	C	N	0.75	1988	INSTALLED AFTER LEAD BAN	Y 1988	VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1988	INSTALLED AFTER LEAD BAN	Y	1988	VISUAL INSP AT METER
EPAL0142 BIR		N	SCH/CC	С	γ	2.00	2007	INSTALLED AFTER LEAD BAN	Y 2007	VISUAL INSP DURING INSTALL OR REPAIR	Р	2.00	2022	INSTALLED AFTER LEAD BAN	γ		VISUAL INSP DURING INSTALL OR REPAIR
EPAL0143 BIR EPAL0144 BIR		N N	SF SF	C	Y	1.00	2007	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2007 Y 2007	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2007 2007	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP AT METER
EPAL0145 BIR		N	SF	C	Y	1.00		INSTALLED AFTER LEAD BAN	Y 2007	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL0146 BIR		N	SF	C	Y	1.00		INSTALLED AFTER LEAD BAN	Y 2007	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0147 BIR EPAL0148 BIR		N N	SF SF	C	Y	1.00	2007	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2007 Y 2007	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022 2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0149 BIR		N	SF	c	Y	1.00	2007	INSTALLED AFTER LEAD BAN	Y 2007	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL0150 BIR		N	SF	С	Y	1.00		INSTALLED AFTER LEAD BAN	Y 2007	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2007	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER
EPAL0151 BIR EPAL0152 BIR		N N	SF SF	C	Y	1.00	2007	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2007 Y 2007	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C P	0.75 1.00	1970 2022	PREVIOUS EVAL INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP DURING INSTALL OR REPAIR
EPAL0152 BIR		N	SF	c	Y	1.00		INSTALLED AFTER LEAD BAN	Y 2007	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER
EPAL0154 BIR		N	SF	С	Y	1.00		INSTALLED AFTER LEAD BAN	Y 2007	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR
EPAL0155 BIR EPAL0156 BIR		N N	SF SF	С	Y	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2007 Y 2007	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP AT METER
EPAL0156 BIR		N N	SF SF	C	Y	1.00		INSTALLED AFTER LEAD BAN	Y 2007	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2007	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP DURING INSTALL OR REPAIR
EPAL0158 BIR		N	SF	С	Υ	1.00		INSTALLED AFTER LEAD BAN	Y 2007	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2007	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP AT METER
EPAL0159 BIR EPAL0160 BIR		N N	SF SF	С	Y	1.00	2007	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2007 Y 2007	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2007	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP AT METER
EPAL0160 BIR		N N	SF SF	C	Y	1.00		INSTALLED AFTER LEAD BAN	Y 2007 Y 2007	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1970	PREVIOUS EVAL	Y		VISUAL INSP AT METER VISUAL INSP AT METER
EPAL0162 BIR	CH ST S 245	N	SF	Č	Y	1.00	2007	INSTALLED AFTER LEAD BAN	Y 2007	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2007	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER
EPALO163 BIR		N N	SF SF	С	Y	1.00	2007	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2007 Y 2007	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2007 2007	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP AT METER
EPAL0164 BIR EPAL0165 BIR		N N	SF SF	C	Y	1.00	2007	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2007 Y 2007	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	2007 1970	INSTALLED AFTER LEAD BAN PREVIOUS EVAL	Ϋ́Υ		VISUAL INSP AT METER VISUAL INSP AT METER
EPAL0166 BIR	CH ST S 315	N	SF	C	Y	1.00	2007	INSTALLED AFTER LEAD BAN	Y 2007	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0167 BIR		N	SF	C	Y	1.00		INSTALLED AFTER LEAD BAN	Y 2007	VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2007	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER
EPAL0168 BIR EPAL0169 BIR		N N	SF SF	C	Y	1.00	2007	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2007 Y 2007	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP AT METER
EPAL0170 BIR		N	SF	Č	Y	1.00		INSTALLED AFTER LEAD BAN	Y 2007	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00		INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
			J.		· · · ·				. 2007	Instruction net All							Same and the or her All

SITE ID	LOCATION ID	LEAD BUILDING GOOSNEC TYPE	PUBLIC MATERAIL	WAS PUBLICSIDE EVER LEAD	PUBLIC SIZE	PUBLIC INSTALL	BASIS OF PUBILC MATRERIAL CLASSIFICATION	WASPUBL IC FILED VERFIED	DATE OF STREET SIDE FIELD VERIFICATIO N	PUBLIC METHOD OF STREET SIDE FIELD VERIFICATION	PRIVATE MATERAIL	PRIVATE SIZE	PRIVATE INSTALL	BASIS OF PRIVATE MATRERIAL CLASSIFICATION	WAS PRIVATE FILED VERFIED	DATE OF PROPERTY SIDE FIELD VERIFICATION	PRIVATE METHOD OF PROPERTY SIDE FIELD VERIFICATION
			PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE
EPAL0171 BI EPAL0172 BI		N SF	C	Y	1.00	2007	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	0.75 0.75	1970 1970	PREVIOUS EVAL PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER VISUAL INSP AT METER
EPAL0173 BI	IRCH ST S 332	N SF	C	Ϋ́	1.00	2007	INSTALLED AFTER LEAD BAN	Ϋ́	2007	VISUAL INSP DURING INSTALL OR REPAIR	UNK=LG		1955		N N		
EPAL0174 B		N SF	C	Υ	1.00	2007	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2007	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER
	IRCH ST S 338 IRCH ST S 414	N SF N SF	C	Y	1.00	2007	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1970	PREVIOUS EVAL PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER VISUAL INSP AT METER
EPAL0177 B		N SF	C	Y	1.00	2007	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1970	PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER
EPAL0178 B	LUEBIRD LN 216	N SF	C	N	1.00	1985	Installation record	Υ	1985	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1985	INSTALLATION RECORD	Y	1985	VISUAL INSP DURING INSTALL OR REPAIR
	LUEBIRD LN 218 LUEBIRD LN 222	N SF N SF	C	N N	1.00	1985 1985	Installation record Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1985 1985	INSTALLATION RECORD INSTALLATION RECORD	Y	1985 1985	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	LUEBIRD LN 224	N SF	C	N N	1.00	1985	Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1985	INSTALLATION RECORD	Y	1985	VISUAL INSP DURING INSTALL OR REPAIR
	LUEBIRD LN 228	N SF	C	N	1.00	1985	Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1985	INSTALLATION RECORD	Y	1985	VISUAL INSP DURING INSTALL OR REPAIR
	LUEBIRD LN 230	N SF	С	N	1.00	1985	Installation record	Υ		VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	1985	INSTALLATION RECORD	Υ	1985	VISUAL INSP DURING INSTALL OR REPAIR
	LUEBIRD LN 234 LUEBIRD LN 236	N SF N SF	C	N N	1.00	1985 1985	Installation record Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1985 1985	INSTALLATION RECORD INSTALLATION RECORD	Y	1985 1985	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0186 B	LUEBIRD LN 240	N SF	C	N	1.00	1985	Installation record	Y	1985	VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	1985	INSTALLATION RECORD	Y	1985	VISUAL INSP DURING INSTALL OR REPAIR
	LUEBIRD LN 242	N SF	С	N	1.00	1985	Installation record	Υ		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1985	INSTALLATION RECORD	Υ	1985	VISUAL INSP DURING INSTALL OR REPAIR
	ARTER CT 552	N NONRES N NONRES	C	N N	2.00	1990	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	С	2.00	1990	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER
	ARTER CT 553 ARTER CT 557	N NONRES N NONRES	C	N N	2.00	1990 1990	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	2.00	1990 1990	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022 2022	VISUAL INSP AT METER VISUAL INSP AT METER
EPAL0191 C	ARTER CT 558	N NONRES	C	N	2.00	1990	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	c	2.00	1990	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER
	ARTER CT 569	N NONRES	C	N	2.00	1990	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	C	2.00	1990	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER
	ARTER ST 563 ENTRAL PARKWAY 121	N NONRES N SF	C	N N	2.00 1.00	1990 2004	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1990 2005	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	2.00 1.00	1990 2004	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER VISUAL INSP DURING INSTALL OR REPAIR
	ENTRAL PARKWAY 121 ENTRAL PARKWAY 123	N SF	C	N N	1.00	2004	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2004	INSTALLED AFTER LEAD BAN	Y	2005	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0196 C	ENTRAL PARKWAY 124	N SF	C	N	1.00	2004	INSTALLED AFTER LEAD BAN	Υ	2005	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2004	INSTALLED AFTER LEAD BAN	Υ	2005	VISUAL INSP DURING INSTALL OR REPAIR
	ENTRAL PARKWAY 126	N SF N SF	С	N N	1.00	2004	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2004 2004	INSTALLED AFTER LEAD BAN	Y	2005	VISUAL INSP DURING INSTALL OR REPAIR
	ENTRAL PARKWAY 127 ENTRAL PARKWAY 129	N SF	C	N N	1.00	2004	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2004	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y V	2005 2005	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	ENTRAL PARKWAY 130	N SF	C	N	1.00	2004	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	2004	INSTALLED AFTER LEAD BAN	Y	2005	VISUAL INSP DURING INSTALL OR REPAIR
	ENTRAL PARKWAY 132	N SF	С	N	1.00	2004	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2004	INSTALLED AFTER LEAD BAN	Y	2005	VISUAL INSP DURING INSTALL OR REPAIR
	ENTRAL PARKWAY 133 ENTRAL PARKWAY 135	N SF N SF	C	N N	1.00	2004	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2004	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2005 2005	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	ENTRAL PARKWAY 135 ENTRAL PARKWAY 136	N SF	C	N N	1.00	2004	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2004	INSTALLED AFTER LEAD BAN	Y	2005	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	ENTRAL PARKWAY 138	N SF	C	N	1.00	2004	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2004	INSTALLED AFTER LEAD BAN	Y	2005	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0206 C	HRISTINE ST 1411	N SF	UNK=NOLG	UNK		1975		N			UNK=NOLG		1975		N		
	HRISTINE ST 1412 HRISTINE ST 1419	N SF N SF	UNK=NOLG UNK=NOLG	UNK		1975 1975		N N			UNK=NOLG UNK=NOLG		1975 1975		N N		
	HRISTINE ST 1420	N SF	UNK=NOLG	UNK		1975		N N			UNK=NOLG UNK=NOLG		1975		N N		-
EPAL0210 C	HRISTINE ST 1427	N SF	UNK=NOLG	UNK		1975		N			UNK=NOLG		1975		N		
	HRISTINE ST 1428	N SF	UNK=NOLG	UNK		1975		N			UNK=NOLG		1975		N		
	LARK ST 130 LARK ST 132	N SF N SF	C	N N	1.00	2004	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2004	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2005	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	LARK ST 136	N SF	C	N	1.00	2004	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	2004	INSTALLED AFTER LEAD BAN	Y	2005	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0215 C	LARK ST 138	N SF	С	N	1.00	2004	INSTALLED AFTER LEAD BAN	Υ	2005	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2004	INSTALLED AFTER LEAD BAN	Y	2005	VISUAL INSP DURING INSTALL OR REPAIR
	LARK ST N 131	N SF	C	N	1.00	2004	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2004	INSTALLED AFTER LEAD BAN	Y	2005	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0217 CI	LUBHOUSE LN 101 LUBHOUSE LN 201	N SF N SF	P	N N	1.00	2017	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2017 2017	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2017	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	LUBHOUSE LN 203	N SF	P	N	1.00	2017	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2017	INSTALLED AFTER LEAD BAN	Y	2017	VISUAL INSP DURING INSTALL OR REPAIR
	LUBHOUSE LN 207	N SF	Р	N	1.00	2017	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2017	INSTALLED AFTER LEAD BAN	Υ	2017	VISUAL INSP DURING INSTALL OR REPAIR
	LUBHOUSE LN 209 LUBHOUSE LN 212	N SF N SF	P P	N N	1.00	2017	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2017 2017	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2017	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0222 C	LUBHOUSE LN 214	N SF	P	N	1.00	2017	INSTALLED AFTER LEAD BAN	Y	2017	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2017	INSTALLED AFTER LEAD BAN	Y	2017	VISUAL INSP DURING INSTALL OR REPAIR
	OBBLE STONE LN 524	N SF	С	N	1.00	1983	Installation record	Υ	1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	OBBLE STONE LN 539	N SF	С	N	1.00	1983	Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N N		
	OBBLE STONE LN 545 OBBLE STONE LN 548	N SF	C	N N	1.00	1983 1983	Installation record Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1985 1985		N N		
EPAL0228 C	OBBLE STONE LN 551	N SF	Č	N	1.00	1983	Installation record	Υ		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	OBBLE STONE LN 557	N SF	C	N	1.00	1983	Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	OBBLE STONE LN 564 OBBLE STONE LN 601	N SF N SF	C	N N	1.00	1983 1983	Installation record Installation record	Y	1985 1985	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1985 1985		N N		
	OBBLE STONE LN 607	N SF	C	N N	1.00	1983	Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1985		N N		
	OBBLE STONE LN 613	N SF	С	N	1.00	1983	Installation record	Υ		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	OBBLE STONE LN 619 OBBLE STONE LN 625	N SF N SF	C	N N	1.00	1983	Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N N		
	OBBLE STONE LN 625 OBBLE STONE LN 631	N SF	C	N N	1.00	1983 1983	Installation record Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1985 1985		N N		
	OBBLE STONE LN 632	N SF	C	N	1.00	1983	Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	OBBLE STONE LN 710	N NONRES	С	N	1.00	1995	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	Р	6.00	1995	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP AT METER
	OBBLESTONE LN 707 OBBLESTONE LN 710	N NONRES N NONRES	C	N N	1.00	1995 1995	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00 6.00	1995 1995	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER VISUAL INSP AT METER
	OBBLESTONE IN 710 OBBLESTONE IN 825	N NONRES	C	N N	1.00	1995	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	8.00	1995	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER VISUAL INSP AT METER
EPAL0246 C	ORTLAND CT 500	N SF	c	N N	1.00	1993	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR	Ċ	1.00	1993	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
	ORTLAND CT 509	N SF	С	N	1.00	1993	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1993	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
	ORTLAND CT 512 ORTLAND CT 513	N SF N SF	C	N N	1.00	1993	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1993	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
	ORTLAND CT 513 ORTLAND CT 515	N SF	C	N N	1.00	1993 1993	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1993 1993	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1993 1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0251 C	ORTLAND CT 522	N SF	C	N	1.00	1993	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1993	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR
	ORTLAND CT 528	N SF	С	N	1.00	1993	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1993	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR
	URTIN AVE 1404 URTIN AVE 1409	N SF N SF	P P	N N	1.00	2016 2016	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1979 1979	INSTALLATION RECORD	Y	2016 2016	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	URTIN AVE 1409 URTIN AVE 1419	N SF	P	N N	1.00	2016	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1979	INSTALLATION RECORD	Y	2016	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0256 C	URTIN AVE 1423	N SF	P	N	1.00	2016	INSTALLED AFTER LEAD BAN	Υ	2016	VISUAL INSP DURING INSTALL OR REPAIR	Č	1.00	1979	INSTALLATION RECORD	Y	2016	VISUAL INSP DURING INSTALL OR REPAIR
	URTIN AVE 1427	N SF	P	N	1.00	2016	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1979	INSTALLATION RECORD	Y	2016	VISUAL INSP DURING INSTALL OR REPAIR
EPALUZ58 C	URTIN AVE 1433	N SF	Р	N	1.00	2016	INSTALLED AFTER LEAD BAN	Υ	2016	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1979	INSTALLATION RECORD	1	2016	VISUAL INSP DURING INSTALL OR REPAIR

SITE ID	LOCATION ID	LEAD GOOSNEC K	BUILDING TYPE	PUBLIC MATERAIL	WAS PUBLICSIDE EVER LEAD	PUBLIC SIZE	PUBLIC INSTALL	BASIS OF PUBILC MATRERIAL CLASSIFICATION	WASPUBL STREE IC FILED FIE VERFIED VERIFI	ELD	PUBLIC METHOD OF STREET SIDE FIELD VERIFICATION	PRIVATE MATERAIL	PRIVATE SIZE	PRIVATE INSTALL	BASIS OF PRIVATE MATRERIAL CLASSIFICATION	FILED	DATE OF PROPERTY SIDE FIELD /ERIFICATION	PRIVATE METHOD OF PROPERTY SIDE FIELD VERIFICATION
		_		PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC PUB		PUBLIC	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE
EPAL0259 CUR		N N	SF SF	P	N N	1.00		INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR	C	1.00		INSTALLATION RECORD INSTALLATION RECORD	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0260 CURT EPAL0261 DARI		N N	SF SF	UNK=NOLG	UNK	1.00	2016 1975	INSTALLED AFTER LEAD BAN	N 20	016	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00 0.75	1979 1975	PREVIOUS EVAL	Y	2016	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP AT METER
EPAL0262 DARI	RBOY RD 122	N	SF	UNK=NOLG	UNK		1975		N			C	0.75	1975	PREVIOUS EVAL	Υ	2022	VISUAL INSP AT METER
EPAL0263 DARI		N	SF	UNK=NOLG	UNK		1975		N			C	0.75	1975	PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER
EPAL0264 DARI EPAL0265 DARI		N N	SF SF	UNK=NOLG UNK=NOLG	UNK		1975 1975		N N			C	0.75	1975 1975	PREVIOUS EVAL PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER VISUAL INSP AT METER
	RBOY RD 156	N	SF	UNK=NOLG	UNK		1975		N			C	0.75	1975	PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER
EPAL0267 DARI		N	SF	UNK=NOLG	UNK		1975		N			С	0.75	1975	PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER
EPAL0268 DARI		N N	SF SE	UNK=NOLG	UNK		1975 1975		N N			C	0.75	1975	PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER
EPAL0269 DARI EPAL0270 DARI		N N	SF SF	UNK=NOLG UNK=NOLG	UNK		1975		N N			C	0.75	1975 1975	PREVIOUS EVAL PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER VISUAL INSP AT METER
EPAL0272 DOE		N	SF	С	N	1.00	2000	INSTALLED AFTER LEAD BAN		000	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0273 DOE		N	SF	C	N	1.00	2000	INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0274 DOE EPAL0275 DOE		N N	SF SF	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN		000	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1993 1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0275 DOE		N N	SF SF	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0277 DOE	ERFLER DR 728	N	SF	C	N	1.00	2000	INSTALLED AFTER LEAD BAN	Y 20	000	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0278 DOE		N	SF	С	N	1.00	2000	INSTALLED AFTER LEAD BAN	Y 20		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0279 DOE EPAL0280 DOE		N N	SF SF	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN		000	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1993 1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0280 DOE		N	SF	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0282 DOE	ERFLER DR 817	N	SF	C	N	1.00	2000	INSTALLED AFTER LEAD BAN	Y 20	000	VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0283 DOE		N N	SF SF	C	N	1.00	2000	INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993 1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0284 DOE		N N	SF SF	r	N N	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN		000	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	· ·	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0286 DOE		N	SF	c	N N	1.00	2000	INSTALLED AFTER LEAD BAN	Y 20		VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0287 DOE	ERFLER DR 838	N	SF	С	N	1.00	2000	INSTALLED AFTER LEAD BAN	Y 20	000	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0288 DOE		N	SF SF	C	N	1.00	2000	INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0289 DOE EPAL0290 DOE		N N	SF SF	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y V	1993 1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	ERFLER DR 846	N	SF	C	N	1.00	2000	INSTALLED AFTER LEAD BAN	Y 20	000	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0292 DOE		N	SF	C	N	1.00	2000	INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0293 DOE EPAL0294 DOE		N N	SF SE	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1993 1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0294 DOE		N N	SF SF	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0296 DOR		N	SF	C	N	1.00	2000	INSTALLED AFTER LEAD BAN		000	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0297 DOR		N	SF	C	N	1.00	2000	INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0298 DOR EPAL0299 DOR		N N	SF SE	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 20 Y 20		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1993 1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0300 DOR		N N	SF SF	C	N N	1.00		INSTALLED AFTER LEAD BAN	. 20		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0301 DOR	ROTHY CT 516	N	SF	C	N	1.00	2000	INSTALLED AFTER LEAD BAN	Y 20	000	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0302 DOR		N	SF	C	N	1.00	2000	INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0303 DOR EPAL0304 DOR	ROTHY CT 606 ROTHY CT 611	N N	SF SF	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	. 20	000	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1993 1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0305 DOR		N	SF	C	N	1.00	2000	INSTALLED AFTER LEAD BAN	Y 20		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0306 DOR		N	SF	C	N	1.00	2000	INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR
	NHOWER DR 540 NHOWER DR 558	N N	NONRES NONRES	С	N N	2.00	1986 1986	Diameter > 2 inches	Y 19		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	6.00 2.00	1986 1986	DIAMETER > 2" DIAMETER > 2"	Y	1986 1986	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	NHOWER DR 558	N N	NONRES	C	N N	2.00	1986	Diameter > 2 inches Diameter > 2 inches		986	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	2.00	1986	DIAMETER > 2"	Y	1986	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	NHOWER DR 711	N	NONRES	C	N	2.00	1986	Diameter > 2 inches			VISUAL INSP DURING INSTALL OR REPAIR	C	2.00	1986	DIAMETER > 2"	Y	1986	VISUAL INSP DURING INSTALL OR REPAIR
	NHOWER DR 717	N	NONRES	С	N	2.00	1986	Diameter > 2 inches			VISUAL INSP DURING INSTALL OR REPAIR	С	2.00	1986	DIAMETER > 2"	Υ	1986	VISUAL INSP DURING INSTALL OR REPAIR
	NHOWER DR 720 NHOWER DR 800	N N	NONRES NONRES	C	N N	2.00	1986 1986	Diameter > 2 inches Diameter > 2 inches		986 986	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	2.00	1986 1986	DIAMETER > 2" DIAMETER > 2"	Y	1986 1986	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	NHOWER DR 840	N	NONRES	C	N	2.00	1986	Diameter > 2 inches			VISUAL INSP DURING INSTALL OR REPAIR	C	2.00	1986	DIAMETER > 2"	Y	1986	VISUAL INSP DURING INSTALL OR REPAIR
	NHOWER DR 855	N	NONRES	C	N	2.00	1986	Diameter > 2 inches	Y 19		VISUAL INSP DURING INSTALL OR REPAIR	С	2.00	1986	DIAMETER > 2"	Y	1986	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0316 ELM EPAL0317 ELM		N N	SF SF	P	N N	1.00	2008	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 20		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0317 ELM EPAL0318 ELM		N N	SF SF	P	N N	1.00	2008	INSTALLED AFTER LEAD BAN	Y 20		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1965	PREVIOUS EVAL	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP AT METER
	1 ST N 135	N	SF	P	N	1.00	2008	INSTALLED AFTER LEAD BAN		008	VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1965	PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER
EPAL0320 ELM	1 ST N 136	N	SF	Р	N	1.00	2008	INSTALLED AFTER LEAD BAN		008	VISUAL INSP DURING INSTALL OR REPAIR	С	0.75	1965	PREVIOUS EVAL	Υ	2022	VISUAL INSP AT METER
EPAL0321 ELM EPAL0322 ELM	1 ST N 141 1 ST N 142	N N	SF SF	P P	N N	1.00	2008	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN		800	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	0.75 1.00	1965 2022	PREVIOUS EVAL INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER VISUAL INSP DURING INSTALL OR REPAIR
EPAL0322 ELM EPAL0323 ELM		N N	SF SF	P	N N	1.00	2008	INSTALLED AFTER LEAD BAN	Y 20		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1965	PREVIOUS EVAL	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP AT METER
EPAL0324 ELM	1 ST N 147	N	SF	P	N	1.00	2008	INSTALLED AFTER LEAD BAN	Y 20	308	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
	1 ST S 214	N	SF	Р	N	1.00	2008	INSTALLED AFTER LEAD BAN		308	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0326 ELM		N N	SF SF	P P	N N	1.00	2008	INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP AT METER
EPAL0327 ELM EPAL0328 ELM		N N	SF SF	P P	N N	1.00	2008	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 20 Y 20		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C P	0.75 1.00	1965 2022	PREVIOUS EVAL INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER VISUAL INSP DURING INSTALL OR REPAIR
EPAL0329 ELM	1 ST S 226	N	SF	P	N	1.00	2008	INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0330 ELM		N	SF	Р	N	1.00	2008	INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0331 ELM EPAL0332 ELM	1 ST S 232 1 ST S 233	N N	SF SF	P	N N	1.00	2008	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0332 ELM	1 ST S 238	N N	SF SF	P	N N	1.00	2008	INSTALLED AFTER LEAD BAN	. 20	308	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1965	PREVIOUS EVAL	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP AT METER
EPAL0334 ELM		N	SF	P	N	1.00	2008	INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
	1 ST S 314	N	SF	P	N	1.00	2008	INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
	1 ST S 315 1 ST S 320	N N	SF SF	P P	N N	1.00	2008	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 20 Y 20		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00 0.75	2022 1965	INSTALLED AFTER LEAD BAN PREVIOUS EVAL	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP AT METER
EPAL0337 ELM EPAL0338 ELM		N N	SF SF	P	N N	1.00	2008	INSTALLED AFTER LEAD BAN		308	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER VISUAL INSP DURING INSTALL OR REPAIR
EPAL0339 ELM	1 ST S 326	N	SF	P	N	1.00	2008	INSTALLED AFTER LEAD BAN	Y 20	008	VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1965	PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER
EPAL0340 ELM		N	SF	P	N	1.00	2008	INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
	1 ST S 333	N	SF	Р	N	1.00	2008	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 20		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022 1965	INSTALLED AFTER LEAD BAN PREVIOUS EVAL	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP AT METER
EPAL0341 ELM EPAL0342 ELM	1 ST S 334	N	SE	P	N	1.00	2008				VISUAL INSP DURING INSTALL OR REPAIR							

SITE ID	LOCATION ID	LEAD BUILDING GOOSNEC TYPE	PUBLIC MATERAIL	WAS PUBLICSIDE EVER LEAD	PUBLIC SIZE	PUBLIC INSTALL	BASIS OF PUBILC MATRERIAL CLASSIFICATION	WASPUBL IC FILED VERFIED	DATE OF STREET SIDE FIELD VERIFICATIO N	PUBLIC METHOD OF STREET SIDE FIELD VERIFICATION	PRIVATE MATERAIL	PRIVATE SIZE	PRIVATE INSTALL	BASIS OF PRIVATE MATRERIAL CLASSIFICATION	PRIVATE PRO	E OF PERTY FIELD CATION	PRIVATE METHOD OF PROPERTY SIDE FIELD VERIFICATION
			PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PRIVATE	PRIVATE	PRIVATE	PRIVATE		VATE	PRIVATE
EPAL0344 EPAL0345	ELM ST S 339 ELM ST S 414	N SF	P	N N	1.00	2008	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	2022 1965	PREVIOUS EVAL			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP AT METER
EPAL0346	ELM ST S 415	N SF	P	N	1.00	2008	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	c	0.75	1965	PREVIOUS EVAL		022	VISUAL INSP AT METER
EPAL0347	ELM ST S 420	N SF	P	N	1.00	2008	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	С	0.75	1965	PREVIOUS EVAL			VISUAL INSP AT METER
EPAL0348 EPAL0349	ELM ST S 421 FUGENE CT 202	N SF N MF	P	N N	1.00	2008	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C UNK=NOLG	0.75	1965	PREVIOUS EVAL	Y 2	022	VISUAL INSP AT METER
EPAL0349	EUGENE CT 203	N MF	C	N N	1.00	2018	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1975		N		
EPAL0351	EUGENE CT 204	N MF	C	N	1.00	2018	INSTALLED AFTER LEAD BAN	γ	2018	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1975		N		
EPAL0352	EUGENE CT 205	N MF	C	N	1.00	2018	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1975		N		
EPAL0353 EPAL0354	EUGENE CT 210 EUGENE CT 212	N MF	C	N N	1.00	2018	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1975 1975		N N		
EPAL0355	EUGENE CT 218	N MF	C	N	1.00	2018	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1975		N		
EPAL0356	EUGENE CT 220	N MF	C	N	1.00	2018	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1975		N		
EPAL0357 EPAL0358	EUGENE CT 226 EUGENE CT 228	N MF	C	N N	1.00	2018	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1975 1975		N N		
EPAL0359	FIRST ST E 103	N SF	UNK=LG	UNK	1.00	1950	INSTALLED AFTER LEAD BAR	N	2016	VISUAL INSP DURING INSTALL ON REPAIR	L L	0.75	1950	PREVIOUS EVAL		022	VISUAL INSP AT METER
EPAL0360	FIRST ST E 109	N SF	С	Υ	1.00	2007	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2007	INSTALLED AFTER LEAD BAN			VISUAL INSP AT METER
EPAL0361 EPAL0362	FIRST ST E 115 FIRST ST E 121	N SF N SF	C	Y	1.00	2007	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN		022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0362	FIRST ST E 121	N SF	C	Y	1.00	2007	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2007	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN		022	VISUAL INSP AT METER VISUAL INSP AT METER
	FIRST ST E 209	N SF	Č	Y	1.00	2007	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	UNK=LG		1950		N		
EPAL0365	FIRST ST E 215	N SF	C	Y	1.00	1990	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2022	INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR
EPAL0366 EPAL0367	FIRST ST E 221 FIRST ST E 303	N SF N SF	C	Y	1.00	2007 1990	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2007 1990	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2007	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN		022	VISUAL INSP AT METER VISUAL INSP DURING INSTALL OR REPAIR
EPAL0368	FIRST ST E 304	N SF	C	Y	1.00	1990	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR
EPAL0369	FIRST ST E 309	N SF	С	Υ	1.00	2007	INSTALLED AFTER LEAD BAN	γ		VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2007	INSTALLED AFTER LEAD BAN		022	VISUAL INSP AT METER
EPAL0370 EPAL0371	FIRST ST E 310 FIRST ST E 315	N SF N SF	C	Y	1.00	2007 2007	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022 2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN		022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	FIRST ST E 316	N SF	C	Y	1.00	2007	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN			VISUAL INSP AT METER
	FIRST ST E 320	N SF	C	Υ	1.00	2007	INSTALLED AFTER LEAD BAN	γ	2007	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y 2	022	VISUAL INSP DURING INSTALL OR REPAIR
	FIRST ST E 321	N SF N SF	C	Y	1.00	2007	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR
EPAL0375 EPAL0376	FIRST ST E 403 FIRST ST E 404	N SF N SF	C	Y	1.00	2007	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN		022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	FIRST ST E 409	N SF	c	Y	1.00	2007	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2007	INSTALLED AFTER LEAD BAN			VISUAL INSP AT METER
EPAL0378	FIRST ST E 415	N SF	C	Υ	1.00	2007	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR
EPAL0379 EPAL0380	FIRST ST E 416 FIRST ST E 421	N SF N SF	C	Y	1.00	2007	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2007	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN		022	VISUAL INSP AT METER VISUAL INSP DURING INSTALL OR REPAIR
EPAL0380	FIRST ST E 421	N SF	C	Y V	1.00	2007	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	FIRST ST E 510	N SF	C	Y	1.00	2007	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR
EPAL0383	FIRST ST E 516	N SF	С	Υ	1.00	2007	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2022	INSTALLED AFTER LEAD BAN		022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0384 EPAL0385	FIRST ST E 522 FIRST ST E 622	N SF N SF	UNK=LG	UNK	1.00	2007 1950	INSTALLED AFTER LEAD BAN	Y N	2007	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00 0.75	2022 1950	INSTALLED AFTER LEAD BAN PREVIOUS EVAL			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP AT METER
EPAL0386	FIRST ST E 709	N SF	UNK=LG	UNK		1950		N			Ĺ	0.75	1950	PREVIOUS EVAL			VISUAL INSP AT METER
EPAL0387	FIRST ST E 710	N SF	С	Υ	1.00	2007	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR
EPAL0388 EPAL0389	FIRST ST E 715	N SF N SF	C	Y	1.00	2007	INSTALLED AFTER LEAD BAN	Y	2007	VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2007	INSTALLED AFTER LEAD BAN		022	VISUAL INSP AT METER VISUAL INSP DURING INSTALL OR REPAIR
	FIRST ST E 716 FIRST ST E 721	N SF	C	Y	1.00	2007	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP AT METER
EPAL0392	FIRST ST E 724	N SF	C	Υ	1.00	2007	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2007	INSTALLED AFTER LEAD BAN			VISUAL INSP AT METER
EPAL0393	FIRST ST E 803	N SF	C	Υ	1.00	2007	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2007	INSTALLED AFTER LEAD BAN			VISUAL INSP AT METER
EPAL0394 EPAL0395	FIRST ST E 804 FIRST ST E 809	N SF N SF	C	Y	1.00	2007	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2007	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN			VISUAL INSP AT METER VISUAL INSP AT METER
	FIRST ST E 810	N SF	C	Y	1.00	2007	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2007	INSTALLED AFTER LEAD BAN			VISUAL INSP AT METER
EPAL0397	FIRST ST E 816	N SF	C	Υ	1.00	2007	INSTALLED AFTER LEAD BAN	Υ	2007	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2007	INSTALLED AFTER LEAD BAN	Y 2	022	VISUAL INSP AT METER
EPAL0398 EPAL0399	FIRST ST E 817 FIRST ST E 820	N SF N SF	C	Y	1.00	2007	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2007	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP AT METER
EPAL0399 EPAL0400	FIRST ST E 820	N SF	C	Y	1.00	2007	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2007	INSTALLED AFTER LEAD BAN			VISUAL INSP AT METER VISUAL INSP DURING INSTALL OR REPAIR
EPAL0401	FIRST ST E 826	N SF	Č	Y	1.00	2007	INSTALLED AFTER LEAD BAN	Y	2007	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2007	INSTALLED AFTER LEAD BAN	Y 2	022	VISUAL INSP AT METER
EPAL0402	FIRST ST E 909	N SF	C	Y	1.00	2007	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2007	INSTALLED AFTER LEAD BAN		022	VISUAL INSP AT METER
EPAL0403 FPAL0404	FIRST ST W 103 FIRST ST W 104	N SF N SF	C	Y	1.00	2007	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2007	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN			VISUAL INSP AT METER VISUAL INSP AT METER
EPAL0405	FIRST ST W 115	N NONRES	UNK=LG	UNK		1950	The second secon	N			i	0.75	1950	PREVIOUS EVAL	Y 2	022	VISUAL INSP AT METER
EPAL0406	FIRST ST W 116	N SF	UNK=LG	UNK		1950		N			L	0.75	1950	PREVIOUS EVAL			VISUAL INSP AT METER
EPAL0407 EPAL0408	FIRST ST W 121 FIRST ST W 122	N SF N SF	C	Y	1.00	2007	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2007	INSTALLED AFTER LEAD BAN			VISUAL INSP AT METER VISUAL INSP AT METER
	FIRST ST W 222	N SF	C	Y	1.00	2007	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=LG	1.00	1950	INSTALLED AFTER LEAD BAN	N 2	144	VIDUAL INSP AT WETER
EPAL0410	FIRST ST W 223	N SF	UNK=LG	UNK		1950		N			L	0.75	1950	PREVIOUS EVAL			VISUAL INSP AT METER
	FIRST ST W 515	N SF	C	Υ	1.00	2007	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2007	INSTALLED AFTER LEAD BAN			VISUAL INSP AT METER
EPAL0412 EPAL0413	FLORAL DR 11 FLORAL DR 13	N SF N SF	C	N N	1.00	1986 1986	Installation record Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1986 1986	INSTALLATION RECORD INSTALLATION RECORD			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0413	FLORAL DR 15	N SF	C	N	1.00	1986	Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	1986	INSTALLATION RECORD			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0415	FLORAL DR 17	N SF	С	N	1.00	1986	Installation record	Υ		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1986	INSTALLATION RECORD			VISUAL INSP DURING INSTALL OR REPAIR
EPAL0416	FLORAL DR 19 FLORAL DR 21	N SF N SF	C	N N	1.00	1986	Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1986	INSTALLATION RECORD			VISUAL INSP DURING INSTALL OR REPAIR
EPAL0417 EPAL0418	FLORAL DR 21 FLORAL DR 3	N SF	C	N N	1.00	1986 1986	Installation record Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1986 1986	INSTALLATION RECORD			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0419	FLORAL DR 5	N SF	C	N	1.00	1986	Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1986	INSTALLATION RECORD			VISUAL INSP DURING INSTALL OR REPAIR
EPAL0420	FLORAL DR 7	N SF	C	N	1.00	1986	Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1986	INSTALLATION RECORD			VISUAL INSP DURING INSTALL OR REPAIR
EPAL0421 EPAL0422	FLORAL DR 9 FORD ST 707	N SF N NONRES	C	N N	1.00 2.00	1986 1986	Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00 2.00	1986 1986	INSTALLATION RECORD DIAMETER > 2"			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	FORD ST 710	N NONRES N NONRES	C	N N	2.00	1986	Diameter > 2 inches Diameter > 2 inches	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	2.00	1986	DIAMETER > 2"			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0424	FORD ST 718	N NONRES	Č	N	2.00	1986	Diameter > 2 inches	Ϋ́	1986	VISUAL INSP DURING INSTALL OR REPAIR	Č	2.00	1986	DIAMETER > 2"		986	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0425	FORD ST 736	N NONRES	C	N	2.00	1986	Diameter > 2 inches	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	2.00	1986	DIAMETER > 2"			VISUAL INSP DURING INSTALL OR REPAIR
EPAL0426	FORD ST 738 FORD ST 740	N NONRES N NONRES	C	N N	2.00	1986 1986	Diameter > 2 inches Diameter > 2 inches	Y	1986 1986	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	2.00	1986 1986	DIAMETER > 2" DIAMETER > 2"		986 986	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	FOURTH ST W 1003	N SF	P	N N	1.00	2020	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG	2.00	1986	DOWNELLEN # 4	N I	,JU	VISORE HIST DONING HISTARE ON REPAIR
							-								l .		

EPADABS GAG ST 309	SITE ID	LOCATION ID	LEAD BUILDING GOOSNEC TYPE K	PUBLIC MATERAIL	WAS PUBLICSIDE EVER LEAD	PUBLIC SIZE	PUBLIC INSTALL	BASIS OF PUBILC MATRERIAL CLASSIFICATION	WASPUBL IC FILED VERFIED	DATE OF STREET SIDE FIELD VERIFICATIO N	PUBLIC METHOD OF STREET SIDE FIELD VERIFICATION	PRIVATE MATERAIL	PRIVATE SIZE	PRIVATE INSTALL	BASIS OF PRIVATE MATRERIAL CLASSIFICATION	WAS PRIVATE FILED VERFIED	DATE OF PROPERTY SIDE FIELD VERIFICATION	PRIVATE METHOD OF PROPERTY SIDE FIELD VERIFICATION
Decomposition 1				PUBLIC	_								PRIVATE		PRIVATE		PRIVATE	PRIVATE
Transport Property Property				P					_									
March Column Co	EPAL0431 FOU	JRTH ST W 1019								2020	VISUAL INSP DURING INSTALL OR REPAIR							
### Company of a 18	EPAL0432 FOU	JRTH ST W 1103	N SF	UNK=NOLG					N			UNK=NOLG		1958		N		
March Marc																		
Transport Control Co																		
Treat Process Proces																		
Second 100 1																		
Proceed Proceed 19																		
Transfer of the Part 1	FPAL0439 FOU	IRTH ST W 1209																
Broad State Col 17 1 0 100,000 0 1 0 1 0 0 1 0 0			N SF													N		
Process Proc																		
March Common with 1																		
Section Column	EPAL0445 FOU	JRTH ST W 1343					1958		N N			UNK=NOLG						
February 1.5	EPAL0446 FOU	JRTH ST W 1348			UNK		1958		N			UNK=NOLG		1958				
Page																		
Product Prod	EPAL0448 FOU	JRTH ST W 1351																
Transport Martin Martin																		
Product Prod	EPAL0451 FOU	JRTH ST W 1403	N MF	UNK=NOLG	UNK		1958		N			UNK=NOLG		1958		N		
Part	EPAL0452 FOU	JRTH ST W 1405			UNK		1958					UNK=NOLG						
March Marc																		
PROBECT OF 1413 1																		
	EPAL0456 FOU	JRTH ST W 1419												1958				
Processor Proc																		
Proceeding Process 17 to 14																		
	EPAL0460 FOU	JRTH ST W 1435			UNK		1958											
	EPAL0461 FOU	JRTH ST W 1437			UNK		1958		N					1958				
PARAMERINA W 1975 1.																		
PROMOSE DOWN TW VISUAL N	EPAL0463 FOU	JRTH ST W 1445 JRTH ST W 1501																
PRIAMEN COUNTY W 1730 N. M. M. UNEMOGO UNK 1958 N. N.			N MF											1958		N		
PRINCIPLE COUNTY 19																		
PARAMED PARA	EPALO467 FOU	JRTH ST W 1520																
PRADICT FOURTH 1979 N 57 UNK-MODE UNK 1958 N N FOURTH UNK-MODE																		
PARADET PORTINS TO 17 19 19												UNK=NOLG						
PAMADE CONTINE Y W 77 P. S. UNIMONIC UNIX 1998 N S. UNIMONIC UNIX 1998 N N S. UNIMONIC UNIX 1998 N N S. UNIMONIC UNIX 1998 N N S. UNIX 1998 N N S.																		
PRADICE CORPUS TO WITH ST WING N 95 D. N. 100 200 NISTALED ATTELLAD BAN N 200 VIGLAL REP QUAING INSTALL OR REPAR D. N. N. 1. D. D. N. N. 1. D. D. D. D. D. D. D																		
PARADEP FOUNTS TWOOD N 5F P N 1.00 2.000 INSTALLAD METER LADS MIN V 2.000 VISUAL REPORTING REPORT UNKNOCK 1.998 N V V V V V V V V V																		
FRANCES FLOOR FOR THE STATES STATES N S S P N 1,00 2000 STATES CAPTER LEAD BAN Y 2000 VSDAL RSP DURNIC RETAIL OR REPAR UNK-NO.G 1958 N							2020											
FRANCES N. S. UNK-NOCG N. 399 N.																		
EPALORS PLACER NET 1402 N S						1.00		INSTALLED AFTER LEAD BAN		2020	VISUAL INSP DURING INSTALL OR REPAIR							
PARAMEDIS PUCKER AVE 1498 N SF UNIN-NOLOG N 1969 N 1969 N UNIN-NOLOG 1969 N																		
PANDARS PUCKER AVE 1434 N 55 UNK-NOLG N 1969 N 1																		
FEALORS CREEK 73 34	EPALO481 FUL	CER AVE 1408					1969		N N			UNK=NOLG				N N		
FEALORS GAGE \$7 300					_													
EPALORS GAGE \$73.15	EPAL0484 GAG	SE ST 304		С				Installation record		1987	VISUAL INSP DURING INSTALL OR REPAIR	С						VISUAL INSP DURING INSTALL OR REPAIR
FRAICHES GAGE ST 316	EPAL0485 GAG	SE ST 309		С					Y		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00		INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPALOB88 GAGE ST 322									Y V							Y V		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPALO89 GAGE ST 328				C								c						VISUAL INSP DURING INSTALL OR REPAIR
EPALO992 HARRIET ST 327	EPAL0489 GAG	SE ST 328		С			1987					С		1987		Y		VISUAL INSP DURING INSTALL OR REPAIR
EPALO93 MARRIET ST 328					_	-												
EPALO99 MARRIET ST 335																	1	
EPAL099 MARRIET 57 336	EPAL0493 HAR	RRIET ST 335	N SF	UNK=NOLG	N		1962		N			UNK=NOLG		1962		N		
EPALOSS MARRIET ST 344	EPAL0494 HAR	RRIET ST 336		UNK=NOLG	N		1962					UNK=NOLG			-			
EPALO98 HARRIET 5T 352																		
EPALGA98 MARRIET ST 404																		
EPALOSSO MARRIET ST 412	EPAL0498 HAR	RRIET ST 404	N SF				1962					UNK=NOLG						
EPALOSSI MARRIET ST 420 N SF UNK=NOLG N 1962 N 1962 N 1962 N 1962 N 1962 N 1962 N 1962 N 1962 N 1962 N 1962 N 1963 N 196																		
EPAL0502 HARRIET ST 421	EPALOSOO HAR	RRIFT ST 420															1	
EPAL0503 HARRIETS 1426																		
EPAL0505 HEDGEWOOD IN 606 N SF C N 1.00 1985 Installation record Y 1985 VISUAL INSP DURING INSTALL OR REPAIR UNK=NOLG 1985 N EPAL0507 HEDGEWOOD IN 612 N SF C N 1.00 1985 Installation record Y 1985 VISUAL INSP DURING INSTALL OR REPAIR UNK=NOLG 1985 N EPAL0508 HEDGEWOOD IN 705 N SF C N 1.00 1985 Installation record Y 1985 VISUAL INSP DURING INSTALL OR REPAIR UNK=NOLG 1985 N EPAL0509 HEDGEWOOD IN 705 N SF C N 1.00 1985 Installation record Y 1985 VISUAL INSP DURING INSTALL OR REPAIR UNK=NOLG 1985 N EPAL0509 HEDGEWOOD IN 705 N SF C N 1.00 1985 Installation record Y 1985 VISUAL INSP DURING INSTALL OR REPAIR UNK=NOLG 1985 N EPAL0510 H	EPAL0503 HAR	RRIET ST 426	N SF	UNK=NOLG	N		1962		N			UNK=NOLG		1962		N		
EPAL0506 HEDGEWOOD IN 612 N SF C N 1.00 1985 Installation record Y 1985 VISUAL INSP DURING INSTALL OR REPAIR UNIX-NOLG 1985 N																		
EPALOSO7 HEDGEWOOD IN 618 N SF C N 1.00 1985 Installation record Y 1985 VISUAL INSP DURING INSTALL OR REPAIR UNK=NOLG 1985 N EPALOS08 HEDGEWOOD IN 705 N SF C N 1.00 1985 Installation record Y 1985 VISUAL INSP DURING INSTALL OR REPAIR UNK=NOLG 1985 N EPALOS09 HEDGEWOOD IN 706 N SF C N 1.00 1985 Installation record Y 1985 VISUAL INSP DURING INSTALL OR REPAIR UNK=NOLG 1985 N EPALOS10 HEDGEWOOD IN 712 N SF C N 1.00 1985 Installation record Y 1985 VISUAL INSP DURING INSTALL OR REPAIR UNK=NOLG 1985 N																		
EPAL0508 HEDGEWOOD IN 705 N SF C N 1.00 1985 Installation record Y 1985 VISUAL INSP DURING INSTALL OR REPAIR UNK=NOLG 1985 N			N SF	C														
EPALOS10 HEDGEWOOD LN 712 N SF C N 1.00 1985 Installation record Y 1985 VISUAL INSP DURING INSTALL OR REPAIR UNK=NOLG 1985 N	EPAL0508 HED	GEWOOD LN 705	N SF	Č		1.00	1985	Installation record	Y	1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
EPALUSIO HEDGEWOOD IN 712 N SF C N 1.00 1985 Installation record Y 1985 VISUAL INSP DURING INSTALL OR REPAIR UNK=NOLG 1985 N								Installation record	Υ									
EPAL0511 HEDGEWOOD LN 713 N SF C N 1.00 1985 Installation record Y 1985 VISUAL INSP DURING INSTALL OR REPAIR UNK=NOLG 1985 N				C		1.00	1985 1985		Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR					N N		
EPALDS11 HEDGEWOOD IN 718 N SF C N 1.00 1985 Installation record Y 1985 VISUAL INSP DURING INSTALL OR REPAIR UNK-NOLG 1985 N EPALDS12 HEDGEWOOD IN 718 N SF C N 1.00 1985 Installation record Y 1985 VISUAL INSP DURING INSTALL OR REPAIR UNK-NOLG 1985 N				C														

SITE ID	LOCATION ID	LEAD GOOSNEC K	BUILDING TYPE	PUBLIC MATERAIL	WAS PUBLICSIDE EVER LEAD	PUBLIC SIZE	PUBLIC INSTALL	BASIS OF PUBILC MATRERIAL CLASSIFICATION	DATE OF WASPUBL STREET SIDE IC FILED FIELD VERFIED VERIFICATIO N	PUBLIC METHOD OF STREET SIDE FIELD VERIFICATION	PRIVATE MATERAIL	PRIVATE SIZE	PRIVATE INSTALL	BASIS OF PRIVATE MATRERIAL CLASSIFICATION	WAS PRIVATE FILED VERFIED	DATE OF PROPERTY SIDE FIELD VERIFICATION	PRIVATE METHOD OF PROPERTY SIDE FIELD VERIFICATION
				PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC PUBLIC	PUBLIC	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE
	DGEWOOD LN 719 DGEWOOD LN 723	N N	SF SF	C	N N	1.00	1985 1985	Installation record Installation record	Y 1985 Y 1985	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1985 1985		N N		
	DGEWOOD LN 723	N	SF	C	N N	1.00		Installation record	Y 1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
EPAL0516 HE		N	SF	P	N	1.00	2020	INSTALLED AFTER LEAD BAN	Y 2020	VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1964	INSTALLATION RECORD	γ	2020	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0517 HE EPAL0518 HE	LEN ST S 209 LEN ST S 215	N N	SF SF	P P	N N	1.00	2020	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2020 Y 2020	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	0.75 0.75	1964 1964	INSTALLATION RECORD INSTALLATION RECORD	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0519 HE		N	SF	P	N	1.00	2020	INSTALLED AFTER LEAD BAN	Y 2020	VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1964	INSTALLATION RECORD	Y	2020	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0520 HE		N	SF	P	N	1.00	2020	INSTALLED AFTER LEAD BAN	Y 2020	VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1964	INSTALLATION RECORD	Υ		VISUAL INSP DURING INSTALL OR REPAIR
EPAL0521 HE EPAL0522 HE	LEN ST S 222 LEN ST S 227	N N	SF SF	P P	N N	1.00	2020	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2020 Y 2020	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	0.75 0.75	1964 1964	INSTALLATION RECORD INSTALLATION RECORD	Y	2020 2020	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0523 HE		N	SF	P	N	1.00	2020	INSTALLED AFTER LEAD BAN	Y 2020	VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1964	INSTALLATION RECORD	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL0524 HE		N	SF	P	N	1.00	2020	INSTALLED AFTER LEAD BAN	Y 2020	VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1964	INSTALLATION RECORD	Υ	2020	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0525 HE EPAL0526 HE		N N	SF SF	P P	N N	1.00	2020	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2020 Y 2020	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	0.75 0.75	1964 1964	INSTALLATION RECORD INSTALLATION RECORD	Y	2020 2020	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0527 HE		N	SF	P	N	1.00	2020	INSTALLED AFTER LEAD BAN	Y 2020	VISUAL INSP DURING INSTALL OR REPAIR	c	0.75	1964	INSTALLATION RECORD	Υ	2020	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0528 HE		N N	SF	P	N N	1.00	2020	INSTALLED AFTER LEAD BAN	Y 2020	VISUAL INSP DURING INSTALL OR REPAIR	С	0.75	1964 1964	INSTALLATION RECORD	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL0529 HE EPAL0530 HE	LEN ST S 246 LEN ST S 251	N N	SF SF	P P	N N	1.00	2020 2020	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2020 Y 2020	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	0.75 0.75	1964	INSTALLATION RECORD INSTALLATION RECORD	Y	2020 2020	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0531 HE		N	SF	P	N	1.00		INSTALLED AFTER LEAD BAN	Y 2020	VISUAL INSP DURING INSTALL OR REPAIR	c	0.75	1964	INSTALLATION RECORD	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL0532 HE		N	SF	Р	N	1.00		INSTALLED AFTER LEAD BAN	Y 2020	VISUAL INSP DURING INSTALL OR REPAIR	С	0.75	1964	INSTALLATION RECORD	Υ		VISUAL INSP DURING INSTALL OR REPAIR
EPAL0533 HE EPAL0534 HE		N N	SF SF	P P	N N	1.00	2020 2020	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2020 Y 2020	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	0.75 0.75	1964 1964	INSTALLATION RECORD INSTALLATION RECORD	Y	2020 2020	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0535 HE		N	SF SF	P	N N	1.00	2020	INSTALLED AFTER LEAD BAN	Y 2020	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1964	INSTALLATION RECORD	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL0536 HE		N	SF	P	N	1.00	2020	INSTALLED AFTER LEAD BAN	Y 2020	VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1964	INSTALLATION RECORD	Υ		VISUAL INSP DURING INSTALL OR REPAIR
EPAL0537 HE EPAL0538 HE		N N	SF SF	P P	N N	1.00	2020	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2020 Y 2020	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	0.75 0.75	1964 1964	INSTALLATION RECORD INSTALLATION RECORD	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0538 HE		N	SF SF	P	N N	1.00		INSTALLED AFTER LEAD BAN		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1964	INSTALLATION RECORD	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0540 HE		N	SF	Р	N	1.00	2020	INSTALLED AFTER LEAD BAN	Y 2020	VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1964	INSTALLATION RECORD	Υ		VISUAL INSP DURING INSTALL OR REPAIR
EPAL0541 HE EPAL0542 HE		N N	SF SF	P P	N N	1.00	2020 2020	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2020 Y 2020	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	С	0.75 0.75	1964 1964	INSTALLATION RECORD INSTALLATION RECORD	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0542 HE		N N	SF SF	P	N N	1.00	2020	INSTALLED AFTER LEAD BAN	Y 2020 Y 2020	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1964	INSTALLATION RECORD	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0544 HE		N	SF	Р	N	1.00		INSTALLED AFTER LEAD BAN	Y 2020	VISUAL INSP DURING INSTALL OR REPAIR	С	0.75	1964	INSTALLATION RECORD	Υ	2020	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0545 HE EPAL0546 HE		N N	SF SF	P P	N N	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2020	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	С	0.75	1964 1964	INSTALLATION RECORD	γ	2020 2020	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0546 HE		N N	SF SF	P	N N	1.00	2020	INSTALLED AFTER LEAD BAN	Y 2020 Y 2020	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	0.75 0.75	1964	INSTALLATION RECORD	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0548 HE	LEN ST S 328	N	SF	P	N	1.00	2020	INSTALLED AFTER LEAD BAN	Y 2020	VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1964	INSTALLATION RECORD	Y	2020	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0549 HE		N	SF	P	N	1.00	2020	INSTALLED AFTER LEAD BAN	Y 2020	VISUAL INSP DURING INSTALL OR REPAIR	С	0.75	1964	INSTALLATION RECORD	Υ		VISUAL INSP DURING INSTALL OR REPAIR
EPAL0550 HE EPAL0551 HE	LEN ST S 334	N N	SF SF	P	N N	1.00	2020	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2020 Y 2020	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	0.75 0.75	1964 1964	INSTALLATION RECORD	Y V	2020 2020	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0552 HE		N	SF	P	N	1.00		INSTALLED AFTER LEAD BAN	Y 2020	VISUAL INSP DURING INSTALL OR REPAIR	c	0.75	1964	INSTALLATION RECORD	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL0553 HE		N	SF	Р	N	1.00	2020	INSTALLED AFTER LEAD BAN	Y 2020	VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1964	INSTALLATION RECORD	Υ		VISUAL INSP DURING INSTALL OR REPAIR
	SHVIEW LN 618 SHVIEW LN 620	N N	SF SF	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2000 Y 2000	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1993 1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	SHVIEW LN 622	N	SF	C	N	1.00	2000	INSTALLED AFTER LEAD BAN	Y 2000	VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR
	GHVIEW LN 626	N	SF	С	N	1.00	2000	INSTALLED AFTER LEAD BAN	Y 2000	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2000	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR
	SHVIEW LN 628 SHVIEW LN 644	N N	SF SF	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2000 Y 2000	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	SHVIEW LN 645	N	SF	c	N	1.00	2000	INSTALLED AFTER LEAD BAN	Y 2000	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
	SHVIEW LN 646	N	SF	C	N	1.00		INSTALLED AFTER LEAD BAN	Y 2000	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2000	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR
	SHVIEW LN 647 SHVIEW LN 703	N N	SF SF	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2000 Y 2000	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	SHVIEW LN 704	N	SF	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN	Y 2000	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	SHVIEW LN 705	N	SF	С	N	1.00	2000	INSTALLED AFTER LEAD BAN	Y 2000	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2000	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR
	SHVIEW LN 706 SHVIEW LN 725	N N	SF SF	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2000 Y 2000	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1993 1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPALOS68 HIG		N	SF	C	N N	1.00		INSTALLED AFTER LEAD BAN	Y 2000	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
	SHVIEW LN 727	N	SF	С	N	1.00		INSTALLED AFTER LEAD BAN	Y 2000	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR
	SHVIEW LN 728 SHVIEW LN 764	N N	SF SF	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2000 Y 2000	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1993 1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	SHVIEW LN 766	N N	SF	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN	Y 2000	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
	HVIEW LN 819	N	SF	C	N	1.00	2000	INSTALLED AFTER LEAD BAN	Y 2000	VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	2000	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR
	SHVIEW LN 820 SHVIEW LN 821	N N	SF	С	N N	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2000	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0575 HIG		N	SF SF	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN	Y 2000 Y 2000	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	HVIEW LN 839	N	SF	C	N	1.00		INSTALLED AFTER LEAD BAN	Y 2000	VISUAL INSP DURING INSTALL OR REPAIR	Č	1.00	2000	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR
	SHVIEW LN 840 SHVIEW LN 841	N N	SF SF	С	N N	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2000 Y 2000	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993 1993	VISUAL INSP DURING INSTALL OR REPAIR
	SHVIEW LN 841 SHVIEW LN 842	N N	SF SF	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN	Y 2000 Y 2000	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0581 HIG	SHVIEW LN 847	N	SF	Č	N	1.00	2000	INSTALLED AFTER LEAD BAN	Y 2000	VISUAL INSP DURING INSTALL OR REPAIR	Č	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPALOS82 HIG		N N	SF SE	C	N	1.00		INSTALLED AFTER LEAD BAN	Y 2000	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0583 HIG	SHVIEW LN 849 SHVIEW LN 850	N N	SF SF	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2000 Y 2000	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0585 HIG	SHVIEW LN 856	N	SF	c	N	1.00	2000	INSTALLED AFTER LEAD BAN	Y 2000	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR
	SHVIEW LN 858	N	SF	С	N	1.00	2000	INSTALLED AFTER LEAD BAN	Y 2000	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0587 HIG	SHVIEW LN 860 SHVIEW LN 862	N N	SF SF	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2000 Y 2000	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1993 1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	SHVIEW LN 862	N	SF SF	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN	Y 2000	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0590 HIG	SHVIEW LN 865	N	SF	C	N	1.00	2000	INSTALLED AFTER LEAD BAN	Y 2000	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0591 HIG EPAL0592 HIG	SHVIEW LN 866	N N	SF SF	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2000 Y 2000	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	SHVIEW LN 868 SHVIEW LN 870	N N	SF SF	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN	Y 2000 Y 2000	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0594 HO	MESTEAD TR 503	N	SF	C	N	1.00	1985	Installation record	Y 1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	MESTEAD TR 509 MESTEAD TR 515	N N	SF SF	C	N N	1.00		Installation record Installation record	Y 1985 Y 1985	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1985 1985		N N		
LPALU390 HU	INITO LEWD IN 212	IN) JF		IN	1.00	1303	mstanation record	1 1385	VISUAL INSC DURING INSTALL ON REPAIR	JINK-NULG	1	1303	1	IN		

SITE ID	LOCATION ID	LEAD BUILDING GOOSNEC TYPE	PUBLIC MATERAIL	WAS PUBLICSIDE EVER LEAD	PUBLIC SIZE	PUBLIC INSTALL	BASIS OF PUBILC MATRERIAL CLASSIFICATION	IC FILED	DATE OF STREET SIDE FIELD VERIFICATIO N	PUBLIC METHOD OF STREET SIDE FIELD VERIFICATION	PRIVATE MATERAIL	PRIVATE SIZE	PRIVATE INSTALL	BASIS OF PRIVATE MATRERIAL CLASSIFICATION	WAS PRIVATE FILED VERFIED	DATE OF PROPERTY SIDE FIELD VERIFICATION	PRIVATE METHOD OF PROPERTY SIDE FIELD VERIFICATION
			PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE
	IOMESTEAD TR 527	N SF N SF	C	N N	1.00	1985 1985	Installation record Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1985		N N		
	IOMESTEAD TR 533	N SF	C	N N	1.00	1985	Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N N		
	IOMESTEAD TR 540	N SF	C	N	1.00	1985	Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	OMESTEAD TR 545	N SF	C	N	1.00	1985	Installation record	Υ	1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	OMESTEAD TR 546	N SF	С	N	1.00	1985	Installation record	Υ		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	IOMESTEAD TR 551	N SF N SF	C C	N N	1.00	1985 1985	Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1985 1985		N N		
	IOMESTEAD TR 552	N SF		N N	1.00	1985	Installation record Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1985		N N		
	IOMESTEAD TR 558	N SF	c	N	1.00	1985	Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	IOMESTEAD TR 563	N SF	c	N	1.00	1985	Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	OMESTEAD TR 569	N SF	C	N	1.00	1985	Installation record	Υ	1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	OMESTEAD TR 600	N SF	C	N	1.00	1985	Installation record	Υ		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	IOMESTEAD TR 601 IOMESTEAD TR 606	N SF N SF	C	N N	1.00	1985	Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1985 1985		N N		
	IOMESTEAD TR 606	N SF	C	N N	1.00 1.00	1985 1985	Installation record Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1985		N N		
	OMESTEAD TR 612	N SF	c	N	1.00	1985	Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	IOMESTEAD TR 613	N SF	С	N	1.00	1985	Installation record	Υ		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	OMESTEAD TR 618	N SF	C	N	1.00	1985	Installation record	Υ		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	OMESTEAD TR 619	N SF	C	N	1.00	1985	Installation record	Υ		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	OMESTEAD TR 625	N SF N SE	C	N N	1.00	1985	Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N N		
	OMESTEAD TR 631 AMES ST N 117	N SF	C UNK=LG	UNK	1.00	1985 1949	Installation record	N N	1982	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG	0.75	1985 1949	PREVIOUS EVAL	N Y	2022	VISUAL INSP AT METER
	AMES ST N 123	N SF	UNK=LG UNK=LG	UNK		1949		N N			UNK=LG	0.75	1949	. NEVIOUS EVAL	N N	2022	VISONE MSF AT MILIER
	AMES ST N 129	N SF	UNK=LG	UNK		1949		N			UNK=LG		1949		N		
	AMES ST N 135	N SF	UNK=LG	UNK		1949		N			UNK=LG		1949		N		
	AMES ST N 141	N SF	UNK=LG	UNK		1949	ļ	N			L	0.75	1949	PREVIOUS EVAL	Υ		VISUAL INSP AT METER
	AMES ST N 142	N SF	UNK=LG	UNK		1949		N			L	0.75	1949	PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER
	AMES ST N 146 AMES ST N 147	N SF N SF	UNK=LG UNK=LG	UNK		1949 1949		N N			L UNK=LG	0.75	1949 1949	PREVIOUS EVAL	Y N	2022	VISUAL INSP AT METER
	AMES ST N 147	N SF	UNK=LG UNK=LG	UNK		1949		N N			UNK=LG P	0.75	2000	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER
	AMES ST S 114	N SF	UNK=LG	UNK		1949		N			Ċ	0.75	1949	PREVIOUS EVAL	Y		VISUAL INSP AT METER
	AMES ST S 119	N SF	UNK=LG	UNK		1949		N			С	0.75	1949	PREVIOUS EVAL	Υ	2022	VISUAL INSP AT METER
	AMES ST S 120	N SF	UNK=LG	UNK		1949		N			UNK=LG		1949		N		
	AMES ST S 122	N SF	UNK=LG	UNK		1949		N			UNK=LG		1949		N		
	AMES ST S 125	N SF N SF	UNK=LG	UNK		1949		N N			UNK=LG		1949		N N		
	AMES ST S 126 AMES ST S 132	N SF	UNK=LG UNK=LG	UNK		1949 1949		N N			UNK=LG UNK=LG		1949 1949		N N		
	AMES ST S 133	N SF	UNK=LG	UNK		1949		N			UNK=LG UNK=LG		1949		N		
	AMES ST S 138	N SF	UNK=LG	UNK		1949		N			C	0.75	1949	PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER
	AMES ST S 139	N SF	UNK=LG	UNK		1949		N			С	0.75	1949	PREVIOUS EVAL	Υ		VISUAL INSP AT METER
EPAL0638 JA	AMES ST S 144	N SF	UNK=LG	UNK		1949		N			UNK=LG		1949		N		
	AMES ST S 145	N SF	UNK=LG	UNK		1949		N			UNK=LG		1949		N		
	AMES ST S 149	N SF	UNK=LG	UNK		1949		N			C	0.75	1949	PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER
	AMES ST S 150 AMES ST S 153	N SF N SF	UNK=LG UNK=LG	UNK		1949 1949		N N			UNK=LG UNK=LG		1949 1949		N N		
EPAL0642 JA	AMES ST S 156	N SF	UNK=LG	UNK		1949		N			UNK=LG		1949		N		
	AMES ST S 197	N SF	UNK=LG	UNK		1949		N			UNK=LG		1949		N		
EPAL0645 JA	AMES ST S 203	N SF	UNK=LG	UNK		1949		N			P	0.75	2000	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP AT METER
	AMES ST S 204	N SF	UNK=LG	UNK		1949		N			С	0.75	1949	PREVIOUS EVAL	Υ	2022	VISUAL INSP AT METER
	AMES ST S 209	N SF	UNK=LG	UNK		1949		N			UNK=LG		1949		N		
	AMES ST S 210 AMES ST S 215	N SF N SE	UNK=LG UNK=LG	UNK		1949 1949		N N			UNK=LG C	0.75	1949 1949	PREVIOUS EVAL	N Y	2022	VICUAL INCD AT METER
	AMES ST S 216	N SF	UNK=LG UNK=LG	UNK		1949	1	N N			UNK=LG	0.75	1949	F NEVIOUS EVAL	N N	2022	VISUAL INSP AT METER
	AMES ST S 219	N SF	UNK=LG	UNK		1949		N			C	0.75	1949	PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER
EPAL0652 JA	AMES ST S 222	N SF	UNK=LG	UNK		1949		N			С	0.75	1949	PREVIOUS EVAL	Υ	2022	VISUAL INSP AT METER
	AMES ST S 225	N SF	UNK=LG	UNK		1949		N			С	0.75	1949	PREVIOUS EVAL	Υ	2022	VISUAL INSP AT METER
EPALO654 JA	AMES ST S 229 AMES ST S 230	N SF N SF	UNK=LG	UNK		1949 1949		N N			UNK=LG UNK=LG		1949 1949		N N		
	AMES ST S 230 AMES ST S 235	N SF	UNK=LG UNK=LG	UNK		1949		N N			UNK=LG UNK=LG		1949		N N		
	AMES ST S 236	N SF	UNK=LG	UNK		1949		N N			UNK=LG UNK=LG		1949		N N		
	AMES ST S 240	N SF	UNK=LG	UNK		1949		N			UNK=LG		1949		N		
EPAL0659 JA	AMES ST S 241	N SF	UNK=LG	UNK		1949		N			UNK=LG		1949		N		
	AMES ST S 244	N SF	UNK=LG	UNK		1949	ļ	N			UNK=LG		1949		N		
	AMES ST S 304	N SF	UNK=LG	UNK		1949	1	N			UNK=LG		1949		N		
	AMES ST S 310 AMES ST S 311	N SF N SF	UNK=LG UNK=LG	UNK		1949 1949		N N			UNK=LG C	0.75	1949 1949	PREVIOUS EVAL	N Y	2022	VISUAL INSP AT METER
	AMES ST S 311 AMES ST S 317	N SF	UNK=LG UNK=LG	UNK		1949		N N			C	0.75	1949	PREVIOUS EVAL PREVIOUS EVAL	Y		VISUAL INSP AT METER VISUAL INSP AT METER
	AMES ST S 322	N SF	UNK=LG	UNK		1949		N			UNK=LG	U./J	1949		N	LULL	
EPAL0666 JA	AMES ST S 323	N SF	UNK=LG	UNK		1949		N			С	0.75	1949	PREVIOUS EVAL	Υ		VISUAL INSP AT METER
	AMES ST S 328	N SF	UNK=LG	UNK		1949		N			С	0.75	1949	PREVIOUS EVAL	Υ	2022	VISUAL INSP AT METER
	AMES ST S 329	N SF	UNK=LG	UNK		1949	1	N			UNK=LG	1	1949		N		
	AMES ST S 335	N SF	UNK=LG	UNK	 	1949	 	N			UNK=LG	0.75	1949	DDENIOUS EVAL	N Y	2022	VICUAL INCO AT METER
	AMES ST S 336 AMES ST S 342	N SF N SF	UNK=LG UNK=LG	UNK		1949 1949	1	N N			C UNK=LG	0.75	1949 1949	PREVIOUS EVAL	N N	2022	VISUAL INSP AT METER
	AMES ST S 352	N SF	UNK=LG UNK=LG	UNK		1949		N N			C C	0.75	1949	PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER
	AMES ST S 416	N SF	UNK=LG	UNK		1949		N			C	0.75	1949	PREVIOUS EVAL	Y		VISUAL INSP AT METER
	AMES ST S 417	N SF	UNK=LG	UNK		1949		N			С	0.75	1949	PREVIOUS EVAL	Υ	2022	VISUAL INSP AT METER
	AMES ST S 422	N SF	UNK=LG	UNK		1949		N			UNK=LG		1949		N		
	AMES ST S 427	N SF	UNK=LG	UNK		1949		N			UNK=LG		1949		N		
	AMES ST S 428	N SF	UNK=LG	UNK		1949	1	N			UNK=LG		1949		N		
	AMES ST S 433 AMES ST S 434	N SF N SF	UNK=LG UNK=LG	UNK		1949 1949		N N			UNK=LG UNK=LG		1949 1949		N N		
	EFFERSON PL 1004	N SF	UNK=LG UNK=NOLG	UNK		1949	1	N N			C C	0.75	1949	PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER
EL MEGOGO 1		IV JF	JIN-NOLU	UNK		13/3	1		1	L		0.75	13/3	- NEVIOUS EVAL		2022	VISONE INST AT METER

SITE ID	LOCATION ID	LEAD GOOSNEC K	BUILDING TYPE	PUBLIC MATERAIL	WAS PUBLICSIDE EVER LEAD		PUBLIC INSTALL	BASIS OF PUBILC MATRERIAL CLASSIFICATION	IC FILED	DATE OF STREET SIDE FIELD VERIFICATIO N	PUBLIC METHOD OF STREET SIDE FIELD VERIFICATION	PRIVATE MATERAIL	PRIVATE SIZE	PRIVATE INSTALL	BASIS OF PRIVATE MATRERIAL CLASSIFICATION	WAS PRIVATE FILED VERFIED	DATE OF PROPERTY SIDE FIELD VERIFICATION	PRIVATE METHOD OF PROPERTY SIDE FIELD VERIFICATION
				PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE
	FERSON PL 1009	N	SF	UNK=NOLG	UNK		1975		N			UNK=NOLG		1975		N		
	FERSON PL 1010 FERSON PL 1016	N N	SF SF	UNK=NOLG UNK=NOLG	UNK		1975 1975		N N			С	0.75 0.75	1975 1975	PREVIOUS EVAL PREVIOUS EVAL	Y	2022 2022	VISUAL INSP AT METER VISUAL INSP AT METER
	FERSON PL 1017	N	SF	UNK=NOLG	UNK		1975		N			UNK=NOLG	0.75	1975	PREVIOUS EVAL	N	2022	VISOACINSF AT WETER
	FERSON PL 1022	N	SF	UNK=NOLG	UNK		1975		N			С	0.75	1975	PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER
EPAL0686 JEF	FERSON PL 1025	N	SF	UNK=NOLG	UNK		1975		N			UNK=NOLG		1975		N		
	FERSON PL 1027	N	SF	UNK=NOLG	UNK		1975		N			UNK=NOLG		1975		N		
	FERSON PL 1030 FERSON PL 1036	N N	SF SF	UNK=NOLG UNK=NOLG	UNK		1975 1975		N N			UNK=NOLG	0.75	1975 1975	PREVIOUS EVAL	Y N	2022	VISUAL INSP AT METER
	FERSON PL 126	N	SF	UNK=NOLG	UNK		1975		N			UNK=NOLG		1975		N		
	FERSON PL 131	N	SF	UNK=NOLG	UNK		1975		N			UNK=NOLG		1975		N		
	FERSON PL 132	N	SF	UNK=NOLG	UNK		1975		N			UNK=NOLG		1975		N		
	FERSON PL 137	N	SF	UNK=NOLG	UNK		1975		N			С	0.75	1975	PREVIOUS EVAL	Y		VISUAL INSP AT METER
	FERSON PL 138 FERSON PL 144	N N	SF SF	UNK=NOLG UNK=NOLG	UNK		1975 1975		N N			UNK=NOLG	0.75	1975 1975	PREVIOUS EVAL	N N	2022	VISUAL INSP AT METER
EPAL0696 JEF		N	SF	UNK=NOLG	UNK		1975		N			C	0.75	1975	PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER
	FERSON PL 150	N	SF	UNK=NOLG	UNK		1975		N			UNK=NOLG		1975		N		
	FERSON PL 924	N	SF	UNK=NOLG	UNK		1975		N			С	0.75	1975	PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER
	FERSON PL 930	N	SF	UNK=NOLG	UNK		1975		N			UNK=NOLG		1975		N		
EPAL0700 JOH EPAL0701 JOH		N N	SF SF	P	Y	1.00	2004	INSTALLED AFTER LEAD BAN	Y	2004	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPALO701 JOH		N N	SF	P	Y	1.00	2004	INSTALLED AFTER LEAD BAN	Y	2004	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00		INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP AT METER
EPAL0703 JOH		N	SF	P	Y	1.00	2004	INSTALLED AFTER LEAD BAN	Y	2004	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2004	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER
EPAL0704 JOH	HN ST N 129	N	SF	Р	Y	1.00	2004	INSTALLED AFTER LEAD BAN	Υ	2004	VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2004	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP AT METER
EPAL0705 JOI		N	SF	P	Y	1.00	2004	INSTALLED AFTER LEAD BAN	Υ	2004	VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00		INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPALO706 JOH		N N	SF SF	P P	Y	1.00	2004	INSTALLED AFTER LEAD BAN	Y	2004	VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2004	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER
EPAL0707 JOH EPAL0708 JOH		N N	SF SF	P P	Y V	1.00	2004	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2004	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2004	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP AT METER
EPALO708 JOH		N	SF	P	Y	1.00	2004	INSTALLED AFTER LEAD BAN	Y	2004	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2004	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER
EPAL0710 JOH	HN ST N 146	N	SF	P	Υ	1.00	2004	INSTALLED AFTER LEAD BAN	Υ	2004	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2004	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER
EPAL0711 JOH		N	SF	P	Υ	1.00	2004	INSTALLED AFTER LEAD BAN	Υ	2004	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2004	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER
EPAL0712 JOH		N	SF	P	Υ	1.00	2004	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2004	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER
EPAL0713 JOH		N	SF	P	Y	1.00	2004	INSTALLED AFTER LEAD BAN	Y	2004	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2004	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER
EPAL0714 JOH EPAL0715 JOH		N N	SF SF	P	V V	1.00	2004 2004	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2004	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2004	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP AT METER
EPALO716 JOH		N	SF	P	Y	1.00	2004	INSTALLED AFTER LEAD BAN	Ý		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL0717 JOH		N	SF	Р	Y	1.00	2004	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2004	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER
EPAL0718 JOH		N	SF	P	Υ	1.00	2004	INSTALLED AFTER LEAD BAN	Υ	2004	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2004	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP AT METER
EPAL0719 JOI		N	SF	P	Y	1.00	2004	INSTALLED AFTER LEAD BAN	Υ	2004	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL0720 JOI EPAL0721 JOI		N N	SF SE	P P	Y	1.00	2004	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	C P	1.00	2004	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP DURING INSTALL OR REPAIR
EPAL0722 JOH		N N	SF SF	P	v	1.00	2004	INSTALLED AFTER LEAD BAN	Y	2004	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0723 JOH		N	SF	P	Y	1.00	2004	INSTALLED AFTER LEAD BAN	Y	2004	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00		INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL0724 JOI	HN ST N 304	N	SF	P	Υ	1.00	2004	INSTALLED AFTER LEAD BAN	Υ	2004	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2004	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP AT METER
EPAL0725 JOH		N	SF	P	Υ	1.00	2004	INSTALLED AFTER LEAD BAN	Υ	2004	VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2022	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR
EPAL0726 JOI		N	SF	P	Y	1.00	2004	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2004	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER
EPAL0727 JOH EPAL0728 JOH		N N	SF SF	P	Y	1.00	2004 2004	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2004	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022 2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0729 JOH		N	SE	P	Y	1.00	2004	INSTALLED AFTER LEAD BAN	Ý	2004	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2004	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER
EPAL0730 JOH		N	SF	P	Y	1.00	2004	INSTALLED AFTER LEAD BAN	Υ	2004	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL0731 JOI	HN ST N 328	N	SF	P	Υ	1.00	2004	INSTALLED AFTER LEAD BAN	Υ	2004	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00		INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER
EPAL0732 JOI		N	SF	P	Υ	1.00	2004	INSTALLED AFTER LEAD BAN	Υ	2004	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2004	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER
EPAL0733 JOI EPAL0734 JOI		N N	NONRES	UNK=LG UNK=LG	UNK		1940 1940		N N			UNK=LG UNK=LG		1940		N N		
EPALO735 JOH		N	SF	UNK=LG	UNK		1940		N			UNK=LG		1940		N		
EPAL0736 JOI		N	SF	UNK=LG	UNK		1940		N			UNK=LG		1940		N		
EPAL0737 JOH		N	SF	UNK=LG	UNK		1940		N			UNK=LG		1940		N		
EPAL0738 JOH		N	SF	UNK=LG	UNK	1	1940		N			UNK=LG		1940		N		
EPAL0739 JOH EPAL0740 JOH		N N	SF SF	UNK=LG	UNK	1	1940 1940		N N			C	0.75 0.75	1940 1940	INSTALLATION RECORD INSTALLATION RECORD	Y		VISUAL INSP AT METER VISUAL INSP AT METER
FPAL0740 JOH		N N	SF SF	UNK=LG UNK=LG	UNK	1	1940	+	N N			C	0.75	1940	INSTALLATION RECORD	Y	2022	VISUAL INSP AT METER VISUAL INSP AT METER
EPAL0742 JOH		N	SF	UNK=LG	UNK		1940		N			L	0.75		INSTALLATION RECORD	Y		VISUAL INSP AT METER
EPAL0743 JOH	HN ST S 143	N	SF	UNK=LG	UNK		1940		N			L	0.75	1940	INSTALLATION RECORD	Y		VISUAL INSP AT METER
EPAL0744 JOH		N	SF	UNK=LG	UNK		1940		N			L	0.75		INSTALLATION RECORD	Y	2022	VISUAL INSP AT METER
EPALO745 JOH		N N	SF SF	UNK=LG UNK=LG	UNK	1	1940 1940	1	N N			UNK=LG UNK=LG		1940		N N		
EPAL0746 JOH EPAL0747 JOH		N N	SF SF	UNK=LG UNK=LG	UNK	1	1940 1940	+	N N			UNK=LG UNK=LG		1940 1940		N N		
EPAL0747 JOH		N	SF	UNK=LG UNK=LG	UNK	1	1940		N N			UNK=LG UNK=LG		1940		N N		
EPAL0749 JOH	HN ST S 211	N	SF	UNK=LG	UNK		1940		N			L	0.75	1940	INSTALLATION RECORD	Y	2022	VISUAL INSP AT METER
EPAL0750 JOI	HN ST S 214	N	SF	UNK=LG	UNK		1940		N			С	0.75		INSTALLATION RECORD	Y	2022	VISUAL INSP AT METER
EPAL0751 JOI		N	SF	UNK=LG	UNK		1940		N			UNK=LG		1940		N		
EPAL0752 JOH EPAL0753 JOH		N N	SF SF	UNK=LG	UNK	1	1940 1940		N N			UNK=LG UNK=LG		1940 1940		N N		
EPAL0753 JOH EPAL0754 JOH		N N	SF SF	UNK=LG	UNK	1	1940	+	N N			UNK=LG	0.75	1940	INSTALLATION RECORD	N Y	2022	VISUAL INSP AT METER
EPALO755 JOH		N	SF	UNK=LG	UNK	1	1940		N			UNK=LG	0.75	1940	THE STREET HOW RECORD	N N	2022	FISONE HEAT AT WILLER
EPAL0756 JOI	HN ST S 228	N	SF	UNK=LG	UNK		1940		N			UNK=LG		1940	<u> </u>	N		
EPAL0757 JOH		N	SF	UNK=LG	UNK		1940		N			L	0.75	1940	INSTALLATION RECORD	Y	2022	VISUAL INSP AT METER
EPAL0758 JOI		N	SF	UNK=LG	UNK		1940		N			UNK=LG		1940		N		<u> </u>
EPAL0759 JOH EPAL0760 JOH		N N	SF SF	UNK=LG UNK=LG	UNK	1	1940 1940		N N			UNK=LG UNK=LG		1940 1940		N N		
EPAL0761 JOH		N N	SF SF	UNK=LG UNK=LG	UNK	1	1940	1	N N			UNK=LG UNK=LG		1940		N N		
EPALO762 JOH		N	SF	UNK=LG	UNK	1	1940		N N			UNK=LG		1940		N		
		N	SF	UNK=LG	UNK		1940		N			P	1.00	2022	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0763 JOH EPAL0764 JOH		N N	SF	UNK=LG	UNK		1940		N N			UNK=LG	1.00	1940	INSTALLED AT TEN LEAD DAIN	N	2022	VISUAL INSP DURING INSTALL OR REPAIR

EPAL0771 JOHN S EPAL0772 JOHN S EPAL0773 JOHN S EPAL0774 JOHN S	ST S 310 ST S 311 ST S 315 ST S 316 ST S 319	N N N	SF	PUBLIC				N						VERFIED VERIFIC	IELD VERIFICATION ATION
EPALO766 JOHN S EPALO767 JOHN S EPALO768 JOHN S EPALO770 JOHN S EPALO771 JOHN S EPALO771 JOHN S EPALO772 JOHN S EPALO773 JOHN S EPALO774 JOHN S	ST S 310 ST S 311 ST S 315 ST S 316 ST S 319	N N	SF			PUBLIC PUBLIC	PUBLIC	PUBLIC PUBLIC	PUBLIC	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE PRIV	ATE PRIVATE
EPALO767 JOHN S EPALO768 JOHN S EPALO769 JOHN S EPALO770 JOHN S EPALO771 JOHN S EPALO772 JOHN S EPALO773 JOHN S EPALO773 JOHN S	ST S 311 ST S 315 ST S 316 ST S 319	N	SF	UNK=LG UNK=LG	UNK	1940 1940		N N		UNK=LG UNK=LG		1940 1940		N N	
EPALO769 JOHN S EPALO770 JOHN S EPALO771 JOHN S EPALO772 JOHN S EPALO773 JOHN S EPALO774 JOHN S	ST S 316 ST S 319		SF	UNK=LG	UNK	1940		N		UNK=LG		1940		N	
EPAL0770 JOHN S EPAL0771 JOHN S EPAL0772 JOHN S EPAL0773 JOHN S EPAL0774 JOHN S	ST S 319	N	SF	UNK=LG	UNK	1940		N N		UNK=LG		1940		N	
EPAL0771 JOHN S EPAL0772 JOHN S EPAL0773 JOHN S EPAL0774 JOHN S		N N	SF SF	UNK=LG UNK=LG	UNK	1940 1940		N N		UNK=LG UNK=LG		1940 1940		N N	
EPAL0773 JOHN S EPAL0774 JOHN S		N	SF	UNK=LG	UNK	1940		N		С	0.75	1940	INSTALLATION RECORD	Y 20	
EPAL0774 JOHN S		N N	SF SF	UNK=LG UNK=LG	UNK	1940 1940		N N		C UNK=LG	0.75	1940 1940	INSTALLATION RECORD	Y 20 N	22 VISUAL INSP AT METER
*PAI 0775 IOHN 9	ST S 338	N	SF	UNK=LG	UNK	1940		N N		UNK=LG UNK=LG		1940		N N	
	ST S 341	N	SF	UNK=LG	UNK	1940		N		UNK=LG		1940		N	
EPAL0776 JOHN S EPAL0777 JOHN S	ST S 342	N N	SF SF	UNK=LG UNK=LG	UNK	1940 1940		N N		L UNK=LG	0.75	1940 1940	INSTALLATION RECORD	Y 20	22 VISUAL INSP AT METER
EPAL0778 JOHN S	ST S 414	N	SF	UNK=LG	UNK	1940		N		UNK=LG UNK=LG		1940		N	
EPAL0779 JOHN S		N	SF	UNK=LG	UNK	1940		N		UNK=LG		1940		N	
EPAL0780 JOHN S EPAL0781 JOHN S		N N	SF SF	UNK=LG UNK=LG	UNK	1940 1940		N N		UNK=LG UNK=LG		1940 1940		N N	
EPAL0782 JOHN S	ST S 422	N	SF	UNK=LG	UNK	1940		N		UNK=LG		1940		N	
EPAL0783 JOHN S		N	SF	UNK=LG	UNK	1940		N		UNK=LG		1940		N	
EPAL0784 JOHN S EPAL0785 JOHN S		N N	SF SF	UNK=LG UNK=NOLG	UNK	1940 1977		N N		C	0.75 1.00	1940 1977	INSTALLATION RECORD INSTALLATION RECORD	Y 20 Y 20	
EPALO785 JOHN S		N	SF	UNK=NOLG	UNK	1977		N N		C	1.00	1977	INSTALLATION RECORD	Y 20	
EPAL0787 JOHN S	ST S 524	N	SF	UNK=NOLG	UNK	1977		N		С	1.00	1977	INSTALLATION RECORD	Y 20	22 VISUAL INSP AT METER
EPALO788 JOHN S		N N	SCH/CC SF	UNK=NOLG UNK=NOLG	UNK	1977 1977		N N		C C	1.00	1977 1977	INSTALLATION RECORD	Y 20 Y 20	
EPAL0789 JOHN S EPAL0790 JOHN S	ST S 602	N N	SF	UNK=NOLG UNK=NOLG	UNK	1977		N N		C	1.00	1977	INSTALLATION RECORD INSTALLATION RECORD	Y 20 Y 20	
EPAL0791 JOHN S	ST S 604	N	SF	UNK=NOLG	UNK	1977		N		С	1.00	1977	INSTALLATION RECORD	Y 20	22 VISUAL INSP AT METER
EPALO792 JOHN S		N N	SF MF	UNK=NOLG	UNK	1977		N N		C	1.00	1977	INSTALLATION RECORD	Y 20 Y 20	
EPAL0793 JOHN S EPAL0794 JOHN S	ST S 700 ST S 706	N N	MF	UNK=NOLG UNK=NOLG	UNK	1977 1977		N N		C C	1.00	1977 1977	INSTALLATION RECORD INSTALLATION RECORD	Y 20 Y 20	
EPAL0795 JOHN S		N	MF	UNK=NOLG	UNK	1977		N		C	1.00	1977	INSTALLATION RECORD	Y 20	
	ST S 718	N	MF	UNK=NOLG	UNK	1977		N		С	1.00	1977	INSTALLATION RECORD	Y 20	
	ST S 724 ST S 730	N N	MF MF	UNK=NOLG UNK=NOLG	UNK	1977 1977		N N		C	1.00	1977 1977	INSTALLATION RECORD INSTALLATION RECORD	Y 20 Y 20	
EPAL0799 JOSEPH		N	SF	UNK=NOLG	UNK	1958		N		UNK=NOLG	1.00	1958	INSTALLATION RECORD	N Zo	VISOAC INSP AT WILLER
EPAL0800 JOSEPH		N	SF	UNK=NOLG	UNK	1958		N		UNK=NOLG		1958		N	
EPAL0801 JOSEPH EPAL0802 JOSEPH		N N	SF SF	UNK=NOLG UNK=NOLG	UNK	1958 1958		N N		UNK=NOLG UNK=NOLG		1958 1958		N N	
EPAL0803 JOSEPH	PH ST S 215	N	SF	UNK=NOLG	UNK	1958		N		UNK=NOLG		1958		N	
EPAL0804 JOSEPH		N	SF	UNK=NOLG	UNK	1958		N		UNK=NOLG		1958		N	
	PH ST S 221	N N	SF SF	UNK=NOLG UNK=NOLG	UNK	1958 1958		N N		UNK=NOLG UNK=NOLG		1958 1958		N N	
	PH ST S 225	N	SF	UNK=NOLG	UNK	1958		N		UNK=NOLG		1958		N	
EPAL0808 JOSEPH		N	SF	UNK=NOLG	UNK	1958		N		UNK=NOLG		1958		N	
EPAL0809 JOSEPH EPAL0810 JOSEPH		N N	SF SF	UNK=NOLG UNK=NOLG	UNK	1958 1958		N N		UNK=NOLG UNK=NOLG		1958 1958		N N	
EPAL0811 JOSEPH	PH ST S 239	N	SF	UNK=NOLG	UNK	1958		N		UNK=NOLG		1958		N	
EPAL0812 JOSEPH		N	SF	UNK=NOLG	UNK	1958		N		UNK=NOLG		1958		N	
EPAL0813 JOSEPH EPAL0814 JOSEPH		N N	SF SF	UNK=NOLG UNK=NOLG	UNK	1958 1958		N N		UNK=NOLG UNK=NOLG		1958 1958		N N	
EPAL0815 JOSEPH		N	SF	UNK=NOLG	UNK	1958		N		UNK=NOLG		1958		N	
EPAL0816 JOSEPH		N	SF	UNK=NOLG	UNK	1958		N		UNK=NOLG		1958		N	
	PH ST S 315 PH ST S 316	N N	SF SF	UNK=NOLG UNK=NOLG	UNK	1958 1958		N N		UNK=NOLG UNK=NOLG		1958 1958		N N	
EPAL0819 JOSEPH		N	SF	UNK=NOLG	UNK	1958		N		UNK=NOLG		1958		N	
EPAL0820 JOSEPH		N	SF	UNK=NOLG	UNK	1958		N		UNK=NOLG		1958		N	
EPAL0821 JOSEPH EPAL0822 JOSEPH	'H ST S 327 PH ST S 328	N N	SF SF	UNK=NOLG UNK=NOLG	UNK	1958 1958		N N		UNK=NOLG UNK=NOLG		1958 1958		N N	
EPAL0823 JOSEPH	PH ST S 333	N	SF	UNK=NOLG	UNK	1958		N		UNK=NOLG		1958		N	
	PH ST S 334	N	SF	UNK=NOLG	UNK	1958		N		UNK=NOLG		1958		N	
EPAL0825 JOSEPH EPAL0826 JOSEPH	PH ST S 339	N N	SF SF	UNK=NOLG UNK=NOLG	UNK	1958 1958		N N		UNK=NOLG UNK=NOLG		1958 1958		N N	
	PH ST S 345	N	SF	UNK=NOLG	UNK	1958		N		UNK=NOLG		1958		N	
EPAL0828 JOSEPH		N	SF	UNK=NOLG	UNK	1958		N .		UNK=NOLG		1958		N	
EPAL0829 JOSEPH EPAL0830 JOSEPH	PH ST S 351 PH ST S 352	N N	SF SF	UNK=NOLG UNK=NOLG	UNK	1958 1958		N N		UNK=NOLG UNK=NOLG		1958 1958		N N	
EPAL0831 JOSEPH		N	SF	UNK=NOLG	UNK	1958		N		UNK=NOLG		1958		N	
EPAL0832 JOSEPH		N	SF	UNK=NOLG	UNK	1958		N		UNK=NOLG		1958		N	
EPAL0833 JOSEPH EPAL0834 JOSEPH		N N	SF SF	UNK=NOLG UNK=NOLG	UNK	1958 1958		N N		UNK=NOLG UNK=NOLG		1958 1958		N N	
EPAL0835 JOSEPH		N	SF	UNK=NOLG	UNK	1958		N		UNK=NOLG		1958		N	
EPAL0836 JOSEPH		N	SF	UNK=NOLG	UNK	1958		N		UNK=NOLG		1958		N	
EPAL0837 JOSEPH EPAL0838 JOSEPH	7H 51 5 421 PH ST S 422	N N	SF SF	UNK=NOLG UNK=NOLG	UNK	1958 1958		N N		UNK=NOLG UNK=NOLG		1958 1958		N N	
EPAL0839 JOSEPH	PH ST S 428	N	SF	UNK=NOLG	UNK	1958		N		UNK=NOLG		1958		N	
EPAL0840 JOSEPH		N	SF	UNK=NOLG	UNK	1958		N		UNK=NOLG		1958		N	
EPAL0841 KARLYN EPAL0842 KARLYN		N N	SF SF	UNK=NOLG UNK=NOLG	UNK	1958 1958		N N		UNK=NOLG UNK=NOLG		1958 1958		N N	
EPAL0842 KARLYN	YN ST S 228	N	SF	UNK=NOLG	UNK	1958		N		UNK=NOLG UNK=NOLG		1958		N	
EPAL0844 KARLYN	YN ST S 231	N	SF	UNK=NOLG	UNK	1958		N		UNK=NOLG		1958		N	
EPAL0845 KARLYN EPAL0846 KARLYN	YN ST S 236 VN ST S 230	N N	SF SF	UNK=NOLG UNK=NOLG	UNK	1958 1958		N N		UNK=NOLG UNK=NOLG		1958 1958		N N	
EPAL0846 KARLYN		N N	SF	UNK=NOLG UNK=NOLG		1958		N N		UNK=NOLG UNK=NOLG		1958		N N	
EPAL0848 KARLYN		N	SF	UNK=NOLG		1958		N		UNK=NOLG		1958		N	

SITE ID	LOCATION ID	LEAD GOOSNE K	BUILDING C TYPE	PUBLIC MATERAIL	WAS PUBLICSIDE EVER LEAD	PUBLIC SIZE	PUBLIC INSTALL	BASIS OF PUBILC MATRERIAL CLASSIFICATION	WASPUBL IC FILED VERFIED	DATE OF STREET SIDE FIELD VERIFICATIO N	PUBLIC METHOD OF STREET SIDE FIELD VERIFICATION	PRIVATE MATERAIL	PRIVATE SIZE	PRIVATE INSTALL	BASIS OF PRIVATE MATRERIAL CLASSIFICATION	WAS PRIVATE FILED VERFIED	DATE OF PROPERTY SIDE FIELD VERIFICATION	PRIVATE METHOD OF PROPERTY SIDE FIELD VERIFICATION
	1			PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE
	KARLYN ST S 252 KARLYN ST S 255	N N	SF SF	UNK=NOLG	UNK		1958 1958		N N			UNK=NOLG		1958 1958		N N		
EPAL0851	KARLYN ST S 260	N	SF	UNK=NOLG	UNK		1958		N			UNK=NOLG		1958		N		
EPAL0852 EPAL0853		N N	SF SF	UNK=NOLG UNK=NOLG	UNK		1958 1958		N N			UNK=NOLG UNK=NOLG		1958 1958		N N		
	KARLYN ST S 319	N	SF	UNK=NOLG	UNK		1958		N			UNK=NOLG		1958		N		
	KARLYN ST S 320 KARLYN ST S 325	N N	SF	UNK=NOLG	UNK		1958		N N			UNK=NOLG		1958		N		
EPAL0856 EPAL0857		N N	SF SF	UNK=NOLG UNK=NOLG	UNK		1958 1958		N N			UNK=NOLG UNK=NOLG		1958 1958		N N		
	KARLYN ST S 331	N	SF	UNK=NOLG	UNK		1958		N			UNK=NOLG		1958		N		
EPAL0859 EPAL0860		N N	SF SF	UNK=NOLG UNK=NOLG	UNK		1958 1958		N N			UNK=NOLG UNK=NOLG		1958 1958		N N		
EPAL0861	KARLYN ST S 338	N	SF	UNK=NOLG	UNK		1958		N			UNK=NOLG		1958		N		
EPAL0862 EPAL0863	KARLYN ST S 343 KARLYN ST S 344	N	SF SF	UNK=NOLG UNK=NOLG	UNK		1958 1958		N			UNK=NOLG		1958 1958		N		
EPAL0863	KARLYN ST S 344 KARLYN ST S 350	N N	SF SF	UNK=NOLG UNK=NOLG	UNK		1958		N N			UNK=NOLG UNK=NOLG		1958		N N		
EPAL0865	KARLYN ST S 353	N	SF	UNK=NOLG	UNK		1958		N			UNK=NOLG		1958		N		
EPAL0866 EPAL0867	KARLYN ST S 358 KENNEDY AVE 1001	N N	SF NONRES	UNK=NOLG	UNK	1.00	1958 2001	INSTALLED AFTER LEAD BAN	N V	2001	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG	1.00	1958 2001	INSTALLED AFTER LEAD BAN	N	2001	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0868	KENNEDY AVE 1010	N	NONRES	C	N	1.00	2001	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2001	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL0869	KENNEDY AVE 1090	N	NONRES	C	N	1.00	2001	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2001	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL0870 EPAL0871	KENNEDY AVE 1102 KENNEDY AVE 1110	N N	NONRES NONRES	C C	N N	1.00	2001	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C C	1.00	2001	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0872	KENNEDY AVE 1113	N	NONRES	C	N	1.00	2001	INSTALLED AFTER LEAD BAN	Υ	2001	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2001	INSTALLED AFTER LEAD BAN	Y	2001	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0873 EPAL0874		N N	NONRES NONRES	C	N N	1.00	2001	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C C	1.00	2001	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0875	KENNEDY AVE 919	N	NONRES	C	N	1.00	2001	INSTALLED AFTER LEAD BAN	Υ	2001	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2001	INSTALLED AFTER LEAD BAN	Y	2001	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0876	KENNEDY AVE 939	N	NONRES	C	N	1.00	2001	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2001	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL0877 EPAL0878	KENNEDY AVE E 101 KENNEDY AVE E 103	N N	NONRES NONRES	C	N N	1.00	2001	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2001	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0879	KENNEDY AVE E 201	N	NONRES	c	N	1.00	2001	INSTALLED AFTER LEAD BAN	Υ	2001	VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	2001	INSTALLED AFTER LEAD BAN	Υ	2001	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0880 EPAL0881	KENNEDY AVE E 203 KENNEDY AVE E 211	N N	NONRES NONRES	С	N N	1.00	2001	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2001	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0881		N N	NONRES	C	N N	1.00	2001	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2001	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0883	KENNEDY AVE E 301	N	NONRES	С	N	1.00	2001	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2001	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR
EPAL0884 EPAL0885	KENNEDY AVE E 303 KENNEDY AVE E 307	N N	NONRES NONRES	C	N N	1.00	2001	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2001	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0886	KENNEDY AVE E 309	N	NONRES	c	N N	1.00	2001	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2001	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL0887 EPAL0888		N N	NONRES NONRES	C	N N	1.00	2001	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2001	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0889	KENNEDY AVE W 425 KENNEDY AVE W 800	N N	NONRES	C	N N	1.00	2001	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2001 2001	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0890	KIMBERLY AVE E 1002	N	SF	UNK=LG	UNK				N			UNK=NOLG		1960		N		
EPAL0891 EPAL0892	KIMBERLY AVE E 1003 KIMBERLY AVE E 1004	N N	SF SF	UNK=LG UNK=LG	UNK				N N			UNK=NOLG UNK=NOLG		1960 1960		N N		
EPAL0893	KIMBERLY AVE E 1008	N	SF	UNK=LG	UNK				N			UNK=NOLG		1960		N		
EPAL0894	KIMBERLY AVE E 1013 KIMBERLY AVE E 1014	N N	SF SF	UNK=LG UNK=LG	UNK				N N			UNK=NOLG UNK=NOLG		1960 1960		N N		
EPAL0895	KIMBERLY AVE E 1014	N N	SF SF	UNK=LG UNK=LG	UNK				N N			UNK=NOLG UNK=NOLG		1960		N N		
EPAL0897	KIMBERLY AVE E 1024	N	SF	UNK=LG	UNK				N			UNK=NOLG		1960		N		
EPAL0898 EPAL0899	KIMBERLY AVE E 1025 KIMBERLY AVE E 1026	N N	SF SF	UNK=LG UNK=LG	UNK				N N			UNK=NOLG UNK=NOLG		1960 1960		N N		
EPAL0900	KIMBERLY AVE E 103	N	SF	Р	UNK	1.00	2022	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER
EPAL0901 EPAL0902	KIMBERLY AVE E 1030 KIMBERLY AVE E 1032	N N	SF SF	UNK=LG UNK=LG	UNK				N N			UNK=NOLG UNK=NOLG		1960 1960		N N		
EPAL0902	KIMBERLY AVE E 1032	N N	SF SF	UNK=LG UNK=LG	UNK				N N			UNK=NOLG UNK=NOLG		1960		N N		
EPAL0904	KIMBERLY AVE E 1039	N	SF	UNK=LG	UNK				N			UNK=NOLG		1960		N		
EPAL0905 EPAL0906	KIMBERLY AVE E 104 KIMBERLY AVE E 1045	N N	SF SF	P UNK=LG	UNK	1.00	2022	INSTALLED AFTER LEAD BAN	Y N	2022	VISUAL INSP DURING INSTALL OR REPAIR	P UNK=NOLG	1.00	2022 1960	INSTALLED AFTER LEAD BAN	Y N	2022	VISUAL INSP AT METER
EPAL0907	KIMBERLY AVE E 1053	N	SF	UNK=LG	UNK				N			UNK=NOLG		1960		N		
EPAL0908 EPAL0909	KIMBERLY AVE E 1061 KIMBERLY AVE E 110	N N	SF NONRES	UNK=LG	UNK	1.00	2022	INSTALLED AFTER LEAD BAN	N Y	2022	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG	1.00	1960	INSTALLED AFTER LEAD BAN	N	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0909 EPAL0910	KIMBERLY AVE E 110 KIMBERLY AVE E 114	N N	NONRES	P	UNK	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022 2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0911	KIMBERLY AVE E 120	N	SF	P	UNK	1.00	2022	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL0912 EPAL0913	KIMBERLY AVE E 125 KIMBERLY AVE E 204	N N	SCH/CC NONRES	P P	UNK	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP DURING INSTALL OR REPAIR
EPAL0913	KIMBERLY AVE E 217	N	NONRES	Р	UNK	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=LG	1.00	1956		N	TOLL	DOMESTIC OF THE PARTY
EPAL0915	KIMBERLY AVE E 309	N	NONRES	P	UNK	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL0916 EPAL0917	KIMBERLY AVE E 313 KIMBERLY AVE E 317	N N	SF SF	P P	UNK	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2022 2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0918	KIMBERLY AVE E 318	N	NONRES	P	UNK	1.00	2022	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL0919 EPAL0920	KIMBERLY AVE E 403 KIMBERLY AVE E 404	N N	NONRES	P P	UNK	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=LG P	1.00	1956 2022	INSTALLED AFTER LEAD BAN	N Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0921	KIMBERLY AVE E 410	N	SF	P	UNK	1.00	2022	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0922	KIMBERLY AVE E 415	N	NONRES	P	UNK	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0923 EPAL0924		N N	SF SF	P P	UNK	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2022 2015	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP AT METER
EPAL0925	KIMBERLY AVE E 422	N	SF	P	UNK	1.00	2022	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2022	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0926 EPAL0927	KIMBERLY AVE E 424 KIMBERLY AVE E 503	N N	SF SF	P	UNK	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0927 EPAL0928		N N	SF SF	P	UNK	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2022 2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0929	KIMBERLY AVE E 509	N	SF	P	UNK	1.00	2022	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2022	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0930	KIMBERLY AVE E 515 KIMBERLY AVE E 521	N N	SF SE	P	UNK	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	KIMBERLY AVE E 600	N N	NONRES	P	UNK	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00		INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
			,				,											

SITE ID	LOCATION ID	LEAD GOOSNEC K	BUILDING TYPE	PUBLIC MATERAIL	WAS PUBLICSIDE EVER LEAD	PUBLIC SIZE	PUBLIC INSTALL	BASIS OF PUBILC MATRERIAL CLASSIFICATION	DATE OF WASPUBL STREET SIDE IC FILED FIELD VERFIED VERIFICATIO N	PUBLIC METHOD OF STREET SIDE FIELD VERIFICATION	PRIVATE MATERAIL	PRIVATE SIZE	PRIVATE INSTALL	BASIS OF PRIVATE MATRERIAL CLASSIFICATION	WAS PRIVATE FILED VERFIED	DATE OF PROPERTY SIDE FIELD VERIFICATION	PRIVATE METHOD OF PROPERTY SIDE FIELD VERIFICATION
				PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC PUBLIC	PUBLIC	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE
	MBERLY AVE E 602 MBERLY AVE E 603	N N	SF SF	P	UNK	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	MBERLY AVE E 609	N N	SF SF	P	UNK	1.00	2022	INSTALLED AFTER LEAD BAN	Y 2022 Y 2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0936 KIN	MBERLY AVE E 613	N	SF	Р	UNK	1.00		INSTALLED AFTER LEAD BAN	Y 2022	VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
	MBERLY AVE E 614 MBERLY AVE E 620	N N	SCH/CC SCH/CC	P P	UNK	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2022 Y 2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P UNK=LG	1.00	2022 1956	INSTALLED AFTER LEAD BAN	Y N	2022	VISUAL INSP DURING INSTALL OR REPAIR
	MBERLY AVE E 621	N N	NONRES	P P	UNK	1.00	2022	INSTALLED AFTER LEAD BAN	Y 2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=LG P	1.00	2022	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0940 KIN	MBERLY AVE E 703	N	SF	Р	UNK	1.00	2022	INSTALLED AFTER LEAD BAN	Y 2022	VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2022	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR
	MBERLY AVE E 711 MBERLY AVE E 712	N N	SF SF	P	UNK	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2022 Y 2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	MBERLY AVE E 715	N	SF SF	P	UNK	1.00		INSTALLED AFTER LEAD BAN	Y 2022	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL0944 KIN	MBERLY AVE E 716	N	NONRES	Р	UNK	1.00	2022	INSTALLED AFTER LEAD BAN	Y 2022	VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2022	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP DURING INSTALL OR REPAIR
	MBERLY AVE E 719 MBERLY AVE E 722	N N	SF SF	P	UNK	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2022 Y 2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	MBERLY AVE E 723	N	SF	P	UNK	1.00		INSTALLED AFTER LEAD BAN	Y 2022	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL0948 KIN	MBERLY AVE E 728	N	SF	Р	UNK	1.00	2022	INSTALLED AFTER LEAD BAN	Y 2022	VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2022	INSTALLED AFTER LEAD BAN	γ	2022	VISUAL INSP DURING INSTALL OR REPAIR
	MBERLY AVE E 729 MBERLY AVE E 803	N N	SF SF	P	UNK	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2022 Y 2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP AT METER
	MBERLY AVE E 804	N	SF	P	UNK	1.00	2022	INSTALLED AFTER LEAD BAN	Y 2022	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
	MBERLY AVE E 807	N	SF	Р	UNK	1.00		INSTALLED AFTER LEAD BAN	Y 2022	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR
	MBERLY AVE E 808 MBERLY AVE E 810	N N	SF SF	P P	UNK	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2022 Y 2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	MBERLY AVE E 812	N N	SF	P	UNK	1.00		INSTALLED AFTER LEAD BAN	Y 2022	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	MBERLY AVE E 814	N	SF	P	UNK	1.00	2022	INSTALLED AFTER LEAD BAN	Y 2022	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
	MBERLY AVE E 816 MBERLY AVE E 817	N N	SF SF	P P	UNK	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2022 Y 2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL0959 KIN	MBERLY AVE E 818	N	SF	P	UNK	1.00	2022	INSTALLED AFTER LEAD BAN	Y 2022	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
	MBERLY AVE E 822	N	SF	P	UNK	1.00		INSTALLED AFTER LEAD BAN	Y 2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
	MBERLY AVE E 823 MBERLY AVE E 829	N N	SF SF	P	UNK	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2022 Y 2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP AT METER
	MBERLY AVE E 903	N	SF	Р	UNK	1.00		INSTALLED AFTER LEAD BAN	Y 2022	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2022	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP AT METER
	MBERLY AVE E 904 MBERLY AVE E 907	N N	SF SF	P	UNK	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2022 Y 2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP AT METER
	MBERLY AVE E 907	N N	SF SF	P	UNK	1.00	2022	INSTALLED AFTER LEAD BAN	Y 2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2015	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP AT METER
	MBERLY AVE E 912	N	SF	Р	UNK	1.00	2022	INSTALLED AFTER LEAD BAN	Y 2022	VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2015	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP AT METER
EPAL0968 KIN	MBERLY AVE E 917 MBERLY AVE E 918	N N	SF SF	P	UNK	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2022 Y 2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2015 2015	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP AT METER
	MBERLY AVE E 923	N	SF	P	UNK	1.00		INSTALLED AFTER LEAD BAN		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
	MBERLY AVE E 924	N	SF SE	P P	UNK	1.00		INSTALLED AFTER LEAD BAN	Y 2022 Y 2022	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2015	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER
	MBERLY AVE E 929 MBERLY AVE W 1011	N N	SF SF	<u>Р</u>	UNK N	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2022 Y 2013	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG	1.00	2015	INSTALLED AFTER LEAD BAN	Y N	2022	VISUAL INSP AT METER
EPAL0974 KIN	MBERLY AVE W 1012	N	SF	Р	N	1.00	2013	INSTALLED AFTER LEAD BAN	Y 2013	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG				N		
	MBERLY AVE W 1103 MBERLY AVE W 1111	N N	SF SF	P	N N	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2013 Y 2013	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG				N N		
	MBERLY AVE W 1119	N	SF	P	N	1.00	2013	INSTALLED AFTER LEAD BAN	Y 2013	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG				N		
	MBERLY AVE W 116	N	NONRES	P	N	1.00		INSTALLED AFTER LEAD BAN	Y 2013	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
	MBERLY AVE W 118 MBERLY AVE W 1200	N N	NONRES NONRES	P P	N N	1.00	2013	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2013 Y 2013	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P UNK=NOLG	1.00	2022	INSTALLED AFTER LEAD BAN	Y N	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL0981 KIN	MBERLY AVE W 1211	N	SF	Р	N	1.00	2013	INSTALLED AFTER LEAD BAN	Y 2013	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG				N		
	MBERLY AVE W 1219 MBERLY AVE W 122	N N	SF SF	P P	N N	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2013 Y 2013	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG				N N		
	MBERLY AVE W 1348	N	SF	P	N N	1.00		INSTALLED AFTER LEAD BAN	Y 2013	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG				N		
	MBERLY AVE W 1351	N	SF	Р	N	1.00	2013	INSTALLED AFTER LEAD BAN	Y 2013	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG				N		
	MBERLY AVE W 1408 MBERLY AVE W 1411	N N	SF SF	P	N N	1.00	2013	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2013 Y 2013	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG				N N		
EPAL0988 KIN	MBERLY AVE W 1414	N	SF	P	N	1.00	2013	INSTALLED AFTER LEAD BAN	Y 2013	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG				N		
	MBERLY AVE W 1419 MBERLY AVE W 1420	N N	SF SF	P	N N	1.00	2013	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2013 Y 2013	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG				N N		
	MBERLY AVE W 1420 MBERLY AVE W 1427	N N	SF SF	P	N N	1.00		INSTALLED AFTER LEAD BAN	Y 2013 Y 2013	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG	1			N N		
	MBERLY AVE W 1430	N	SF	P	N	1.00		INSTALLED AFTER LEAD BAN	Y 2013	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG				N		
	MBERLY AVE W 1435 MBERLY AVE W 1438	N N	SF SF	P P	N N	1.00	2013	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2013 Y 2013	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG	 			N N		
EPAL0995 KIN	MBERLY AVE W 1443	N	SF	P	N N	1.00	2013	INSTALLED AFTER LEAD BAN	Y 2013	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG				N		
	MBERLY AVE W 1504 MBERLY AVE W 1505	N N	SF SE	P	N N	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2013 Y 2013	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG				N N		
	MBERLY AVE W 1505	N N	SF	P	N N	1.00	2013	INSTALLED AFTER LEAD BAN	Y 2013	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG				N		
	MBERLY AVE W 1512	N	SF	Р	N	1.00		INSTALLED AFTER LEAD BAN		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG				N		
	MBERLY AVE W 1532 MBERLY AVE W 203	N N	SF SF	P P	N N	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2013 Y 2013	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG P	1.00	2022	INSTALLED AFTER LEAD BAN	N Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1002 KIN	MBERLY AVE W 204	N	NONRES	P	N N	1.00		INSTALLED AFTER LEAD BAN	Y 2013	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
	MBERLY AVE W 217 MBERLY AVE W 220	N N	SF NONRES	P P	N N	1.00		INSTALLED AFTER LEAD BAN	Y 2013 Y 2013	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	MBERLY AVE W 220 MBERLY AVE W 223	N N	SF	P	N N	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2013 Y 2013	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG	1.00	2013	INSTALLED AFTER LEAD BAN	N N	2022	VISUAL INSP DUKING INSTALL UK KEPAIR
EPAL1006 KIN	MBERLY AVE W 307	N	SF	P	N	1.00	2013	INSTALLED AFTER LEAD BAN	Y 2013	VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
	MBERLY AVE W 308 MBERLY AVE W 313	N N	SF SF	P P	N N	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2013 Y 2013	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C P	1.00	2013	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1009 KIN	MBERLY AVE W 314	N	SF	P	N	1.00	2013	INSTALLED AFTER LEAD BAN	Y 2013	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG				N		
	MBERLY AVE W 409	N	SF	P	N	1.00		INSTALLED AFTER LEAD BAN	Y 2013	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
	MBERLY AVE W 410 MBERLY AVE W 413	N N	SF SF	P P	N N	1.00	2013	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2013 Y 2013	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1013 KIN	MBERLY AVE W 416	N	SF	P	N	1.00	2013	INSTALLED AFTER LEAD BAN	Y 2013	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
	MBERLY AVE W 419 MBERLY AVE W 426	N N	SF NONRES	P P	N N	1.00	2013	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2013 Y 2013	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P UNK=NOLG	1.00	2022	INSTALLED AFTER LEAD BAN	Y N	2022	VISUAL INSP DURING INSTALL OR REPAIR
	MBERLY AVE W 426 MBERLY AVE W 510	N N	NONRES	P	N N	1.00		INSTALLED AFTER LEAD BAN		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG				N N		
							-					•					

March Marc	SITE ID	LOCATION ID	LEAD GOOSNEC K	BUILDING TYPE	PUBLIC MATERAIL	WAS PUBLICSIDE EVER LEAD	PUBLIC SIZE	PUBLIC INSTALL	BASIS OF PUBILC MATRERIAL CLASSIFICATION	WASPUBL ST	DATE OF TREET SIDE FIELD ERIFICATIO N	PUBLIC METHOD OF STREET SIDE FIELD VERIFICATION	PRIVATE MATERAIL	PRIVATE SIZE	PRIVATE INSTALL	BASIS OF PRIVATE MATRERIAL CLASSIFICATION	WAS PRIVATE FILED VERFIED	DATE OF PROPERTY SIDE FIELD VERIFICATION	PRIVATE METHOD OF PROPERTY SIDE FIELD VERIFICATION
The control of the					PUBLIC									PRIVATE	PRIVATE	PRIVATE		PRIVATE	PRIVATE
Manual Person Manual Perso					P														
The content of the										Y									
Proceedings	EPAL1020 KIN	MBERLY AVE W 627			P					Y									
STATE Company of No. 1																			
STATE Control of the Control of	EPAL1023 KIN	MBERLY AVE W 647	N	SF	P		1.00		INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG				N		
STORES CAMPA CAM					P					Y									
Column C										-									
Month Mont	EPAL1027 KIN							2013	INSTALLED AFTER LEAD BAN	Y									
The column The					P					Y									
MARCH MARC					P														
The column The					P				INSTALLED AFTER LEAD BAN	Υ									
March 19 1					P					Y									
Process of the Control of the Cont					P					Y									
PRINCE OF PRIN					P	N				Υ									
The color of the					P	N N				Y									
PARTIE P	EPAL1038 KIT	TY CT 1		SF	C			1993	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR		1.00	1993				
Mode					C					Y			C				Y		
					C					Y			C				Y		
	EPAL1042 KIT	TY CT 18	N	SF	C			1993	INSTALLED AFTER LEAD BAN		1993	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00		INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
WINDLESS WITCH 25					c								c						
					C					Y			C				Ϋ́		
Part	EPAL1046 KIT	TY CT 400	N	SF	Č		1.00	1993	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR	C			INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
PARTICLE 10					C					Y			C				Y		
MAINTENNESS N. W. C. N. 1,00 390 MONTALLE PATRICASION T. 193 MONTALLE PATRICASION T. 193 MONTALLE PATRICAGE MON					C					Y			C				Y		
PALESTON DECISION PALESTON					С					-			C						
MALES MORCHAFT 18 18 18 18 18 18 18 1					C								С					1993	VISUAL INSP DURING INSTALL OR REPAIR
PRINCIPLE 1909 19					C					Y			C				Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
MAINTAIN MAINTAIN					С					-			С						
PARLED PARL					C								C						
FRANCISCO STATE PARTIES PART					C					Y			C				Y		
Fight 1905 No. 11 1.00 1.000 NOTALLED ATTER LADE MAN					C								C			INSTALLED AFTER LEAD BAN			
Final Ligids Concert Miss Mis					C								C						
Final Design Design State 1					C			2000	INSTALLED AFTER LEAD BAN	Y			C				Y		
Final Lose Dec 200 D					C					Y			С				Y		
Final Light State Final Light State					C								C				Y		
Final Light Tourn Final Light Tourn Final Light Final Light			N	SF	c				INSTALLED AFTER LEAD BAN	Y			C				Y		
FRALESPO COKE N 610 N 9F C N 1.00 2000 INSTALLED AFTEL LAD BAM V 2000 VISUAL RSP DURING RISTALL OR REPAIR C 1.00 2000 INSTALLED AFTEL LAD BAM V 2000 VISUAL RSP DURING RISTALL OR REPAIR C 1.00 2000 INSTALLED AFTEL LAD BAM V 2000 VISUAL RSP DURING RISTALL OR REPAIR C 1.00 2000 INSTALLED AFTEL LAD BAM V 2000 VISUAL RSP DURING RISTALL OR REPAIR C 1.00 2000 INSTALLED AFTEL LAD BAM V 2000 VISUAL RSP DURING RISTALL OR REPAIR C 1.00 2000 INSTALLED AFTEL LAD BAM V 2000 VISUAL RSP DURING RISTALL OR REPAIR C 1.00 2000 INSTALLED AFTEL LAD BAM V 2000 VISUAL RSP DURING RISTALL OR REPAIR C 1.00 2000 INSTALLED AFTEL LAD BAM V 2000 VISUAL RSP DURING RISTALL OR REPAIR C 1.00 2000 INSTALLED AFTEL LAD BAM V 2000 VISUAL RSP DURING RISTALL OR REPAIR C 1.00 2000 INSTALLED AFTEL LAD BAM V 2000 VISUAL RSP DURING RISTALL OR REPAIR C 1.00 2000 INSTALLED AFTEL LAD BAM V 2000 VISUAL RSP DURING RISTALL OR REPAIR C 1.00 2000 INSTALLED AFTEL LAD BAM V 2000 VISUAL RSP DURING RISTALL OR REPAIR C 1.00 2000 INSTALLED AFTEL LAD BAM V 2000 VISUAL RSP DURING RISTALL OR REPAIR C 1.00 2000 INSTALLED AFTEL LAD BAM V 2000 VISUAL RSP DURING RISTALL OR REPAIR C 1.00 2000 INSTALLED AFTEL LAD BAM V 2000 VISUAL RSP DURING RISTALL OR REPAIR C 1.00 2000 INSTALLED AFTEL LAD BAM V 2000 VISUAL RSP DURING RISTALL OR REPAIR C 1.00 2000 INSTALLED AFTEL LAD BAM V 2000 VISUAL RSP DURING RISTALL OR REPAIR C 1.00 2000 INSTALLED AFTEL LAD BAM V 2000 VISUAL RSP DURING RISTALL OR REPAIR C 1.00 2000 INSTALLED AFTEL LAD BAM V 2000 VISUAL RSP DURING RISTALL OR REPAIR C 1.00 2000 INSTALLED AFTEL LAD BAM V 2000 VISUAL RSP DURING RISTALL OR REPAIR C 1.00 2000 INSTALLED AFTEL LAD BAM V 2000 VISUAL RSP DURING RISTALL OR REPAIR C 1.00 2000 INSTALLED AFTEL LAD BAM V 2000					C					Y			C				Y		
PRALIGON CORKE 1					-								-						
FRALIGIP SOME UN 75	EPAL1069 KO	KKE LN 611	N	SF	С	N	1.00	2000	INSTALLED AFTER LEAD BAN	Y	2000	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR
FPALLIGY CHANGE IN 7.5 C N 1.00 2000 INSTALLED ATTER LEAD BAN Y 2000 VISUAL HISP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED ATTER LEAD BAN Y 2000 VISUAL HISP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED ATTER LEAD BAN Y 1.993 VISUAL HISP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED ATTER LEAD BAN Y 1.993 VISUAL HISP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED ATTER LEAD BAN Y 1.993 VISUAL HISP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED ATTER LEAD BAN Y 1.993 VISUAL HISP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED ATTER LEAD BAN Y 1.993 VISUAL HISP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED ATTER LEAD BAN Y 1.993 VISUAL HISP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED ATTER LEAD BAN Y 1.993 VISUAL HISP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED ATTER LEAD BAN Y 1.993 VISUAL HISP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED ATTER LEAD BAN Y 1.993 VISUAL HISP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED ATTER LEAD BAN Y 1.993 VISUAL HISP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED ATTER LEAD BAN Y 1.993 VISUAL HISP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED ATTER LEAD BAN Y 1.993 VISUAL HISP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED ATTER LEAD BAN Y 1.993 VISUAL HISP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED ATTER LEAD BAN Y 1.993 VISUAL HISP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED ATTER LEAD BAN Y 1.993 VISUAL HISP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED ATTER LEAD BAN Y 1.993 VISUAL HISP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED ATTER LEAD BAN Y 1.993 VISUAL HISP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED ATTER LEAD BAN Y 1.993 VISUAL HISP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED ATTER LEAD BAN Y 1.993 VISUAL HISP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED ATTER LEAD BAN Y 1.993 VISUAL HISP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED ATTER LEAD BAN Y 1.993 VISUAL HISP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED ATTER LEAD BAN Y					С					Y			C				Y		
EPALIDIS ROMER IN 102					C								C						
FRALIDS RAMBER IN 427 N	EPAL1073 KO	KKE LN 710		SF	C		1.00	2000	INSTALLED AFTER LEAD BAN	Y	2000	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPALIDTS SRAMER IN 329					C					Y			C				Y		
EPALLOPS RAMARE IN \$30					C					Y			C						
EPALIDS SAMMER IN 531	EPAL1077 KRA	AMER LN 528	N		C	N	1.00	2000	INSTALLED AFTER LEAD BAN	Y	2000	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPALIDBS GRAMER IN 533					C					Y			C				Y		
EPALLOBS KRAMER IN 534 N SF C N 1.00 2000 INSTALLED AFTER LEAD BAN Y 2000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 1.993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 1.993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 1.993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 1.993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 1.993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL IN	EPAL1080 KRA	AMER LN 533	N	SF	C			2000	INSTALLED AFTER LEAD BAN	Y	2000	VISUAL INSP DURING INSTALL OR REPAIR	C			INSTALLED AFTER LEAD BAN		1993	VISUAL INSP DURING INSTALL OR REPAIR
EPALLIDSS RAMER IN 536					С					Y			С			INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPALLIDBS RAMER IN 537 N SF C N 1.00 2000 INSTALLED AFTER LEAD BAN Y 2000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DU					C					Y			C				Y		
EPALLOBS RAMER IN 539 N SF C N 1.00 2000 INSTALLED AFTER LEAD BAN Y 2000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 1.993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 1.993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 1.993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 1.993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 1.993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 1.993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INS	EPAL1084 KRA	AMER LN 537	N	SF	C	N	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	2000	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPALLIDES RAAMER IN. 540 N SF C N 1.00 2000 INSTALLED AFFER IEAD BAN Y 2000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFFER IEAD BAN Y 2000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFFER IEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFFER IEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFFER IEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFFER IEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFFER IEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFFER IEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFFER IEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFFER IEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFFER IEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFFER IEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFFER IEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFFER IEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFFER IEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFFER IEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFFER IEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFFER IEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFFER IEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFFER IEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFFER IEAD BAN Y 2.000 VISUAL I					C					Y			C				Y		
EPALLOBS RAAMER IN 561					C					Y			C				Y		
EPALLOPS KRAMER LN 602 N 5 F C N 1.00 2000 INSTALLED AFFER LEAD BAN Y 2000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFFER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFFER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFFER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFFER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFFER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFFER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFFER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFFER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFFER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFFER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFFER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFFER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFFER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFFER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFFER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFFER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFFER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFFER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFFER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFFER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFFER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFFER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFFER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFFER LEAD BAN Y 1993 VISUAL INSP DURING INSTA	EPAL1088 KRA	AMER LN 541	N	SF	C						2000	VISUAL INSP DURING INSTALL OR REPAIR	C		2000	INSTALLED AFTER LEAD BAN		1993	VISUAL INSP DURING INSTALL OR REPAIR
EPALLIDS SAMER IN 63 N SF C N 1.00 2000 INSTALLED AFTER LEAD BAN Y 2000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 1.000 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AF					C					Y			C		2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPALLOPS KRAMER IN 605 N SF C N 1.00 2000 INSTALLED AFTER LEAD BAN Y 2000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 2.000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER LEAD BAN Y 1.000 1.000 1.00000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.0000 1.00000 1.00000 1.00000 1.00000 1.00000 1.00000					C					Y			C				Y		
EPAL1094 KRAMER IN 607 N SF C N 1.00 2000 INSTALLED AFTER LEAD BAN Y 2000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFTER LEAD BAN Y 1.00 2.00 INSTALLED AFTER LEAD BAN Y 1.00 2.00 INSTALLED AFTER LEAD BAN Y 2.00 INSTALLED AFTER LEAD BAN Y 1.00 2.00 INSTALLED AFTER LEAD BAN Y 2.00 INSTALLED AFTER LEAD BAN Y 1.00 2.00 INSTALLED	EPAL1092 KRA	AMER LN 605	N	SF	C		1.00		INSTALLED AFTER LEAD BAN	Ϋ́	2000	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00		INSTALLED AFTER LEAD BAN		1993	VISUAL INSP DURING INSTALL OR REPAIR
EPALLOPS KRAMER IN 608 N SF C N 1.00 2000 INSTALLED AFTER IEAD BAN Y 2000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFTER IEAD BAN Y 1993 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFTER IEAD BAN Y 1993 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFTER IEAD BAN Y 1993 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFTER IEAD BAN Y 1993 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFTER IEAD BAN Y 1993 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFTER IEAD BAN Y 1993 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER IEAD BAN Y 1993 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER IEAD BAN Y 1993 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER IEAD BAN Y 1993 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER IEAD BAN Y 1993 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER IEAD BAN Y 1.00 2.000 INSTALLED AFTER IEAD BAN Y 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 INSTALLED AFTER IEAD BAN Y 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000 VISUAL INSP DUBING INSTALL OR REPAIR C 1.00 2.000			.,	5	C								C				Y		
EPAL1096 KRAMER IN 569 N SF C N 1.00 2000 INSTALLED AFTER LEAD BAN Y 2000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR EPAL1098 KRAMER IN 705 N SF C N 1.00 2000 INSTALLED AFTER LEAD BAN Y 2000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR EPAL1098 KRAMER IN 706 N SF C N 1.00 2000 INSTALLED AFTER LEAD BAN Y 2000 VISUAL INSP DURING INSTALL OR REPAIR EPAL1099 KRAMER IN 706 N SF C N 1.00 2000 INSTALLED AFTER LEAD BAN Y					C					-			C				Y		
EPAL1098 KRAMER IN 705 N SF C N 1.00 2000 INSTALLED AFTER LEAD BAN Y 2000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR EPAL1099 KRAMER IN 706 N SF C N 1.00 2000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR EPAL1099 KRAMER IN 706 N SF C N 1.00 2000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR	EPAL1096 KRA	AMER LN 609	N	SF	c		1.00	2000	INSTALLED AFTER LEAD BAN		2000	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00		INSTALLED AFTER LEAD BAN	Ϋ́	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1099 KRAMER IN 706 N SF C N 1.00 2000 INSTALLED AFTER LEAD BAN Y 2000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR			.,		С								·				Y		
					C								C				Y Y		
EPAL1100 KRAMER LN 707 N SF C N 1.00 2000 INSTALLED AFTER LEAD BAN Y 2000 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 2000 INSTALLED AFTER LEAD BAN Y 1993 VISUAL INSP DURING INSTALL OR REPAIR					Č					Y		VISUAL INSP DURING INSTALL OR REPAIR	C				Ý		

SITE ID	LOCATION ID	LEAD GOOSNEC K	BUILDING TYPE	PUBLIC MATERAIL	WAS PUBLICSIE EVER LEA		PUBLIC INSTALL	BASIS OF PUBILC MATRERIAL CLASSIFICATION	IC FILED	DATE OF STREET SIDE FIELD VERIFICATIO N	PUBLIC METHOD OF STREET SIDE FIELD VERIFICATION	PRIVATE MATERAIL	PRIVATE SIZE	PRIVATE INSTALL	BASIS OF PRIVATE MATRERIAL CLASSIFICATION	WAS PRIVATE FILED VERFIED	DATE OF PROPERTY SIDE FIELD VERIFICATION	PRIVATE METHOD OF PROPERTY SIDE FIELD VERIFICATION
				PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE
EPAL1101 KRA		N	SF	C	N	1.00		INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00		INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL1102 KRA EPAL1103 KUB		N N	SF SF	C P	N UNK	1.00	2000 2018	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2000 2018	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG	1.00	2000 1953	INSTALLED AFTER LEAD BAN	N N	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1104 KUB		N	SF	P	UNK	1.00	2018	INSTALLED AFTER LEAD BAN	Y	2018	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1953		N		
EPAL1105 KUB		N	SF	UNK=NOLG			1953		N			UNK=NOLG		1953		N		
EPAL1106 KUB	BORN AVE 710	N	SF	UNK=NOLG	UNK		1953		N			UNK=NOLG		1953		N		
EPAL1107 KUB		N	SF	UNK=NOLG	_		1953		N			UNK=NOLG		1953		N		
EPAL1108 KUB		N N	SF SF	UNK=NOLG UNK=NOLG			1953		N			UNK=NOLG		1953		N N		
EPAL1109 KUB EPAL1110 KUB	BORN AVE 728 BORN AVE 732	N N	SF SF	UNK=NOLG UNK=NOLG			1953 1953		N N			UNK=NOLG UNK=NOLG		1953 1953		N N		
EPAL1111 KUB		N	SF	UNK=NOLG			1953		N			UNK=NOLG		1953		N		
EPAL1112 KUB		N	SF	UNK=NOLG			1953		N			UNK=NOLG		1953		N		
EPAL1113 KUB	BORN AVE 742	N	SF	UNK=NOLG			1953		N			UNK=NOLG		1953		N		
EPAL1114 LAM		N	SF	С	N	1.00	1993	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	1993	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP AT METER
EPAL1115 LAM		N	SF	C	N	1.00	1993	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR	C P	1.00	1993	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP AT METER
EPAL1116 LAM EPAL1117a LAM		N N	SF SF	C	N N	1.00	1993	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1993	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP AT METER VISUAL INSP AT METER
EPAL1117b LAM		N	SF	c	N	1.00	1993	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR	Č	1.00	1993	INSTALLED AFTER LEAD BAN	Ϋ́	2022	VISUAL INSP AT METER
EPAL1117c LAM		N	SF	c	N N	1.00	1993	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	1993	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER
EPAL1117d LAM		N	SF	С	N	1.00	1993	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1993	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP AT METER
EPAL1118 LAM		N	SF	С	N	1.00	1993	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	1993	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP AT METER
EPAL1119 LAM		N	SF	С	N	1.00	1993	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1993	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP AT METER
EPAL1120 LAM		N	SF	C	N N	1.00	1993	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1993	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP AT METER
EPAL1121 LAM EPAL1122 LAM		N N	SF SF	C	N N	1.00	1993	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1993	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP AT METER VISUAL INSP AT METER
	WERS RD 526/528	N	SF	C	N N	1.00	1993	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1993	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP AT METER
EPAL1124 LAM	MERS RD 527	N	SF	c	N N	1.00	1993	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	1993	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP AT METER
EPAL1126 LAM	MERS RD 533	N	SF	C	N	1.00	1993	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1993	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP AT METER
EPAL1127 LAM		N	SF	С	N	1.00	1993	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1993	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP AT METER
EPAL1128 LAM		N	SF	UNK=NOLG			1976		N			UNK=NOLG		1976		N	1	
EPAL1129 LAM EPAL1130 LAM		N N	SF NONRES	UNK=NOLG C	N N	1.50	1976 1993	INSTALLED AFTER LEAD BAN	N Y	1993	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1976		N N		
EPAL1130 LAW		N N	SF	UNK=NOLG		1.50	1976	INSTALLED AFTER LEAD BAIN	N N	1995	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1976		N N	 	
EPAL1132 LAM		N	SF	UNK=NOLG			1976		N			UNK=NOLG		1976		N		
EPAL1133 LAM	MERS RD 627	N	SF	UNK=NOLG			1976		N			UNK=NOLG		1976		N		
EPAL1134 LAM	MERS RD 628	N	SF	UNK=NOLG	i N		1976		N			UNK=NOLG		1976		N		
EPAL1135 LAM		N	SF	UNK=NOLG			1976		N			UNK=NOLG		1976		N		
EPAL1136 LAM		N	SF	UNK=NOLG			1976		N			UNK=NOLG		1976		N	1	
EPAL1137 LAM EPAL1138 LAM		N N	SF SF	UNK=NOLG UNK=NOLG		+	1976 1976		N N			UNK=NOLG UNK=NOLG		1976 1976		N N		<u> </u>
EPAL1138 LAW		N N	SF.	UNK=NOLG			1976		N N			UNK=NOLG		1976		N N	 	
	VIERS RD 713	N	SF	UNK=NOLG			1976		N			UNK=NOLG		1976		N		
EPAL1141 LAM		N	SF	UNK=NOLG			1976		N			UNK=NOLG		1976		N		
EPAL1142 LAM		N	SF	UNK=NOLG			1976		N			UNK=NOLG		1976		N		
EPAL1143 LAM		N	SF	UNK=NOLG			1976		N			UNK=NOLG		1976		N	ļ	ļ
EPAL1144 LAM		N	SF SF	UNK=NOLG			1976		N			UNK=NOLG		1976		N	1	
EPAL1145 LAM		N N	SF SF	UNK=NOLG UNK=NOLG		+	1976 1976		N N			UNK=NOLG UNK=NOLG		1976 1976		N N		<u> </u>
EPAL1147 LAM		N	SF	UNK=NOLG			1976		N			UNK=NOLG		1976		N		
EPAL1148 LAM	VIERS RD 725	N	SF	UNK=NOLG	N		1976		N			UNK=NOLG		1976		N		
EPAL1149 LAM	MERS RD 822	N	SF	UNK=NOLG			1976		N			UNK=NOLG		1976		N		
EPAL1150 LAM		N	SF	UNK=NOLG			1976		N			UNK=NOLG		1976		N		
EPAL1151 LAM EPAL1152 LAM		N N	SF SF	UNK=NOLG			1976 1976		N N			UNK=NOLG UNK=NOLG		1976 1976		N N	1	
EPAL1152 LAM		N N	SF SF	UNK=NOLG UNK=NOLG	N N	+	1976		N N			UNK=NOLG UNK=NOLG		1976		N N		<u> </u>
EPAL1154 LAM		N	NONRES		N	2.00	1976	Diameter > 2 inches	Y	1986	VISUAL INSP DURING INSTALL OR REPAIR	C	2.00		DIAMETER > 2"	Y	1986	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1155 LAN		N	SF	C	N	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	2000	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1156 LAN		N	SF	С	N	1.00	2000	INSTALLED AFTER LEAD BAN	γ	2000	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1157 LAN		N	SF	С	N	1.00	2000	INSTALLED AFTER LEAD BAN	Y	2000	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1158 LAN		N N	SF SF	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN	Y	2000	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1159 LAN		N N	SF SF	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN	Y	2000	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1161 LAN		N	SF	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN	Y	2000	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1162 LAN	NG WAY 820	N	SF	c	N	1.00	2000	INSTALLED AFTER LEAD BAN	γ	2000	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1163 LAN		N	SF	С	N	1.00	2000	INSTALLED AFTER LEAD BAN	γ	2000	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1164 LAN		N	SF	C	N	1.00	2000	INSTALLED AFTER LEAD BAN	Y	2000	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1165 LAN		N N	SF SF	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2000	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00		INSTALLED AFTER LEAD BAN	Y	1993 1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1167 LAN		N N	SF SF	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN	Y	2000	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	c	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1168 LAN		N	SF	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN	Y	2000	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00		INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1169 LAN		N	SF	c	N	1.00	2000	INSTALLED AFTER LEAD BAN	Y	2000	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1170 LINC		N	SF	P	UNK	1.00	2005	INSTALLED AFTER LEAD BAN	Υ	2005	VISUAL INSP DURING INSTALL OR REPAIR	С	0.75	2005	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER
EPAL1171 LINC		N	SF	P	UNK	1.00	2005	INSTALLED AFTER LEAD BAN	Υ	2005	VISUAL INSP DURING INSTALL OR REPAIR	P	0.75	2005	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER
EPAL1172 LINC		N	SF	P	UNK	1.00	2005	INSTALLED AFTER LEAD BAN	Y	2005	VISUAL INSP DURING INSTALL OR REPAIR	С	0.75	2005	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER
EPAL1173 LINC	COLN ST N 122 COLN ST N 127	N N	SF SF	P	UNK	1.00	2005	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2005 2005	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	0.75 0.75	2005 2005	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER VISUAL INSP AT METER
EPAL1174 LINC		N N	SF SF	P	UNK	1.00	2005 2005	INSTALLED AFTER LEAD BAN	Y	2005	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	0.75	2005	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER VISUAL INSP AT METER
EPAL1175 LINC		N N	SF	P	UNK	1.00	2005	INSTALLED AFTER LEAD BAN	Y	2005	VISUAL INSP DURING INSTALL OR REPAIR	P	0.75	2005	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER
EPAL1177 LINC		N	SF	P	UNK	1.00	2005	INSTALLED AFTER LEAD BAN	Y	2005	VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	2005	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER
EPAL1178 LINC	COLN ST N 137	N	SF	P	UNK	1.00	2005	INSTALLED AFTER LEAD BAN	Υ	2005	VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	2005	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP AT METER
EPAL1179 LINC		N	SF	P	UNK	1.00	2005	INSTALLED AFTER LEAD BAN	γ	2005	VISUAL INSP DURING INSTALL OR REPAIR	С	0.75	2005	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP AT METER
EPAL1180 LINC		N	SF	P	UNK	1.00	2005	INSTALLED AFTER LEAD BAN	Υ	2005	VISUAL INSP DURING INSTALL OR REPAIR	С	0.75	2005	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP AT METER
FPAI 1181 ILING	COLN ST N 147	N	SF SF	P	UNK	1.00	2005	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2005 2005	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	0.75 1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP DURING INSTALL OR REPAIR
EPAL1182 LINC		N																

SITE ID	LOCATION ID	LEAD GOOSNEC K	BUILDING TYPE	PUBLIC MATERAIL	WAS PUBLICSIDE EVER LEAD	PUBLIC SIZE	PUBLIC INSTALL	BASIS OF PUBILC MATRERIAL CLASSIFICATION	IC FILED	DATE OF STREET SIDE FIELD VERIFICATIO N	PUBLIC METHOD OF STREET SIDE FIELD VERIFICATION	PRIVATE MATERAIL	PRIVATE SIZE	PRIVATE INSTALL	BASIS OF PRIVATE MATRERIAL CLASSIFICATION	WAS PRIVATE FILED VERFIED	DATE OF PROPERTY SIDE FIELD VERIFICATION	PRIVATE METHOD OF PROPERTY SIDE FIELD VERIFICATION
				PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE
EPAL1183 LIN		N	SF	P	UNK	1.00	2005	INSTALLED AFTER LEAD BAN	Υ	2005	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2005	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP AT METER
EPAL1184 LIN	COLN ST S 122	N N	SF SF	P P	UNK	1.00	2005 2005	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2005 2005	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C P	1.00	2005 2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP DURING INSTALL OR REPAIR
EPAL1185 LIN		N N	SF SF	P	UNK	1.00	2005	INSTALLED AFTER LEAD BAN	Y	2005	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER
EPAL1187 LIN		N	SF	P	UNK	1.00	2005	INSTALLED AFTER LEAD BAN	Y	2005	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL1188 LIN	COLN ST S 133	N	SF	P	UNK	1.00	2005	INSTALLED AFTER LEAD BAN	Υ	2005	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2005	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER
EPAL1189 LIN		N	SF	P	UNK	1.00	2005	INSTALLED AFTER LEAD BAN	Υ	2005	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2005	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP AT METER
EPAL1190 LIN		N	SF	P P	UNK	1.00	2005	INSTALLED AFTER LEAD BAN	Y	2005	VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2005	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER
EPAL1191 LIN		N N	SF SF	P	UNK	1.00	2005 2005	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2005 2005	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2005 2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022 2022	VISUAL INSP AT METER VISUAL INSP DURING INSTALL OR REPAIR
EPAL1193 LIN		N	SF	Р	UNK	1.00	2005	INSTALLED AFTER LEAD BAN	Y	2005	VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2005	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER
EPAL1194 LIN		N	SF	P	UNK	1.00	2005	INSTALLED AFTER LEAD BAN	Υ	2005	VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2022	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR
EPAL1195 LIN		N	SF	P	UNK	1.00	2005	INSTALLED AFTER LEAD BAN	Υ	2005	VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2005	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP AT METER
EPAL1196 LIN		N	SF	P	UNK	1.00	2005	INSTALLED AFTER LEAD BAN	Υ	2005	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00		INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL1197 LIN		N N	SF SF	P	UNK	1.00	2005 2005	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2005 2005	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2005	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP AT METER
EPAL1198 LIN		N N	SF	P	UNK	1.00	2005	INSTALLED AFTER LEAD BAN	Y	2005	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00		INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER
EPAL1200 LIN		N	SF	P	UNK	1.00	2005	INSTALLED AFTER LEAD BAN	Υ	2005	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2005	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER
EPAL1201 LIN	COLN ST S 245	N	SF	Р	UNK	1.00	2005	INSTALLED AFTER LEAD BAN	γ	2005	VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2005	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP AT METER
EPAL1202 LIN		N	SF	P	UNK	1.00	2005	INSTALLED AFTER LEAD BAN	Υ	2005	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2005	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP AT METER
EPAL1203 LIN		N N	SF SF	P P	UNK	1.00	2005 2005	INSTALLED AFTER LEAD BAN	Y	2005 2005	VISUAL INSP DURING INSTALL OR REPAIR	P C	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP AT METER
EPAL1204 LIN		N N	SF SF	P	UNK	1.00	2005	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2005	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C P	1.00	2005	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP AT METER
EPAL1205 LIN		N N	SF SF	P	UNK	1.00	2005	INSTALLED AFTER LEAD BAN	Y	2005	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL1207 LIN		N	SF	P	UNK	1.00	2005	INSTALLED AFTER LEAD BAN	Y	2005	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2005	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER
EPAL1208 LIN	COLN ST S 320	N	SF	Р	UNK	1.00	2005	INSTALLED AFTER LEAD BAN	Υ	2005	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2005	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP AT METER
EPAL1209 LIN		N	SF	UNK=NOLG	UNK		1957	1	N			UNK=NOLG		1957		N		
EPAL1210 LIN		N N	SF SF	UNK=NOLG	UNK	1	1957	1	N N			UNK=NOLG		1957		N N	1	
EPAL1211 LIN		N N	SF SF	UNK=NOLG UNK=NOLG	UNK		1957 1957		N N			UNK=NOLG UNK=NOLG		1957 1957		N N		
EPAL1213 LIN	DA ST S 251	N	SF	UNK=NOLG	UNK		1957		N			UNK=NOLG		1957		N		
EPAL1214 LIN		N	SF	UNK=NOLG	UNK		1957		N			UNK=NOLG		1957		N		
EPAL1215 LIN		N	SF	UNK=NOLG	UNK		1957		N			UNK=NOLG		1957		N		
EPAL1216 LIN		N	SF	UNK=NOLG	UNK		1957		N			UNK=NOLG		1957		N		
EPAL1217 LIN		N N	SF SF	UNK=NOLG UNK=NOLG	UNK		1957		N N			UNK=NOLG		1957 1957		N N		
EPAL1218 LIN		N N	SF SF	UNK=NOLG UNK=NOLG	UNK		1957 1957		N N			UNK=NOLG UNK=NOLG		1957		N N		
EPAL1220 LIN		N	SF	UNK=NOLG	UNK		1957		N			UNK=NOLG		1957		N		
EPAL1221 LIN	DA ST S 316	N	SF	UNK=NOLG	UNK		1957		N			UNK=NOLG		1957		N		
EPAL1222 LIN		N	SF	UNK=NOLG	UNK		1957		N			UNK=NOLG		1957		N		
EPAL1223 LIN		N	SF SF	UNK=NOLG UNK=NOLG	UNK		1957		N N			UNK=NOLG		1957		N		
EPAL1224 LIN	DA SI S 327	N N	SF SF	UNK=NOLG UNK=NOLG	UNK		1957 1957		N N			UNK=NOLG UNK=NOLG		1957 1957		N N		
EPAL1226 LIN		N	SF	UNK=NOLG	UNK		1957		N			UNK=NOLG		1957		N		
EPAL1227 LIN		N	SF	UNK=NOLG	UNK		1957		N			UNK=NOLG		1957		N		
EPAL1228 LIN	DA ST S 339	N	SF	UNK=NOLG	UNK		1957		N			UNK=NOLG		1957		N		
EPAL1229 LIN		N	SF	UNK=NOLG	UNK		1957		N			UNK=NOLG		1957		N		
EPAL1230 LIN		N N	SF	UNK=NOLG	UNK		1957		N N			UNK=NOLG		1957		N N		
EPAL1231 LIN		N N	SF SF	UNK=NOLG	UNK	1.00	1957 2018	INSTALLED AFTER LEAD BAN	Y	2018	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1957 1976		N N		
EPAL1233 LOU		N	SF	P	UNK	1.00	2018	INSTALLED AFTER LEAD BAN	Ϋ́	2018	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1976		N		
EPAL1234 LOU		N	SF	Р	UNK	1.00	2018	INSTALLED AFTER LEAD BAN	Υ	2018	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1976		N		
EPAL1235 LOU		N	SF	P	UNK	1.00	2018	INSTALLED AFTER LEAD BAN	Υ	2018	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1976		N		
EPAL1236 LOU		N	SF	P	UNK	1.00	2018	INSTALLED AFTER LEAD BAN	Υ	2018	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1976		N		
EPAL1237 MA		N N	SF SF	UNK=NOLG UNK=NOLG	UNK		1988		N N			C	0.75	1957	PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER
EPAL1238 MA EPAL1239 MA		N N	SF SF	UNK=NOLG UNK=NOLG	UNK		1988		N N			UNK=NOLG	0.75	1957	PREVIOUS EVAL	N N	2022	VISUAL INSP AT METER
EPAL1240 MA	ES AVE E 1027	N	SF	UNK=NOLG	UNK		1988		N			C	0.75	1957	PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER
EPAL1241 MA		N	NONRES	UNK=NOLG	UNK		1988		N			UNK=NOLG				N		
EPAL1242 MA		N	SF	UNK=NOLG	UNK		1988	4	N			С	0.75	1957	PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER
EPAL1243 MA	ES AVE E 325	N N	SF	UNK=NOLG	UNK	<u> </u>	1988	1	N			UNK=NOLG				N	1	
EPAL1244 MA EPAL1245 MA		N N	SF SF	UNK=NOLG UNK=NOLG	UNK		1988 1988	+	N N			UNK=NOLG P	1.00	1988	INSTALLED AFTER LEAD BAN	N Y	2022	VISUAL INSP AT METER
EPAL1245 MA		N N	SF SF	UNK=NOLG UNK=NOLG	UNK		1988	1	N N			UNK=NOLG	1.00	1300	INSTALLED AT THE LEAD DAIN	N N	2022	VISONE HISE AT WILLER
EPAL1247 MA		N	SF	UNK=NOLG	UNK		1988		N			P	1.00	1988	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER
EPAL1248 MA	ES AVE E 509	N	SF	UNK=NOLG	UNK		1988		N			С	0.75	1957	PREVIOUS EVAL	Υ	2022	VISUAL INSP AT METER
EPAL1249 MA		N	SF	UNK=NOLG	UNK		1988	4	N			UNK=NOLG				N	ļ	<u> </u>
EPAL1250 MA		N N	SF SE	UNK=NOLG UNK=NOLG	UNK	<u> </u>	1988	1	N N			UNK=NOLG UNK=NOLG				N N	1	
EPAL1251 MA EPAL1252 MA		N N	SF SF	UNK=NOLG UNK=NOLG	UNK		1988 1988	+	N N			UNK=NULG	0.75	1957	PREVIOUS EVAL	N Y	2022	VISUAL INSP AT METER
EPAL1253 MA		N	SF	UNK=NOLG	UNK		1988	+	N			UNK=NOLG	0.75	1937	I NEVIGOS EVAL	N N	2022	FISORE HEST AT WILLER
EPAL1254 MA		N	SF	UNK=NOLG	UNK		1988		N			UNK=NOLG				N		
EPAL1255 MA		N	SF	UNK=NOLG	UNK	[1988		N			UNK=NOLG				N	1	
EPAL1256 MA		N	SF	UNK=NOLG	UNK		1988		N			UNK=NOLG				N		
EPAL1257 MA		N	SF	UNK=NOLG	UNK		1988	+	N			L L	0.75	1957	PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER
EPAL1258 MA		N N	SF SF	UNK=NOLG UNK=NOLG	UNK		1988 1988	+	N N			UNK=NOLG UNK=NOLG			1	N N		
EPAL1259 MA EPAL1260 MA		N N	SF SF	UNK=NOLG UNK=NOLG	UNK		1988	1	N N			UNK=NULG	0.75	1957	PREVIOUS EVAL	N Y	2022	VISUAL INSP AT METER
EPAL1261 MA		N	SF	UNK=NOLG	UNK		1988		N			UNK=NOLG	0.75	1331		N	LULL	- compared to compared \$15.0 (\$150 d.) \$415.
EPAL1262 MA		N	SF	UNK=NOLG	UNK		1988		N			C	0.75	1957	PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER
EPAL1263 MA		N	SF	UNK=NOLG	UNK	[1988		N			UNK=NOLG				N	1	
EPAL1264 MA		N	SF	UNK=NOLG	UNK		1988	+	N			C	0.75	1957	PREVIOUS EVAL	Y		VISUAL INSP AT METER
EPAL1265 MA EPAL1266 MA		N N	SF SF	UNK=NOLG UNK=NOLG	UNK		1988 1988	+	N N			P UNK=NOLG	1.00	1988	INSTALLED AFTER LEAD BAN	Y N	2022	VISUAL INSP AT METER
EFALIZOD IVIA		IN	35	OTAK=MOTO	ONK	I	1300		IN		IL	OINK-NULG	1		1	IN	1	

SITE ID	LOCATION ID	LEAD GOOSNEC K	BUILDING TYPE	PUBLIC MATERAIL	WAS PUBLICSIDE EVER LEAD	PUBLIC SIZE	PUBLIC INSTALL	BASIS OF PUBILC MATRERIAL CLASSIFICATION	IC FILED	DATE OF STREET SIDE FIELD VERIFICATIO N	PUBLIC METHOD OF STREET SIDE FIELD VERIFICATION	PRIVATE MATERAIL	PRIVATE SIZE	PRIVATE INSTALL	BASIS OF PRIVATE MATRERIAL CLASSIFICATION	WAS PRIVATE FILED VERFIED	DATE OF PROPERTY SIDE FIELD VERIFICATION	PRIVATE METHOD OF PROPERTY SIDE FIELD VERIFICATION
				PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE
EPAL1267 MAE		N N	SF NONRES	UNK=NOLG UNK=NOLG	UNK		1988 1988		N N			UNK=NOLG				N N		
EPAL1268 MAE EPAL1269 MAE		N N	NONRES	UNK=NOLG	UNK		1988		N N			UNK=NOLG UNK=NOLG				N N		
EPAL1270 MAE	ES AVE E 870	N	NONRES	UNK=NOLG	UNK		1988		N			UNK=NOLG				N		
EPAL1271 MAE	ES AVE E 874	N	SF	UNK=NOLG	UNK		1988		N			UNK=NOLG				N		
EPAL1272 MAE EPAL1273 MAE		N N	SF NONRES	UNK=NOLG UNK=NOLG	UNK		1988 1988		N N			UNK=NOLG UNK=NOLG				N N		
EPAL1274 MAE		N	NONRES	UNK=NOLG	UNK		1988		N			UNK=NOLG				N		
EPAL1275 MAE	ES AVE E 913	N	SF	UNK=NOLG	UNK		1988		N			UNK=NOLG				N		
EPAL1276 MAE		N N	SF SF	UNK=NOLG	UNK		1988		N			UNK=NOLG				N		
EPAL1277 MAE EPAL1278 MAE		N N	SF SF	UNK=NOLG UNK=NOLG	UNK		1988 1988	+	N N			UNK=NOLG UNK=NOLG				N N		
EPAL1279 MAE		N	SF	UNK=NOLG	UNK		1988		N			UNK=NOLG				N		
EPAL1280 MAE		N	SF	UNK=NOLG	UNK		1988		N			UNK=NOLG				N		
EPAL1281 MAE EPAL1282 MAE		N N	SF SF	UNK=NOLG UNK=NOLG	UNK		1988 1988		N N			UNK=NOLG UNK=NOLG				N N		
EPAL1282 IMAE		N	SF	UNK=NOLG	UNK		1988		N N			UNK=NOLG				N		
EPAL1284 MAE		N	SF	UNK=NOLG	UNK		1988		N			UNK=NOLG				N		
EPAL1285 MAI		N	NONRES	UNK=LG	UNK		1945		N			Р	1.00	2022	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER
EPAL1286 MAI EPAL1287 MAI		N N	SF SF	UNK=LG UNK=LG	UNK		1945 1945	+	N N			UNK=LG UNK=LG		1945 1945	 	N N		
EPAL1287 MAI		N	SF	UNK=LG	UNK		1945	+	N			UNK=LG		1945		N		
EPAL1289 MAI	IN ST N 129	N	SF	UNK=LG	UNK		1945		N			UNK=LG		1945		N		
EPAL1290 MAI		N	SF	UNK=LG	UNK		1945	+	N			UNK=LG		1945		N		
EPAL1291 MAI EPAL1292 MAI		N N	SF SF	UNK=LG UNK=LG	UNK		1945 1945	1	N N			UNK=LG	1.00	1945 1945	PREVIOUS EVAL	N Y	2022	VISUAL INSP AT METER
EPAL1293 MAI	IN ST N 136	N	SF	UNK=LG	UNK		1945	 	N			c	1.00	1975	PREVIOUS EVAL	Y		VISUAL INSP AT METER
EPAL1294 MAI	IN ST N 141	N	SF	UNK=LG	UNK		1945		N			UNK=LG		1945		N		
EPAL1295 MAI		N	SF	UNK=LG	UNK		1945		N			L	1.00	1945	PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER
EPAL1296 MAI EPAL1297 MAI		N N	SF NONRES	UNK=LG UNK=LG	UNK		1945 1945		N N			UNK=LG	1.00	1945 1945	PREVIOUS EVAL	N Y	2022	VISUAL INSP AT METER
EPAL1298 MAI	IN ST N 202	N	SF	C	Y	1.00	2006	INSTALLED AFTER LEAD BAN	Y	2006	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2006	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER
EPAL1299 MAI		N	SF	С	Υ	1.00	2006	INSTALLED AFTER LEAD BAN	γ	2006	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL1300 MAI EPAL1301 MAI		N N	SF SF	C	Y	1.00	2006 2006	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2006	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2006 2006	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP AT METER
EPAL1301 MAI	IN ST N 216	N N	NONRES	C	Y	1.00	2006	INSTALLED AFTER LEAD BAN	Y	2006	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2006	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP AT METER
EPAL1303 MAI		N	SF	С	Υ	1.00	2006	INSTALLED AFTER LEAD BAN	γ	2006	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2006	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP AT METER
EPAL1304 MAI		N	SF	С	Υ	1.00	2006	INSTALLED AFTER LEAD BAN	γ	2006	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR
EPAL1305 MAI EPAL1306 MAI		N N	SF SF	C	Y	1.00	2006 2006	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2006 2006	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2006 2006	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP AT METER
EPAL1306 MAI		N N	SF	C	Y	1.00	2006	INSTALLED AFTER LEAD BAN	Y	2006	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00		INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER
EPAL1308 MAI	IN ST N 318	N	SF	C	Υ	1.00	2006	INSTALLED AFTER LEAD BAN	γ	2006	VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL1309 MAI		N	SF	С	Υ	1.00	2006	INSTALLED AFTER LEAD BAN	γ	2006	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL1310 MAI EPAL1311 MAI		N N	SF SE	C	Y	1.00	2006 2006	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2006 2006	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	L P	1.00	1955 2006	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022 2022	VISUAL INSP AT METER VISUAL INSP AT METER
EPAL1312 MAI		N	SF	C	Y	1.00	2006	INSTALLED AFTER LEAD BAN	Y	2006	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00		INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL1313 MAI	IN ST N 412	N	SF	С	Υ	1.00	2006	INSTALLED AFTER LEAD BAN	γ	2006	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2006	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER
EPAL1314 MAI		N	SF	С	Y	1.00	2006	INSTALLED AFTER LEAD BAN	Υ	2006	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL1315 MAI EPAL1316 MAI		N N	SF SE	C	Y V	1.00	2006 2006	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2006 2006	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2022 2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1317 MAI	IN ST S 114	N	SF	UNK=LG	UNK	1.00	1945	INSTALLED AFTER LEAD DAIN	N	2000	VISUAL INST DURING INSTALL ON REPAIR	UNK=LG	1.00	1945	INSTALLED ATTENDEAD DAN	N	2022	VISOAE INST DOMING INSTALE ON REPAIR
EPAL1318 MAI		N	SF	UNK=LG	UNK		1945		N			UNK=LG		1945		N		
EPAL1319 MAI EPAL1320 MAI		N N	SF SE	UNK=LG UNK=LG	UNK		1945 1945		N N			UNK=LG UNK=LG		1945 1945		N N		
EPAL1320 MAI		N N	SF	UNK=LG UNK=LG	UNK		1945		N N			UNK=LG UNK=LG		1945		N N		
EPAL1322 MAI	IN ST S 140	N	SF	UNK=LG	UNK		1945		N			UNK=LG		1945		N		
EPAL1323 MAI		N	SF	UNK=LG	UNK		1945		N			L	1.00	1945	PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER
EPAL1324 MAI EPAL1325 MAI		N N	SF SF	UNK=LG UNK=LG	UNK		1945 1945	+	N N			UNK=LG UNK=LG		1945 1945	1	N N		
EPAL1325 MAI	IN ST S 220	N N	SF SF	UNK=LG UNK=LG	UNK		1945		N N			UNK=LG UNK=LG		1945		N N		
EPAL1327 MAI	IN ST S 221	N	SF	UNK=LG	UNK		1945		N			L	1.00	1945	PREVIOUS EVAL	Υ		VISUAL INSP AT METER
EPAL1328 MAI		N	SF	UNK=LG	UNK		1945	1	N			L	1.00	1945	PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER
EPAL1329 MAI EPAL1330 MAI		N N	SF SF	UNK=LG UNK=LG	UNK	-	1945 1945	+	N N			UNK=LG UNK=LG		1945 1945		N N	-	
EPAL1330 MAI EPAL1331 MAI		N N	SF SF	UNK=LG UNK=LG	UNK		1945		N N			L L	1.00	1945	PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER
EPAL1332 MAI	IN ST S 233	N	SF	UNK=LG	UNK		1945		N			c	1.00	1975	PREVIOUS EVAL	Υ	2022	VISUAL INSP AT METER
EPAL1333 MAI	IN ST S 238	N	SF	UNK=LG	UNK		1945	1	N	-		UNK=LG		1945		N		
EPAL1334 MAI EPAL1335 MAI	IN ST S 239	N N	SF SF	UNK=LG UNK=LG	UNK		1945 1945		N N			UNK=LG	1.00	1945 1945	PREVIOUS EVAL	Y N	2022	VISUAL INSP AT METER
EPAL1335 MAI		N	SF	UNK=LG	UNK		1945	+	N			L L	1.00	1945	PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER
EPAL1337 MAI	IN ST S 304	N	SF	UNK=LG	UNK		1945		N			UNK=LG		1945		N		
EPAL1338 MAI		N	SF	UNK=LG	UNK		1945	1	N			C	1.00	1975	PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER
EPAL1339 MAI EPAL1340 MAI		N N	SF SE	UNK=LG UNK=LG	UNK	-	1945 1945	+	N N			UNK=LG UNK=LG		1945 1945	1	N N		
EPAL1340 MAI		N	SF	UNK=LG	UNK		1945	<u> </u>	N			L	1.00	1945	PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER
EPAL1342 MAI	IN ST S 324	N	SF	UNK=LG	UNK		1945		N			UNK=LG		1945		N		
EPAL1343 MAI		N N	SF SF	UNK=LG	UNK	-	1945	1	N N			UNK=LG		1945		N N		
EPAL1344 MAI EPAL1345 MAI		N N	SF SF	UNK=LG UNK=LG	UNK	 	1945 1945	+	N N			UNK=LG UNK=LG		1945 1945		N N		
EPAL1345 MAI		N	SF	UNK=LG	UNK		1945		N			UNK=LG		1945		N		
EPAL1347 MAI		N	SF	UNK=LG	UNK		1945		N			UNK=LG		1945		N		
		N	SE	UNK=LG	UNK	1	1945	(N			UNK=LG	1	1945	1	N	1	
EPAL1348 MAI EPAL1349 MAI		N N	SF	UNK=LG UNK=LG	UNK		1945		N			UNK=LG		1945		N		

SITE ID	LOCATION ID	LEAD BUILDING GOOSNEC TYPE K	6 PUBLIC MATERAIL	WAS PUBLICSIDE EVER LEAD	PUBLIC SIZE	PUBLIC INSTALL	BASIS OF PUBILC MATRERIAL CLASSIFICATION	WASPUBL IC FILED VERFIED	DATE OF STREET SIDE FIELD VERIFICATIO N	PUBLIC METHOD OF STREET SIDE FIELD VERIFICATION	PRIVATE MATERAIL	PRIVATE SIZE	PRIVATE INSTALL	BASIS OF PRIVATE MATRERIAL CLASSIFICATION	WAS PRIVATE FILED VERFIED	DATE OF PROPERTY SIDE FIELD VERIFICATION	PRIVATE METHOD OF PROPERTY SIDE FIELD VERIFICATION
l		1 1	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE
	MAIN ST S 415 MAIN ST S 416	N SF	UNK=LG UNK=LG	UNK		1945 1945		N N			UNK=LG UNK=LG		1945 1945		N N		
EPAL1353 M	MAIN ST S 421	N SF	UNK=LG	UNK		1945		N			UNK=LG		1945		N		
	MAIN ST S 422 MAIN ST S 427	N SF N SF	UNK=LG UNK=LG	UNK		1945 1945		N N			UNK=LG UNK=LG		1945 1945		N N		
	MAIN ST S 428	N SF	UNK=LG	UNK		1945		N			UNK=LG		1945		N N		
	MAPLE ST S 115	N	Р	UNK	1.00	2014	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2014	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP AT METER
	MAPLE ST S 121 MAPLE ST S 127	N SF N SF	P	UNK	1.00	2014 2014	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022 2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1360 M	MAPLE ST S 133	N SF	P	UNK	1.00	2014	INSTALLED AFTER LEAD BAN	Υ	2014	VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1957	INSTALLATION RECORD	Υ		VISUAL INSP DURING INSTALL OR REPAIR
	MAPLE ST S 139	N SF N SF	P P	UNK	1.00	2014	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=LG P		1957		N Y	2022	
	MAPLE ST S 214 MAPLE ST S 215	N SF	P	UNK	1.00	2014 2014	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	MAPLE ST S 220	N SF	Р	UNK	1.00	2014	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2022	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR
	MAPLE ST S 221 MAPLE ST S 226	N SF	P	UNK	1.00	2014 2014	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2022 2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022 2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	MAPLE ST S 227	N SF	P	UNK	1.00	2014	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
	MAPLE ST S 232	N SF	P	UNK	1.00	2014	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
	MAPLE ST S 233 MAPLE ST S 238	N SF	P	UNK	1.00	2014 2014	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2014 2014	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022 2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1371 M	MAPLE ST S 239	N SF	P	UNK	1.00	2014	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP DURING INSTALL OR REPAIR
	MAPLE ST S 244	N SF N SF	P	UNK	1.00	2014	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
	MAPLE ST S 245 MAPLE ST S 303	N SF	P	UNK	1.00	2014 2014	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=LG	1.00	2022 1957	INSTALLED AFTER LEAD BAN	N N	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1375	MAPLE ST S 304	N SF	P	UNK	1.00	2014	INSTALLED AFTER LEAD BAN	Υ	2014	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
	MAPLE ST S 309 MAPLE ST S 310	N SF N SF	P P	UNK	1.00	2014 2014	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00 0.75	2022 1957	INSTALLED AFTER LEAD BAN INSTALLATION RECORD	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1377 P	MAPLE ST S 315	N SF	P	UNK	1.00	2014	INSTALLED AFTER LEAD BAN	Y	2014	VISUAL INSP DURING INSTALL OR REPAIR	C	0.75	1957	INSTALLATION RECORD	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1379 N	MAPLE ST S 320	N SF	Р	UNK	1.00	2014	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2022	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR
	MAPLE ST S 321 MAPLE ST S 326	N SF	P	UNK	1.00	2014 2014	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2022 2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1382	MAPLE ST S 327	N SF	P	UNK	1.00	2014	INSTALLED AFTER LEAD BAN	γ	2014	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
	MAPLE ST S 332	N SF	P	UNK	1.00	2014	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
	MAPLE ST S 333 MAPLE ST S 338	N SF N SF	P P	UNK	1.00	2014 2014	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2022 2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1386	MAPLE ST S 339	N SF	P	UNK	1.00	2014	INSTALLED AFTER LEAD BAN	Y	2014	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Ϋ́	2022	VISUAL INSP DURING INSTALL OR REPAIR
	MAPLE ST S 414	N SF	P	UNK	1.00	2014	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
	MAPLE ST S 415 MAPLE ST S 420	N SF N SF	P	UNK	1.00	2014 2014	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2022 2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	MARCELLA ST 265	N NONRES	UNK=NOLG	UNK		1974		N			UNK=NOLG		1974		N		
	MARCELLA ST 337 MARCELLA ST 345	N NONRES		UNK		1974 1974		N N			UNK=NOLG UNK=NOLG		1974 1974		N N		
	MARCELLA ST 351-355	N NONRES				1974		N			UNK=NOLG		1974		N		
	MARCELLA ST 401	N NONRES		UNK		1974		N			UNK=NOLG		1974		N		
	MARCELLA ST 407 MARCELLA ST 409	N NONRES	UNK=NOLG UNK=NOLG	UNK		1974 1974		N N			UNK=NOLG UNK=NOLG		1974 1974		N N		
EPAL1397	MARCELLA ST 413	N NONRES				1974		N			UNK=NOLG		1974		N		
EPAL1398 P	MARCELLA ST 417 MARCELLA ST 421	N NONRES	UNK=NOLG	UNK		1974 1974		N N			UNK=NOLG UNK=NOLG		1974 1974		N N		
	MARCELLA ST 503	N NONRES	UNK=NOLG	UNK		1974		N			UNK=NOLG		1974		N N		
	MARCELLA ST 551	N NONRES				1974		N			UNK=NOLG		1974		N		
	MARCELLA ST 557 MARCELLA ST 571	N NONRES	UNK=NOLG UNK=NOLG	UNK		1974 1974		N N			UNK=NOLG UNK=NOLG		1974 1974		N N		
	MARCELLA ST 575	N NONRES		UNK		1974		N			UNK=NOLG		1974		N		
	MATTHEW ST S 221	N SF	UNK=NOLG	UNK		1959		N			UNK=NOLG		1959		N N		
	MATTHEW ST S 222 MATTHEW ST S 227	N SF	UNK=NOLG UNK=NOLG	UNK		1959 1959		N N			UNK=NOLG UNK=NOLG		1959 1959		N N		
EPAL1408	MATTHEW ST S 228	N SF	UNK=NOLG	UNK		1959		N			UNK=NOLG		1959		N		
	MATTHEW ST S 233 MATTHEW ST S 234	N SF N SF	UNK=NOLG UNK=NOLG	UNK		1959 1959		N N			UNK=NOLG UNK=NOLG		1959 1959		N N		
EPAL1411	MATTHEW ST S 239	N SF	UNK=NOLG	UNK		1959		N			UNK=NOLG		1959		N		
EPAL1412	MATTHEW ST S 240	N SF	UNK=NOLG	UNK		1959		N	1		UNK=NOLG	1	1959		N		
	MATTHEW ST S 245 MATTHEW ST S 303	N SF N SF	UNK=NOLG UNK=NOLG	UNK		1959 1959		N N			UNK=NOLG UNK=NOLG		1959 1959		N N		
EPAL1415	MATTHEW ST S 304	N SF	UNK=NOLG	UNK		1959		N			UNK=NOLG		1959		N		
	MATTHEW ST S 309	N SF	UNK=NOLG			1959		N			UNK=NOLG		1959		N		
	MATTHEW ST S 310 MATTHEW ST S 315	N SF N SF	UNK=NOLG UNK=NOLG			1959 1959		N N			UNK=NOLG UNK=NOLG		1959 1959		N N		
EPAL1419	MATTHEW ST S 316	N SF	UNK=NOLG	UNK		1959		N			UNK=NOLG		1959		N		
	MATTHEW ST S 321 MATTHEW ST S 322	N SF N SF	UNK=NOLG UNK=NOLG	UNK	1	1959 1959		N N			UNK=NOLG UNK=NOLG		1959 1959		N N		
	MATTHEW ST S 322 MATTHEW ST S 327	N SF	UNK=NOLG UNK=NOLG			1959		N N	1		UNK=NOLG UNK=NOLG		1959		N N		
EPAL1423	MATTHEW ST S 328	N SF	UNK=NOLG	UNK		1959		N			UNK=NOLG		1959		N		
	MATTHEW ST S 334 MATTHEW ST S 335	N SF N SF	UNK=NOLG UNK=NOLG			1959 1959		N N			UNK=NOLG UNK=NOLG		1959 1959		N N		
EPAL1426	MATTHEW ST S 340	N SF	UNK=NOLG	UNK		1959		N			UNK=NOLG		1959		N		
	MATTHEW ST S 343	N SF	UNK=NOLG	UNK		1959		N	1		UNK=NOLG	1	1959		N		
	MATTHEW ST S 346 MATTHEW ST S 350	N SF N SF	UNK=NOLG UNK=NOLG	UNK		1959 1959	 	N N	1		UNK=NOLG UNK=NOLG		1959 1959		N N		
EPAL1430	MATTHEW ST S 351	N SF	UNK=NOLG	UNK		1959		N			UNK=NOLG		1959		N		
	MATTHEW ST S 403	N SF	UNK=NOLG	UNK		1959		N			UNK=NOLG		1959		N		
	MATTHEW ST S 404 MATTHEW ST S 409	N SF N SF	UNK=NOLG UNK=NOLG	UNK		1959 1959		N N			UNK=NOLG UNK=NOLG		1959 1959		N N		
	MATTHEW ST S 410	N SF	UNK=NOLG			1959		N			UNK=NOLG		1959		N		
				, ,,,,,			•										

SITE ID	LOCATION ID	LEAD GOOSNEC K	BUILDING TYPE	PUBLIC MATERAIL	WAS PUBLICSIDE EVER LEAD	PUBLIC SIZE	PUBLIC INSTALL	BASIS OF PUBILC MATRERIAL CLASSIFICATION	WASPUBL STRE	ATE OF EET SIDE FIELD IFICATIO N	PUBLIC METHOD OF STREET SIDE FIELD VERIFICATION	PRIVATE MATERAIL	PRIVATE SIZE	PRIVATE INSTALL	BASIS OF PRIVATE MATRERIAL CLASSIFICATION	WAS PRIVATE FILED VERFIED	DATE OF PROPERTY SIDE FIELD VERIFICATION	PRIVATE METHOD OF PROPERTY SIDE FIELD VERIFICATION
		_		PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC		UBLIC	PUBLIC	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE
	ATTHEW ST S 415 ATTHEW ST S 421	N N	SF SF	UNK=NOLG UNK=NOLG	UNK		1959 1959		N N			UNK=NOLG UNK=NOLG		1959 1959		N N		
EPAL1437 MA	ATTHEW ST S 422	N	SF	UNK=NOLG	UNK		1959		N			UNK=NOLG		1959		N		
	ATTHEW ST S 427 ATTHEW ST S 428	N	SF	UNK=NOLG	UNK		1959		N N			UNK=NOLG		1959		N		
	ATTHEW ST S 428	N N	SF SF	UNK=NOLG UNK=NOLG	UNK		1959 1959		N N			UNK=NOLG UNK=NOLG		1959 1959		N N		
	ATTHEW ST S 434	N	SF	UNK=NOLG	UNK		1959		N			UNK=NOLG		1959		N		
EPAL1442 ML EPAL1443 OA	JNICIPAL CENTER	N N	MIX	C P	Y N	1.00	2007	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2007	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER VISUAL INSP DURING INSTALL OR REPAIR
EPAL1444 OA		N	SF	P	N	1.00		INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL1445 OA		N	SF	Р	N	1.00	2003	INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2003	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR
EPAL1446 OA EPAL1447 OA		N N	SF SF	P P	N N	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2003	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1448 OA	K ST E 618	N	SF	P	N	1.00	2003	INSTALLED AFTER LEAD BAN	Υ 2	2003	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2003	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1449 OA	K ST E 624 HKOSH WAY 212	N N	SF SF	P P	N N	1.00	2003	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2003	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	HKOSH WAY 212	N N	SF SF	P	N N	1.00		INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2017	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	HKOSH WAY 220	N	SF	P	N	1.00		INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2017	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR
	HKOSH WAY 222 HKOSH WAY 300	N N	SF SF	P P	N N	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2017	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	HKOSH WAY 302	N	SF	P	N N	1.00		INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2017	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL1456 OSI	HKOSH WAY 306	N	SF	P	N	1.00		INSTALLED AFTER LEAD BAN		2017	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2017	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
	HKOSH WAY 308 PERMAKER DR 300	N N	SF SF	P	N N	1.00 0.75		INSTALLED AFTER LEAD BAN Installation record			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P UNK=NOLG	1.00	2017 1976	INSTALLED AFTER LEAD BAN	Y N	2017	VISUAL INSP DURING INSTALL OR REPAIR
	PERMAKER DR 301	N	SF	C	N N	0.75		Installation record			VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1976		N		
	PERMAKER DR 306	N	SF	С	N	0.75	1976	Installation record			VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1976		N		
	PERMAKER DR 307 PERMAKER DR 312	N N	SF SF	C	N N	0.75 0.75		Installation record Installation record			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1976 1976		N N		
	PERMAKER DR 313	N	SF	C	N	0.75		Installation record			VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1976		N		
	PERMAKER DR 400	N	SF	C	N	0.75		Installation record			VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1976		N		
	PERMAKER DR 401 PERMAKER DR 406	N N	SF SF	C	N N	0.75 0.75		Installation record Installation record			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1976 1976		N N		
EPAL1467 PAI	PERMAKER DR 407	N	SF	c	N	0.75		Installation record			VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1976		N		
	PERMAKER DR 412	N N	SF SE	C	N N	0.75		Installation record			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1976 1976		N N		
	PERMAKER DR 413 PERMAKER DR 418	N N	SF SF	C	N N	0.75	1976 1976	Installation record Installation record			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1976		N N		
EPAL1471 PAI	PERMAKER DR 419	N	SF	C	N	0.75	1976	Installation record		1976	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1976		N		
	PERMILL CIRCLE 455 PERMILL CIRCLE 457	N N	SF MF	P P	N N	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2018	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	PERMILL CIRCLE 457 PERMILL CIRCLE 459	N N	MF	P	N N	1.00		INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1475 PAI	PERMILL CIRCLE 461	N	MF	P	N	1.00	2018	INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018	INSTALLED AFTER LEAD BAN	Υ	2018	VISUAL INSP DURING INSTALL OR REPAIR
	PERMILL CIRCLE 463 PERMILL CIRCLE 465	N N	MF MF	P P	N N	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2018	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	PERMILL CIRCLE 467	N	MF	P	N	1.00		INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR	P	1.00		INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL1479 PAI	PERMILL CIRCLE 469	N	MF	Р	N	1.00	2018	INSTALLED AFTER LEAD BAN		2018	VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2018	INSTALLED AFTER LEAD BAN	Υ	2018	VISUAL INSP DURING INSTALL OR REPAIR
	PERMILL CIRCLE 471 PERMILL CIRCLE 477	N N	MF SF	P P	N N	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2018	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	PERMILL CIRCLE 479	N	SF	P	N	1.00		INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
	PERMILL CIRCLE 481	N	SF	P	N	1.00	2018	INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR
	PERMILL CIRCLE 483 PERMILL CIRCLE 485	N N	SF SF	P P	N N	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1486 PAI	PERMILL CIRCLE 487	N	SF	P	N	1.00	2018	INSTALLED AFTER LEAD BAN	Υ :	2018	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018	INSTALLED AFTER LEAD BAN	Y	2018	VISUAL INSP DURING INSTALL OR REPAIR
	PERMILL CIRCLE 489	N	SF SF	P	N	1.00	2018	INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	PERMILL CIRCLE 491 PERMILL RUN E 200	N N	SF SF	P	N N	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018 2018	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1490 PAI	PERMILL RUN E 500	N	MF	P	N	1.00	2018	INSTALLED AFTER LEAD BAN	Υ :	2018	VISUAL INSP DURING INSTALL OR REPAIR	P	1.50	2018	INSTALLED AFTER LEAD BAN	Υ	2018	VISUAL INSP DURING INSTALL OR REPAIR
	PERMILL RUN E 520 PERMILL RUN W 112	N N	MF MF	P	N N	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.50 3.00	2018	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	PERMILL RUN W 112 PERMILL RUN W 200	N N	SF	P	N N	1.00		INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	PERMILL RUN W 300	N	MF	Р	N	1.00		INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR	Р	2.00	2018	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
	PERMILL RUN W 400 PERMILL RUN W 415	N N	MF SF	P P	N N	1.00	2018	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	2.00 1.00	2018	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	PERMILL RUN W 425	N	SF	P	N	1.00		INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018	INSTALLED AFTER LEAD BAN	Y	2018	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1498 PAR		N N	SF	C	N	1.00		INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1995	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL1499 PAI	RKSIDE CT 201 RKSIDE CT 202	N N	SF SF	C	N N	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C C	1.00	1995 1995	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1501 PAI	RKSIDE CT 203	N	SF	C	N	1.00	1995	INSTALLED AFTER LEAD BAN	Υ :	1995	VISUAL INSP DURING INSTALL OR REPAIR	Č	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1502 PAI		N N	SF SF	C	N	1.00		INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR	С	1.00		INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL1503 PAI EPAL1504 PAI		N N	SF SF	C	N N	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995 1995	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1505 PAR	RKSIDE CT 211	N	SF	Č	N	1.00	1995	INSTALLED AFTER LEAD BAN	Υ :	1995	VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	1995	INSTALLED AFTER LEAD BAN	Ϋ́	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1506 PAI EPAL1507 PAI		N N	SF SF	C	N N	1.00		INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	RKSIDE CT 217 RKSIDE CT 219	N N	SF SF	C	N N	1.00	1995	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995 1995	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	r Y	1995	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1509 PAI	RKSIDE CT 225	N	SF	C	N	1.00	1995	INSTALLED AFTER LEAD BAN	Υ :	1995	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1510 PAI EPAL1511 PAI		N N	SF SF	C	N N	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1995 1995	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPALISII PAI		N N	SF	C	N N	1.00		INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1513 PAR	RKSIDE CT 241	N	SF	С	N	1.00		INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR
EPAL1514 PAI EPAL1515 PAI		N N	SF SF	C	N N	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995 1995	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	RKSIDE CT 302	N N	SF	C	N N	1.00	1995	INSTALLED AFTER LEAD BAN			VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995	INSTALLED AFTER LEAD BAN	Ý	1995	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1517 PAI	RKSIDE CT 304	N	SF	C	N	1.00	1995	INSTALLED AFTER LEAD BAN	Υ :	1995	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1995	INSTALLED AFTER LEAD BAN	Υ	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1518 PAI	KKSIDE CT 310	N	SF	C	N	1.00	1995	INSTALLED AFTER LEAD BAN	Υ :	1995	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1995	INSTALLED AFTER LEAD BAN	Υ	1995	VISUAL INSP DURING INSTALL OR REPAIR

SITE ID	LOCATION ID	LEAD GOOSNEC K	BUILDING TYPE	PUBLIC MATERAIL	WAS PUBLICSIDE EVER LEAD		PUBLIC INSTALL	BASIS OF PUBILC MATRERIAL CLASSIFICATION	IC FILED	DATE OF STREET SIDE FIELD VERIFICATIO N	PUBLIC METHOD OF STREET SIDE FIELD VERIFICATION	PRIVATE MATERAIL	PRIVATE SIZE	PRIVATE INSTALL	BASIS OF PRIVATE MATRERIAL CLASSIFICATION	WAS PRIVATE FILED VERFIED	DATE OF PROPERTY SIDE FIELD VERIFICATION	PRIVATE METHOD OF PROPERTY SIDE FIELD VERIFICATION
				PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE
EPAL1519 PAR		N	SF	С	N	1.00		INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00		INSTALLED AFTER LEAD BAN	Υ	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1520 PAR		N	SF	С	N	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1521 PAR EPAL1522 PAR		N	SF	C	N	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1522 PAR EPAL1523 PAR		N N	SF SF	C	N N	1.00	1995 1995	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1995 1995	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995 1995	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1995 1995	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1524 PAR	RKSIDE CT 328	N	SF	c	N N	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1525 PAR		N	SF	c	N	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1526 PAR		N	SF	С	N	1.00	1995	INSTALLED AFTER LEAD BAN	Υ	1995	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1527 PAR	RKSIDE CT 344	N	SF	С	N	1.00	1995	INSTALLED AFTER LEAD BAN	Υ	1995	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1995	INSTALLED AFTER LEAD BAN	Υ	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1528 PAR		N	SF	С	N	1.00	1995	INSTALLED AFTER LEAD BAN	Υ	1995	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1529 PAR		N	SF	С	N	1.00	1995	INSTALLED AFTER LEAD BAN	Υ	1995	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1530 PAR		N N	SF SF	C	N N	1.00	1995	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1995 1995	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995 1995	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1995 1995	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1531 PAR EPAL1532 PAR	RKVIEW LN 309	N N	SF	C	N N	1.00	1995 1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00		INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1533 PAR		N	SF	Č	N N	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR	Č	1.00	1995	INSTALLED AFTER LEAD BAN	Υ Υ	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1534 PAR		N	SF	c	N	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1535 PAR	RKVIEW LN 325	N	SF	С	N	1.00	1995	INSTALLED AFTER LEAD BAN	Υ	1995	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1536 PAR	RKVIEW LN 327	N	SF	C	N	1.00	1995	INSTALLED AFTER LEAD BAN	Υ	1995	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1995	INSTALLED AFTER LEAD BAN	Υ	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1537 PAR		N	SF	C	N	1.00	1995	INSTALLED AFTER LEAD BAN	Υ	1995	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1538 PAR		N	SF	С	N	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1539 PAR		N	SF	C	N	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1540 PAR EPAL1541 PAR		N N	SF SF		N N	1.00	1995 1995	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1995 1995	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR		1.00	1995 1995	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1995 1995	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1541 PAR EPAL1542 PAT		N N	SF SF	UNK=NOLG		1.00	1995	INDIALLED AFTER LEAD BAIN	N N	1992	VISUAL INSP DURING INSTALL UK KEPAIR	UNK=NOLG	1.00	1995	INDIALLED AFTER LEAD BAN	N N	1992	VIJORE INSP DURING INSTALL OR REPAIR
EPAL1543 PAT		N	SF	UNK=NOLG			1957		N			UNK=NOLG	1	1957		N N		
EPAL1544 PAT		N	SF	UNK=NOLG			1957		N			UNK=NOLG		1957		N		
EPAL1545 PAT	TRICK ST S 219	N	SF	UNK=NOLG			1957		N			UNK=NOLG		1957		N		
EPAL1546 PAT	TRICK ST S 226	N	SF	UNK=NOLG			1957		N			UNK=NOLG		1957		N		
EPAL1547 PAT		N	SF	UNK=NOLG		1	1957		N			UNK=NOLG		1957		N		
EPAL1548 PAT		N	SF	UNK=NOLG			1957		N			UNK=NOLG		1957		N		
EPAL1549 PAT EPAL1550 PAT		N N	SF SF	UNK=NOLG UNK=NOLG			1957 1957		N N			UNK=NOLG UNK=NOLG		1957 1957		N N		
EPAL1551 PAT		N N	SF.	UNK=NOLG			1957		N N			UNK=NOLG		1957		N N		
EPAL1552 PAT		N	SF	UNK=NOLG			1957		N			UNK=NOLG		1957		N		
EPAL1553 PAT		N	SF	UNK=NOLG			1957		N			UNK=NOLG		1957		N		
EPAL1554 PAT	TRICK ST S 258	N	SF	UNK=NOLG			1957		N			UNK=NOLG		1957		N		
EPAL1555 PAT		N	SF	UNK=NOLG	UNK		1957		N			UNK=NOLG		1957		N		
EPAL1556 PAT		N	SF	UNK=NOLG			1957		N			UNK=NOLG		1957		N		
EPAL1557 PAT		N	SF SF	UNK=NOLG			1957		N			UNK=NOLG		1957		N		
EPAL1558 PAT EPAL1559 PAT		N N	SF SF	UNK=NOLG			1957 1957		N N			UNK=NOLG UNK=NOLG		1957 1957		N N		
EPAL1559 PAT		N N	SF SF	UNK=NOLG			1957		N			UNK=NOLG UNK=NOLG		1957		N N		
EPAL1561 PAT		N	SF	UNK=NOLG			1957		N			UNK=NOLG		1957		N		
EPAL1562 PAT		N	SF	UNK=NOLG		1	1957		N			UNK=NOLG		1957		N		
EPAL1563 PAT		N	SF	UNK=NOLG	UNK		1957		N			UNK=NOLG		1957		N		
EPAL1564 PAT		N	SF	UNK=NOLG			1957		N			UNK=NOLG		1957		N		
EPAL1565 PAT		N	SF	UNK=NOLG			1957		N			UNK=NOLG		1957		N		
EPAL1566 PAT		N N	SF SF	UNK=NOLG			1957 1957		N N			UNK=NOLG UNK=NOLG		1957 1957		N N		
EPAL1567 PAT		N N	SF SF	UNK=NOLG	UNK		1957		N N			UNK=NOLG UNK=NOLG		1957		N N		
EPAL1569 PAU		N	SF	P P	N N	1.00	2019	INSTALLED AFTER LEAD BAN	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR	C C	1.00	1974	INSTALLATION RECORD	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1570 PAU		N	SF	P	N	1.00	2019	INSTALLED AFTER LEAD BAN	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974	INSTALLATION RECORD	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1571 PAU	JL DR 206	N	SF	P	N	1.00	2019	INSTALLED AFTER LEAD BAN	Υ	2019	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1974	INSTALLATION RECORD	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1572 PAU		N	SF	P	N	1.00	2019	INSTALLED AFTER LEAD BAN	Υ	2019	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1974	INSTALLATION RECORD	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1573 PAL		N	SF	P	N	1.00	2019	INSTALLED AFTER LEAD BAN	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974	INSTALLATION RECORD	Υ	2019	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1574 PAU		N	SF	P P	N	1.00	2019	INSTALLED AFTER LEAD BAN	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00		INSTALLATION RECORD	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1575 PAU EPAL1576 PAU		N N	SF SF	P	N N	1.00	2019	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974 1974	INSTALLATION RECORD	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1577 PAL		N	SF	P	N	1.00	2019	INSTALLED AFTER LEAD BAN	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR	c	1.00		INSTALLATION RECORD	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1578 PAL		N	SF	P	N	1.00	2019	INSTALLED AFTER LEAD BAN	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	1974	INSTALLATION RECORD	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1579 PAL	JL DR 224	N	SF	P	N	1.00	2019	INSTALLED AFTER LEAD BAN	Υ	2019	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1974	INSTALLATION RECORD	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1580 PAL		N	SF	P	N	1.00	2019	INSTALLED AFTER LEAD BAN	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1974	INSTALLATION RECORD	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1581 PAU		N	SF	Р	N	1.00	2019	INSTALLED AFTER LEAD BAN	Υ	2019	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974	INSTALLATION RECORD	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1582 PAU EPAL1583 PAU		N N	SF SF	P	N	1.00	2019 2019	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974 1974	INSTALLATION RECORD	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1583 PAL		N N	SF SF	P	N N	1.00	2019	INSTALLED AFTER LEAD BAN	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C C	1.00	1974	INSTALLATION RECORD	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1584 PAU		N N	SF	P	N N	1.00	2019	INSTALLED AFTER LEAD BAN	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	,	1.00		INSTALLATION RECORD	v v	2019	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1586 PAL		N	SF	P	N	1.00	2019	INSTALLED AFTER LEAD BAN	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR	Č	1.00		INSTALLATION RECORD	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1587 PAL		N	SF	P	N	1.00	2019	INSTALLED AFTER LEAD BAN	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR	Č	1.00		INSTALLATION RECORD	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1588 PAU		N	SF	Р	N	1.00	2019	INSTALLED AFTER LEAD BAN	Υ	2019	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974	INSTALLATION RECORD	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1589 PAU		N	SF	Р	N	1.00	2019	INSTALLED AFTER LEAD BAN	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1974	INSTALLATION RECORD	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1590 PAU		N	SF	P	N	1.00	2019	INSTALLED AFTER LEAD BAN	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00		INSTALLATION RECORD	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1591 PAU EPAL1592 PAU		N N	SF SF	P	N N	1.00	2019	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974	INSTALLATION RECORD	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1592 PAU EPAL1593 PAU		N N	SF SF	P	N N	1.00	2019	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C C	1.00	1974 1974	INSTALLATION RECORD	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1593 PAU		N N	SF	P	N N	1.00	2019	INSTALLED AFTER LEAD BAN	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974	INSTALLATION RECORD	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1595 PAU		N	SF	P	N	1.00	2019	INSTALLED AFTER LEAD BAN	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR	Č	1.00	1974	INSTALLATION RECORD	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1596 PAU		N	SF	P	N	1.00	2019	INSTALLED AFTER LEAD BAN	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974	INSTALLATION RECORD	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1597 PAL	JL DR 351	N	SF	P	N	1.00	2019	INSTALLED AFTER LEAD BAN	Υ	2019	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1974	INSTALLATION RECORD	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1598 PAL		N	SF	Р	N	1.00	2019	INSTALLED AFTER LEAD BAN	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1974	INSTALLATION RECORD	Υ	2019	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1599 PAL		N	SF	P	N	1.00	2019	INSTALLED AFTER LEAD BAN	Υ	2019	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974	INSTALLATION RECORD	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1600 PAL		N	SF	P	N	1.00	2019	INSTALLED AFTER LEAD BAN	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974	INSTALLATION RECORD	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1601 PAU EPAL1602 PAU		N N	SF SF	P	N N	1.00	2019 2019	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2019 2019	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00		INSTALLATION RECORD INSTALLATION RECORD	Y	2019 2019	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
CENTIOUZ PAU	JE DIN 304	IN	ı ər	, r	IN	1.00	2013	INDIVIDUE OF THE LEAD DAIN	1 1	2013	VISONE INST DOMING INSTALL OR REPAIR		1.00	13/4	INSTALLATION RECORD		2013	VISONE INST DOMING INSTALL OR REPAIR

SITE ID	LOCATION ID	LEAD BUILDING GOOSNEC TYPE	PUBLIC MATERAIL	WAS PUBLICSIDE EVER LEAD	PUBLIC SIZE	PUBLIC INSTALL	BASIS OF PUBILC MATRERIAL CLASSIFICATION	WASPUBL IC FILED VERFIED	DATE OF STREET SIDE FIELD VERIFICATIO N	PUBLIC METHOD OF STREET SIDE FIELD VERIFICATION	PRIVATE MATERAIL	PRIVATE SIZE	PRIVATE INSTALL	BASIS OF PRIVATE MATRERIAL CLASSIFICATION	WAS PRIVATE FILED VERFIED	DATE OF PROPERTY SIDE FIELD VERIFICATION	PRIVATE METHOD OF PROPERTY SIDE FIELD VERIFICATION
			PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE
	PAUL DR 369 PAUL DR 370	N SF	P	N N	1.00	2019 2019	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974 1974	INSTALLATION RECORD INSTALLATION RECORD	Y	2019 2019	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	PAUL DR 375	N SF	P	N	1.00	2019	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974	INSTALLATION RECORD	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR
	PAUL DR 376	N SF	P	N	1.00	2019	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1974	INSTALLATION RECORD	Υ	2019	VISUAL INSP DURING INSTALL OR REPAIR
	PAUL DR 381 PAUL DR 382	N SF N SE	P P	N N	1.00	2019	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974	INSTALLATION RECORD	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	PAUL DR 390	N SF	P	N N	1.00	2019	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974	INSTALLATION RECORD	Y	2019	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	PAUL DR 396	N SF	Р	N	1.00	2019	INSTALLED AFTER LEAD BAN	Υ	2019	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1974	INSTALLATION RECORD	Υ	2019	VISUAL INSP DURING INSTALL OR REPAIR
	PINE ST N 304 PINE ST N 305	N SF N SF	P P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1612	PINE ST N 305 PINE ST N 309	N MIX	C	V	1.00	2003	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2003	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP AT METER
EPAL1614	PINE ST N 312	N SF	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
	PINE ST N 313	N SF	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2022	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1616	PINE ST N 320 PINE ST N 321	N SF N SF	P P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2003	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1618	PINE ST N 326	N SF	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN	Y	2003	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1619	PINE ST N 327	N SF	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2003	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP DURING INSTALL OR REPAIR
	PINE ST N 331 PINE ST N 336	N SF N SF	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2003	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1621	PINE ST N 337	N SF	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=LG	1.00	2003	INSTALLED AFTER LEAD BAIN	N	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1623	PINE ST N 343	N SF	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN	Υ	2003	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2003	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
	PINE ST N 351	N SF N SE	P P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2003	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1625 EPAL1626	PINE ST N 352 PINE ST N 356	N SF N SF	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2003	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2003	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1627	PINE ST N 358	N SF	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	2003	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
	PINE ST N 360	N SF	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2003	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1629 EPAL1630	PINE ST N 364 PINE ST N 368	N SF N SF	P P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2003	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022 2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	PINE ST N 375	N SF	Р	UNK	1.00	2003	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	2003	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
	PINE ST N 377	N SF	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2003	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1633 EPAL1634	PINE ST N 379 PINE ST N 381	N SF N SF	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2003	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1635	PINE ST N 383	N SF	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2003	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
	PINE ST S 114	N SF	Р	UNK	1.00	2003	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2022	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP DURING INSTALL OR REPAIR
	PINE ST S 115	N SF N SF	P P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2003	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1638	PINE ST S 118-120 PINE ST S 121	N SF	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2003	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	PINE ST S 126	N SF	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
	PINE ST S 127	N SF N SE	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2003	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1642 EPAL1643	PINE ST S 132 PINE ST S 133	N SF N SF	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	PINE ST S 138	N SF	Р	UNK	1.00	2003	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2022	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1645	PINE ST S 139	N SF	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2003	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1646 EPAL1647	PINE ST S 145 PINE ST S 202	N SF N SCH/CC	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2003	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2003	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1648	PINE ST S 203	N SF	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN	Y	2003	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
	PINE ST S 207	N SF	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2022	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1650 EPAL1650.5	PINE ST S 208 A PINE ST S 208 B	N SCH/CC N SCH/CC	P P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	PINE ST S 215	N SF	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1652	PINE ST S 221	N SF	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1653 EPAL1654	PINE ST S 226 PINE ST S 227	N SCH/CC N SF	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2003	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2003	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1654 EPAL1655	PINE ST S 232	N SF	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN	Y	2003	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2022	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	PINE ST S 233	N SF	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN	Υ	2003	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1657 EPAL1658	PINE ST S 238 PINE ST S 239	N SF N SF	P P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2003	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1658	PINE ST S 239 PINE ST S 244	N SF	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN	Y	2003	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1660	PINE ST S 245	N SF	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN	Υ	2003	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2003	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
	PINE ST S 251	N SF	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2003	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1662 EPAL1663	PINE ST S 303 PINE ST S 307	N SF N SF	P P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2003	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2003	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1664	PINE ST S 314	N SF	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN	Υ	2003	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2003	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP DURING INSTALL OR REPAIR
	PINE ST S 315	N SF N SE	P P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2003	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1666 EPAL1667	PINE ST S 321 PINE ST S 326	N SF N SF	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2003	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	PINE ST S 327	N SF	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	c c	1.00	2003	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
	PINE ST S 330	N SF	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2003	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1670 EPAL1671	PINE ST S 332 PINE ST S 333	N SF N SF	P P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	PINE ST S 338	N SF	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2003	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	PINE ST S 339	N SF	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1674 EPAL1675	PINE ST S 344 PINE ST S 345	N SF N SF	P	UNK	1.00	2003	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	RAILROAD ST S 103	N SF	UNK=NOLG	UNK	1.00	2003 1983	INDIALLED AFTER LEAD BAN	N N	2003	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG	1.00	1983	INSTALLED AFTER LEAD BAN	N N	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1677	RAILROAD ST S 105	N SF	UNK=NOLG	UNK		1983		N			UNK=NOLG		1983		N		
EPAL1678 EPAL1679	RAILROAD ST S 107 RAILROAD ST S 109	N SF N SF	UNK=NOLG UNK=NOLG	UNK		1983 1983		N N			UNK=NOLG UNK=NOLG		1983 1983		N N		
	RAILROAD ST S 109 RAILROAD ST S 113	N SF	UNK=NOLG UNK=NOLG	UNK		1983		N N			UNK=NOLG UNK=NOLG		1983		N N		
	RAILROAD ST S 123	N SF	UNK=NOLG	UNK		1983		N			UNK=NOLG		1983		N		
	RAILROAD ST S 125	N MF	UNK=NOLG	UNK		1983		N			UNK=NOLG		1983		N		
	RAILROAD ST S 127 RAILROAD ST S 129	N MF	UNK=NOLG UNK=NOLG	UNK		1983 1983		N N			UNK=NOLG UNK=NOLG		1983 1983		N N		
	RAILROAD ST S 131	N MF	UNK=NOLG			1983		N			UNK=NOLG		1983		N		
				•			•	•				•		•			

		LEAD BUILDING	PUBLIC	WAS	PUBLIC	PUBLIC	BASIS OF PUBLIC MATRERIAL		DATE OF STREET SIDE	C METHOD OF STREET SIDE FIELD	PRIVATE		PRIVATE	BASIS OF PRIVATE MATRERIAL	WAS	DATE OF PROPERTY	PRIVATE METHOD OF PROPERTY SIDE FIELD
SITE ID	LOCATION ID	GOOSNEC TYPE	MATERAIL	PUBLICSIDE EVER LEAD	SIZE	INSTALL	CLASSIFICATION	IC FILED VERFIED	FIELD FOREIT VERIFICATIO	VERIFICATION	MATERAIL	PRIVATE SIZE	INSTALL	CLASSIFICATION	FILED VERFIED	SIDE FIELD VERIFICATION	VERIFICATION
			PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE
EPAL1686 RAIL EPAL1687 RAIL		N MF	UNK=NOLG UNK=NOLG	UNK		1983 1983		N N			UNK=NOLG UNK=NOLG		1983 1983		N N		
EPAL1688 RAIL	LROAD ST S 135	N MF	UNK=NOLG UNK=NOLG	UNK		1983		N N			UNK=NOLG UNK=NOLG		1983		N N		
EPAL1689 RAIL	LROAD ST S 139	N MF	UNK=NOLG	UNK		1983		N			UNK=NOLG		1983		N		
EPAL1690 RAIL EPAL1691 RAIL		N MF N SF	UNK=NOLG UNK=NOLG	UNK		1983 1983		N N			C UNK=NOLG	1.00	1983 1983	PREVIOUS EVAL	Y N	2022	VISUAL INSP AT METER
EPAL1692 RAIL	LROAD ST S 157	N SF	UNK=NOLG	UNK		1983		N			UNK=NOLG		1983		N		
EPAL1693 RAIL	LROAD ST S 159	N SF	UNK=NOLG	UNK		1983		N			UNK=NOLG		1983		N		
EPAL1694 RAIL EPAL1695 RAIL		N SF N SF	UNK=NOLG UNK=NOLG	UNK		1983 1983		N N			UNK=NOLG UNK=NOLG		1983 1983		N N		
EPAL1696 RAIL	LROAD ST S 169	N SF	UNK=NOLG	UNK		1983		N			UNK=NOLG		1983		N		
EPAL1697 RAIL		N SF N SF	UNK=NOLG UNK=NOLG	UNK		1983 1983		N N			UNK=NOLG UNK=NOLG		1983 1983		N N		+
EPAL1698 RAIL EPAL1699 RAIL	LROAD ST S 235	N SF	UNK=NOLG UNK=NOLG	UNK		1983		N N			C C	1.00	1983	PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER
EPAL1700 RAIL		N NONRES	UNK=NOLG	UNK		1983		N			C	1.00	1983	PREVIOUS EVAL	Υ	2022	VISUAL INSP AT METER
EPAL1701 RAIL EPAL1702 RAIL		N SF N NONRES	UNK=NOLG UNK=NOLG	UNK		1983 1983		N N			UNK=NOLG C	1.00	1983 1983	PREVIOUS EVAL	N Y	2022	VISUAL INSP AT METER
EPAL1703 RAIL	LROAD ST S 321	N SF	UNK=NOLG	UNK		1983		N			UNK=NOLG	1.00	1983	T REVIOUS EVAL	N	2022	VISONE INSTITUTE IN
EPAL1704 RAIL		N SF	UNK=NOLG	UNK		1983		N			C	1.00	1983	PREVIOUS EVAL	Υ	2022	VISUAL INSP AT METER
EPAL1705 RAIL EPAL1706 RAIL		N SF N SF	UNK=NOLG UNK=NOLG	UNK		1983 1983		N N			UNK=NOLG UNK=NOLG		1983 1983		N N		
EPAL1707 RAIL	LROAD ST S 405	N SF	UNK=NOLG	UNK		1983		N			UNK=NOLG		1983		N		
EPAL1708 RAIL	LROAD ST S 415	N NONRES	UNK=NOLG	UNK		1983		N		-	UNK=NOLG		1983		N		+
EPAL1709 RAIL EPAL1710 RAIL	LROAD ST S 421 LROAD ST S 427	N MF	UNK=NOLG UNK=NOLG	UNK		1983 1983		N N			UNK=NOLG UNK=NOLG		1983 1983		N N	-	
EPAL1711 RAIL	LROAD ST S 433	N MF	UNK=NOLG	UNK		1983		N			UNK=NOLG		1983		N		
EPAL1712 RAIL EPAL1713 RAIL		N NONRES N SE	UNK=NOLG UNK=NOLG	UNK		1983 1983		N N			UNK=NOLG UNK=NOLG		1983 1983		N N		
EPAL1714 RAIL	LROAD ST S 510	N SF	UNK=NOLG UNK=NOLG	UNK		1983		N N	-		UNK=NOLG UNK=NOLG		1983		N N	 	
EPAL1715 RAIL	LROAD ST S 511	N NONRES	UNK=NOLG	UNK		1983		N			UNK=NOLG		1983		N		
EPAL1716 RAIL EPAL1717 RAIL	LROAD ST S 516	N SF N SF	UNK=NOLG UNK=NOLG	UNK		1983 1983		N N			UNK=NOLG UNK=NOLG		1983 1983		N N		+
EPAL1717 RAIL		N SF	UNK=NOLG	UNK		1983		N			UNK=NOLG		1983		N		
EPAL1719 RAIL	LROAD ST S 527	N SF	UNK=NOLG	UNK		1983		N			UNK=NOLG		1983		N		
EPAL1720 RAIL EPAL1721 RAIL		N SF N SF	UNK=NOLG UNK=NOLG	UNK		1983 1983		N N			UNK=NOLG UNK=NOLG		1983 1983		N N		
EPAL1722 RAIL		N SF	UNK=NOLG	UNK		1983		N			UNK=NOLG		1983		N		
EPAL1723 RAIL	LROAD ST S 537	N SF	UNK=NOLG	UNK		1983		N			UNK=NOLG		1983		N		
EPAL1724 RAIL EPAL1725 RAIL		N SF N SF	UNK=NOLG UNK=NOLG	UNK		1983 1983		N N			UNK=NOLG UNK=NOLG		1983 1983		N N		
EPAL1726 RAIL		N NONRES		UNK		1983		N			UNK=NOLG		1983		N		
EPAL1727 RAIL	LROAD ST S 611	N SF	UNK=NOLG	UNK		1983		N			UNK=NOLG		1983		N		
EPAL1728 RAIL EPAL1729 RAIL		N SF N MF	UNK=NOLG UNK=NOLG	UNK		1983 1983		N N			UNK=NOLG C	1.00	1983 1983	PREVIOUS EVAL	N Y	2022	VISUAL INSP AT METER
EPAL1730 RAIL	LROAD ST S 707	N MF	UNK=NOLG	UNK		1983		N			C	1.00	1983	PREVIOUS EVAL	γ	2022	VISUAL INSP AT METER
EPAL1731 RAIL EPAL1732 RAIL	LROAD ST S 708	N SF N MF	UNK=NOLG UNK=NOLG	UNK		1983 1983		N N			UNK=NOLG	1.00	1983 1983	PREVIOUS EVAL	N Y	2022	VISUAL INSP AT METER
EPAL1732 RAIL		N MF	UNK=NOLG UNK=NOLG	UNK		1983		N N			UNK=NOLG	1.00	1983	PREVIOUS EVAL	N N	2022	VISUAL INSP AT METER
EPAL1734 RAIL	LROAD ST S 720	N SF	UNK=NOLG	UNK		1983		N			UNK=NOLG		1983		N		
EPAL1735 RAIL EPAL1736 RAIL		N MF N NONRES	UNK=NOLG UNK=NOLG	UNK		1983 1983		N N			UNK=NOLG UNK=NOLG		1983 1983		N N		
EPAL1737 RAIL		N SF	UNK=NOLG	UNK		1983		N			UNK=NOLG		1983		N		
EPAL1738 RAIL	LROAD ST S 812	N SF	UNK=NOLG	UNK		1983		N			UNK=NOLG		1983		N	1	
EPAL1739 RAIL	LROAD ST S 818 LROAD ST S 830	N SF N SF	UNK=NOLG UNK=NOLG	UNK		1983 1983		N N	-		UNK=NOLG UNK=NOLG		1983 1983		N N		<u> </u>
EPAL1741 RAIL	LROAD ST S 836	N SF	UNK=NOLG	UNK		1983		N			UNK=NOLG		1983		N		
EPAL1742 RAIL	LROAD ST S 854	N SF N SF	UNK=NOLG			1983		N N			UNK=NOLG		1983		N N		+
EPAL1743 RAIL EPAL1744 RAIL	LROAD ST S 860	N SF	UNK=NOLG UNK=NOLG	UNK		1983 1983		N N	-		UNK=NOLG UNK=NOLG		1983 1983		N N		
EPAL1745 RAIL	LROAD ST S 870	N SF	UNK=NOLG	UNK		1983		N			UNK=NOLG		1983		N		
EPAL1746 RED	O CEDAR PARKWAY 203 O CEDAR PARKWAY 205	N SF N SF	P P	N N	1.00	2017 2017	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2017 VISUAL IN 2017 VISUAL IN	SP DURING INSTALL OR REPAIR SP DURING INSTALL OR REPAIR	P P	1.00	2017	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2017 2017	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	CEDAR PARKWAY 209	N SF	P	N N	1.00	2017	INSTALLED AFTER LEAD BAN	Y		SP DURING INSTALL OR REPAIR	P	1.00	2017	INSTALLED AFTER LEAD BAN	Y	2017	VISUAL INSP DURING INSTALL OR REPAIR
	CEDAR PARKWAY 211	N SF	P	N	1.00	2017	INSTALLED AFTER LEAD BAN	Y		SP DURING INSTALL OR REPAIR	P	1.00	2017	INSTALLED AFTER LEAD BAN	Y	2017	VISUAL INSP DURING INSTALL OR REPAIR
	CEDAR PARKWAY 215 CEDAR PARKWAY 217	N SF N SF	P P	N N	1.00	2017 2017	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		SP DURING INSTALL OR REPAIR SP DURING INSTALL OR REPAIR	P P	1.00	2017 2017	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2017 2017	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1752 RED	CEDAR PARKWAY 221	N SF	Р	N	1.00	2017	INSTALLED AFTER LEAD BAN	Υ	2017 VISUAL IN	SP DURING INSTALL OR REPAIR	Р	1.00	2017	INSTALLED AFTER LEAD BAN	γ	2017	VISUAL INSP DURING INSTALL OR REPAIR
	CEDAR PARKWAY 223	N SF N SE	P P	N N	1.00	2017	INSTALLED AFTER LEAD BAN	Y		SP DURING INSTALL OR REPAIR	P P	1.00	2017	INSTALLED AFTER LEAD BAN	Y	2017	VISUAL INSP DURING INSTALL OR REPAIR
	CEDAR PARKWAY 301 CEDAR PARKWAY 303	N SF	P P	N N	1.00	2017 2017	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		SP DURING INSTALL OR REPAIR SP DURING INSTALL OR REPAIR	P P	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2017 2017	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1756 RED	CEDAR PARKWAY 307	N SF	P	N	1.00	2017	INSTALLED AFTER LEAD BAN	Υ	2017 VISUAL IN	SP DURING INSTALL OR REPAIR	Р	1.00	2017	INSTALLED AFTER LEAD BAN	γ	2017	VISUAL INSP DURING INSTALL OR REPAIR
	CEDAR PARKWAY 309	N SF N SF	P P	N N	1.00	2017	INSTALLED AFTER LEAD BAN	Y		SP DURING INSTALL OR REPAIR SP DURING INSTALL OR REPAIR	P P	1.00	2017	INSTALLED AFTER LEAD BAN	Y	2017	VISUAL INSP DURING INSTALL OR REPAIR
	CEDAR PARKWAY 313 CEDAR PARKWAY 315	N SF	P	N N	1.00	2017 2017	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		SP DURING INSTALL OR REPAIR SP DURING INSTALL OR REPAIR	P	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2017 2017	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1760 RIVE	ERS EDGE DR 206	N MIX	Р	N	1.00	2018	INSTALLED AFTER LEAD BAN	Υ	2018 VISUAL IN	SP DURING INSTALL OR REPAIR	Р	1.00	2018	INSTALLED AFTER LEAD BAN	γ	2018	VISUAL INSP DURING INSTALL OR REPAIR
	ERS EDGE DR 209	N SF N MF	P P	N N	1.00	2018 2018	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		SP DURING INSTALL OR REPAIR SP DURING INSTALL OR REPAIR	P P	1.00	2018	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2018	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	ERS EDGE DR 210 ERS EDGE DR 215	N MF N SF	P P	N N	1.00	2018	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		SP DURING INSTALL OR REPAIR SP DURING INSTALL OR REPAIR	P P	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2018 2018	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1764 RIVE	ERS EDGE DR 220	N SF	P	N	1.00	2018	INSTALLED AFTER LEAD BAN	Υ	2018 VISUAL IN	SP DURING INSTALL OR REPAIR	Р	1.00	2018	INSTALLED AFTER LEAD BAN	γ	2018	VISUAL INSP DURING INSTALL OR REPAIR
	ERS EDGE DR 225	N SF	P P	N N	1.00	2018	INSTALLED AFTER LEAD BAN	Y		SP DURING INSTALL OR REPAIR	P P	1.00	2018	INSTALLED AFTER LEAD BAN	Y	2018	VISUAL INSP DURING INSTALL OR REPAIR
	ERS EDGE DR 230 ERS EDGE DR 235	N SF N SF	P P	N N	1.00	2018 2018	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		SP DURING INSTALL OR REPAIR SP DURING INSTALL OR REPAIR	P P	1.00	2018 2018	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2018 2018	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1768 RIVE		N SE	P	N	1.00	2018	INSTALLED AFTER LEAD BAN	Y		SP DURING INSTALL OR REPAIR	P	1.00	2018	INSTALLED AFTER LEAD BAN	Y	2018	VISUAL INSP DURING INSTALL OR REPAIR
	ERS EDGE DR 250	N SF		N	1.00	2018	INSTALLED AFTER LEAD BAN	Y		SP DURING INSTALL OR REPAIR	P	1.00		INSTALLED AFTER LEAD BAN	Y	2018	VISUAL INSP DURING INSTALL OR REPAIR

SITE ID	LOCATION ID	LEAD GOOSNEC K	BUILDING TYPE	PUBLIC MATERAIL	WAS PUBLICSIDE EVER LEAD	PUBLIC SIZE	PUBLIC INSTALL	BASIS OF PUBILC MATRERIAL CLASSIFICATION	IC FILED	DATE OF STREET SIDE FIELD VERIFICATIO N	PUBLIC METHOD OF STREET SIDE FIELD VERIFICATION	PRIVATE MATERAIL	PRIVATE SIZE	PRIVATE INSTALL	BASIS OF PRIVATE MATRERIAL CLASSIFICATION	WAS PRIVATE FILED VERFIED	DATE OF PROPERTY SIDE FIELD VERIFICATION	PRIVATE METHOD OF PROPERTY SIDE FIELD VERIFICATION
				PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE
	ERS EDGE DR 260	N	SF	P	N	1.00		INSTALLED AFTER LEAD BAN	γ		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00		INSTALLED AFTER LEAD BAN	Υ	2018	VISUAL INSP DURING INSTALL OR REPAIR
	ERS EDGE DR 265	N	SF	P	N	1.00	2018	INSTALLED AFTER LEAD BAN	Υ	2018	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018	INSTALLED AFTER LEAD BAN	Y	2018	VISUAL INSP DURING INSTALL OR REPAIR
	ERS EDGE DR 270 ERS EDGE DR 275	N N	SF	P P	N	1.00		INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00		INSTALLED AFTER LEAD BAN	Y	2018	VISUAL INSP DURING INSTALL OR REPAIR
	ERS EDGE DR 275	N N	SF SF	P	N N	1.00	2018 2018	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2018 2018	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018 2018	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2018 2018	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	ERS EDGE DR 290	N	SF	P	N N	1.00		INSTALLED AFTER LEAD BAN	Y	2018	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00		INSTALLED AFTER LEAD BAN	Y	2018	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	ERS EDGE DR 295	N	SF	P	N	1.00	2018	INSTALLED AFTER LEAD BAN	Υ	2018	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018	INSTALLED AFTER LEAD BAN	Y	2018	VISUAL INSP DURING INSTALL OR REPAIR
	ERS EDGE DR 300	N	SF	P	N	1.00	2018	INSTALLED AFTER LEAD BAN	Υ	2018	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018	INSTALLED AFTER LEAD BAN	Y	2018	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1778 RIV	ERS EDGE DR 315	N	SF	P	N	1.00	2018	INSTALLED AFTER LEAD BAN	γ	2018	VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2018	INSTALLED AFTER LEAD BAN	Υ	2018	VISUAL INSP DURING INSTALL OR REPAIR
	ERS EDGE DR 320	N	SF	P	N	1.00	2018	INSTALLED AFTER LEAD BAN	Υ	2018	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018	INSTALLED AFTER LEAD BAN	Υ	2018	VISUAL INSP DURING INSTALL OR REPAIR
	ERS EDGE DR 325	N	SF	P	N	1.00		INSTALLED AFTER LEAD BAN	Υ	2018	VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00		INSTALLED AFTER LEAD BAN	Υ	2018	VISUAL INSP DURING INSTALL OR REPAIR
	ERS EDGE DR 330	N	SF SF	P P	N	1.00	2018	INSTALLED AFTER LEAD BAN	Y	2018	VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2018	INSTALLED AFTER LEAD BAN	Y	2018	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1782 RIV	ERS EDGE DR 335 ERS EDGE DR 410	N N	SF	P	N N	1.00	2018 2018	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2018 2018	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2018 2018	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	ERS EDGE DR 415	N	SF	P	N	1.00	2018	INSTALLED AFTER LEAD BAN	Y	2018	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018	INSTALLED AFTER LEAD BAN	Y	2018	VISUAL INSP DURING INSTALL OR REPAIR
	ERS EDGE DR 420	N	SF	Р.	N N	1.00		INSTALLED AFTER LEAD BAN	Y	2018	VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00		INSTALLED AFTER LEAD BAN	Y Y	2018	VISUAL INSP DURING INSTALL OR REPAIR
	ERS EDGE DR 425	N	SF	P	N	1.00	2018	INSTALLED AFTER LEAD BAN	Υ	2018	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018	INSTALLED AFTER LEAD BAN	Y	2018	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1787 RIV	ERS EDGE DR 430	N	SF	P	N	1.00	2018	INSTALLED AFTER LEAD BAN	Υ	2018	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018	INSTALLED AFTER LEAD BAN	Y	2018	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1788 RIV	ERS EDGE DR 435	N	SF	P	N	1.00	2018	INSTALLED AFTER LEAD BAN	Υ	2018	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018	INSTALLED AFTER LEAD BAN	Υ	2018	VISUAL INSP DURING INSTALL OR REPAIR
	ERS EDGE DR 440	N	SF	P	N	1.00	2018	INSTALLED AFTER LEAD BAN	γ	2018	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018	INSTALLED AFTER LEAD BAN	Υ	2018	VISUAL INSP DURING INSTALL OR REPAIR
	ERS EDGE DR 445	N	SF	P	N	1.00		INSTALLED AFTER LEAD BAN	γ	2018	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018	INSTALLED AFTER LEAD BAN	Y	2018	VISUAL INSP DURING INSTALL OR REPAIR
	ERS EDGE DR 455	N	SF	P	N	1.00		INSTALLED AFTER LEAD BAN	Y	2018	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018	INSTALLED AFTER LEAD BAN	Y	2018	VISUAL INSP DURING INSTALL OR REPAIR
	ERS EDGE DR 460	N N	SF SF	P P	N N	1.00	2018 2016	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2018	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018 1979	INSTALLED AFTER LEAD BAN INSTALLATION RECORD	Y	2018	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1793 ROO EPAL1794 ROO		N N	SF SF	P	N N	1.00	2016	INSTALLED AFTER LEAD BAN	Y	2016 2016	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1979	INSTALLATION RECORD	Y	2016 2016	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1795 ROO		N	SF	UNK=NOLG	UNK	1.00	1979		N	2010	THE STATE OF THE PAIN	UNK=NOLG	1.00	1979		N	2010	THE STATE OF THE PAIR
EPAL1796 ROO		N	SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N		
EPAL1797 ROO		N	SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N		
EPAL1798 ROO		N	SF	UNK=NOLG	UNK	[1979		N			UNK=NOLG		1979		N		
EPAL1799 ROO		N	SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N		
EPAL1800 ROO		N	SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N		
EPAL1801 ROO		N N	SF SE	UNK=NOLG UNK=NOLG	UNK		1979 1979		N N			UNK=NOLG		1979 1979		N N		
EPAL1802 ROO EPAL1803 ROO		N N	SF SF	UNK=NOLG UNK=NOLG	UNK		1979		N N			UNK=NOLG UNK=NOLG		1979		N N		
EPAL1803 ROO		N	SF SF	UNK=NOLG UNK=NOLG	UNK		1979		N N			UNK=NOLG UNK=NOLG		1979		N N		
EPAL1805 ROO	SER ST N 314	N	SF	UNK=NOLG	UNK		1979		N N			UNK=NOLG		1979		N		
EPAL1806 ROO		N	SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N		
EPAL1807 ROO	SER ST N 321	N	SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N		
	GER ST N 322	N	SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N		
EPAL1809 ROO		N	SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N		
EPAL1810 ROO		N	SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N		
EPAL1811 ROO EPAL1812 ROO		N N	SF SF	UNK=NOLG UNK=NOLG	UNK		1979 1979		N N			UNK=NOLG UNK=NOLG		1979 1979		N N		
EPAL1812 ROO		N N	SF SF	UNK=NOLG UNK=NOLG	UNK		1979		N N			UNK=NOLG UNK=NOLG		1979		N N		
EPAL1814 ROO		N	SE	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N		
EPAL1815 ROO		N	SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N		
EPAL1816 ROO		N	SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N		
EPAL1817 ROO	GER ST N 351	N	SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N		
EPAL1818 ROO		N	SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N		
EPAL1819 ROO		N	SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N		
EPAL1820 ROO EPAL1821 ROO		N	SF SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N		
EPAL1821 ROC		N N	SF SF	UNK=NOLG UNK=NOLG	UNK		1979 1979		N N			UNK=NOLG UNK=NOLG		1979 1979		N N		
EPAL1823 ROO		N N	SF.	UNK=NOLG	UNK		1979		N N			UNK=NOLG		1979		N N		
EPAL1824 ROO		N	SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N		
EPAL1825 ROO	GER ST N 375	N	SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N		
EPAL1826 ROO		N	SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N		
EPAL1827 ROO		N	SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N		
EPAL1828 ROO		N	SF	UNK=NOLG	UNK	-	1979		N			UNK=NOLG	-	1979		N N	l	
EPAL1829 ROO		N N	SF SF	UNK=NOLG UNK=NOLG	UNK	 	1979 1957		N N			UNK=NOLG UNK=NOLG	1	1979		N N		
EPAL1831 ROO		N N	SF SF	UNK=NOLG UNK=NOLG	UNK		1957		N N			UNK=NOLG UNK=NOLG		1957		N N		
EPAL1832 ROO		N	SF	UNK=NOLG	UNK		1957		N			UNK=NOLG	İ	1957		N		
EPAL1833 ROO	GER ST S 250	N	SF	UNK=NOLG	UNK		1957		N			UNK=NOLG		1957		N		
EPAL1834 ROO		N	SF	UNK=NOLG	UNK		1957		N			UNK=NOLG		1957		N		
EPAL1835 ROO		N	SF	UNK=NOLG	UNK		1957		N			UNK=NOLG		1957		N		
EPAL1836 ROO		N	SF	UNK=NOLG	UNK		1957		N			UNK=NOLG	1	1957		N		
EPAL1837 ROO EPAL1838 ROO		N N	SF SF	UNK=NOLG UNK=NOLG	UNK		1957 1957		N N			UNK=NOLG	-	1957 1957		N N		
EPAL1838 ROO		N N	SF SF	UNK=NOLG	UNK	 	1957		N N			UNK=NOLG UNK=NOLG	1	1957		N N		
EPAL1840 ROO		N	SF	UNK=NOLG	UNK		1957		N			UNK=NOLG		1957		N		
EPAL1841 ROO		N	SF	UNK=NOLG	UNK		1957		N			UNK=NOLG		1957		N		
EPAL1842 ROO		N	SF	UNK=NOLG	UNK		1957		N			UNK=NOLG		1957		N		
EPAL1843 ROO		N	SF	UNK=NOLG	UNK		1957		N			UNK=NOLG		1957		N		
EPAL1844 ROO		N	SF	UNK=NOLG	UNK		1957		N			UNK=NOLG		1957		N		
EPAL1845 ROO		N	SF	UNK=NOLG	UNK		1957		N			UNK=NOLG		1957		N		
EPAL1846 ROO		N N	SF SE	UNK=NOLG	UNK		1957		N			UNK=NOLG	1	1957		N N		
EPAL1847 ROC EPAL1848 ROC		N N	SF SF	UNK=NOLG UNK=NOLG	UNK	 	1957 1957		N N			UNK=NOLG UNK=NOLG	1	1957 1957		N N		
	NDQUIST WAY 645	N N	SF	C C	N N	1.00	2000	INSTALLED AFTER LEAD BAN	Y	2000	VISUAL INSP DURING INSTALL OR REPAIR	C C	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
	NDQUIST WAY 646	N	SF	č	N	1.00	2000	INSTALLED AFTER LEAD BAN	Y	2000	VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
	NDQUIST WAY 651	N	SF	C	N	1.00	2000	INSTALLED AFTER LEAD BAN	Y	2000	VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1853 RUN	NDQUIST WAY 652	N	SF	С	N	1.00		INSTALLED AFTER LEAD BAN	γ		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00		INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1854 RUN	NDQUIST WAY 706	N	SF	С	N	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	2000	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR

SITE ID	LOCATION ID	LEAD GOOSNEC K	BUILDING TYPE	PUBLIC MATERAIL	WAS PUBLICSIDE EVER LEAD	PUBLIC SIZE	PUBLIC INSTALL	BASIS OF PUBILC MATRERIAL CLASSIFICATION	IC FILED	DATE OF STREET SIDE FIELD VERIFICATIO N	PUBLIC METHOD OF STREET SIDE FIELD VERIFICATION	PRIVATE MATERAIL	PRIVATE SIZE	PRIVATE INSTALL	BASIS OF PRIVATE MATRERIAL CLASSIFICATION	WAS PRIVATE FILED VERFIED	DATE OF PROPERTY SIDE FIELD VERIFICATION	PRIVATE METHOD OF PROPERTY SIDE FIELD VERIFICATION
				PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE
	IDQUIST WAY 707	N	SF	С	N	1.00		INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00		INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR
	IDQUIST WAY 728	N	SF	C	N	1.00	2000	INSTALLED AFTER LEAD BAN	Y	2000	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
	IDQUIST WAY 729	N	SF	<u>C</u>	N	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	2000	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00		INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
	IDQUIST WAY 764 IDQUIST WAY 765	N N	SF SF	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2000	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y V	1993 1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	IDQUIST WAY 814	N	SF	c	N N	1.00	2000	INSTALLED AFTER LEAD BAN	Y	2000	VISUAL INSP DURING INSTALL OR REPAIR	Č	1.00		INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
	IDQUIST WAY 815	N	SF	c	N	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	2000	VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
	IDQUIST WAY 816	N	SF	С	N	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	2000	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR
	IDQUIST WAY 817	N	SF	C	N	1.00	2000	INSTALLED AFTER LEAD BAN	Y	2000	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00		INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR
	IDQUIST WAY 818	N	SF	С	N	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	2000	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR
	IDQUIST WAY 819	N	SF	С	N	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	2000	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00		INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR
	IDQUIST WAY 820	N N	SF SF	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2000	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y V	1993 1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	IDQUIST WAY 821 IDQUIST WAY 822	N N	SF	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN	Y	2000	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	c	1.00		INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	IDQUIST WAY 823	N	SF	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN	Y	2000	VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	2000	INSTALLED AFTER LEAD BAN	γ	1993	VISUAL INSP DURING INSTALL OR REPAIR
	IDQUIST WAY 824	N	SF	c	N	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	2000	VISUAL INSP DURING INSTALL OR REPAIR	c	1.00		INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1871 RUN	IDQUIST WAY 825	N	SF	С	N	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	2000	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR
	IDQUIST WAY 827	N	SF	С	N	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	2000	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR
	IDQUIST WAY 829	N	NONRES	С	N	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	2000	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR
	IDQUIST WAY 831	N	SF	C	N	1.00	2000	INSTALLED AFTER LEAD BAN	Y	2000	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
	IDQUIST WAY 833 ELFHOUT LN 662	N N	SF NONRES	C	N N	1.00	2000 2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2000	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1993 1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	ELFHOUT LN 662 ELFHOUT LN 700	N N	NONRES	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN	Y	2000	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	,	1.00	2000	INSTALLED AFTER LEAD BAN	r V	1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1877 SCHI		N N	NONRES	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN	Y	2000	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	ELFHOUT LN 728	N	NONRES	C	N	1.00	2000	INSTALLED AFTER LEAD BAN	Y	2000	VISUAL INSP DURING INSTALL OR REPAIR	c	1.00		INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1880 SCHI	ELFHOUT LN 792	N	SF	c	N	1.00	2000	INSTALLED AFTER LEAD BAN	Y	2000	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1881 SCH	ELFHOUT LN 794	N	SF	C	N	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	2000	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1882 SCHI	ELFHOUT LN 796	N	SF	С	N	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	2000	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR
	ELFHOUT LN 798	N	SF	C	N	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	2000	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR
	ELFHOUT LN 800	N N	SF SF	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Υ	2000	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	ELFHOUT LN 802 ELFHOUT LN 804	N N	SF SF	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN	Y	2000	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993 1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	FIFHOUT IN 806	N	SE	C	N	1.00	2000	INSTALLED AFTER LEAD BAN	Y	2000	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1888 SCHI	ELFHOUT LN 808	N	SF	c	N	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	2000	VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	2000	INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1889 SCH	ELFHOUT LN 810	N	SF	С	N	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	2000	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1890 SCHI	ELFHOUT LN 812	N	SF	C	N	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	2000	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR
	ELFHOUT LN 814	N	SF	С	N	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	2000	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1892 SCHI		N	NONRES	С	N	1.00	2000	INSTALLED AFTER LEAD BAN	Υ	2000	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00		INSTALLED AFTER LEAD BAN	Y	1993	VISUAL INSP DURING INSTALL OR REPAIR
	ELFHOUT LN 819 ELFHOUT LN 820	N N	NONRES NONRES	C	N N	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2000	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2000	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y Y	1993 1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
FPAL1895 SCHI		N N	SF	UNK=NOLG	UNK	1.00	1979	INSTALLED AFTER LEAD BAIN	N N	2000	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG	1.00	1979	INSTALLED AFTER LEAD BAIN	N N	1995	VISUAL INSP DURING INSTALL OR REPAIR
	INDLER DR 304	N	SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N		
	INDLER DR 309	N	SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N		
EPAL1898 SCHI	INDLER DR 310	N	SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N		
	INDLER DR 315	N	SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N		
EPAL1900 SCHI		N	SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N	.	
EPAL1901 SCHI EPAL1902 SCHI	INDLER DR 321	N N	SF SF	UNK=NOLG UNK=NOLG	UNK		1979 1979		N N			UNK=NOLG UNK=NOLG		1979 1979		N N		
FPAL1902 SCHI		N N	SF.	UNK=NOLG	UNK		1979		N N			UNK=NOLG		1979		N N	-	
	INDLER DR 328	N	SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N		
	INDLER DR 333	N		UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N		
EPAL1906 SCHI	INDLER DR 334	N	SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N		
EPAL1907 SCHI		N	SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N		
EPAL1908 SCHI		N	SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N	_	
EPAL1909 SCHI EPAL1910 SCHI	INDLER DR 345	N N	SF SF	UNK=NOLG UNK=NOLG	UNK		1979 1979		N N			UNK=NOLG UNK=NOLG		1979 1979		N N		
EPAL1910 SCHI		N N	SF SF	UNK=NOLG	UNK		1979		N N			UNK=NOLG UNK=NOLG	1	1979		N N	†	
EPAL1912 SCHI		N	SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N		
EPAL1913 SCHI	INDLER DR 356	N	SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N		
EPAL1914 SCHI	INDLER DR 357	N	SF	UNK=NOLG	UNK		1979		N		-	UNK=NOLG		1979		N	L	
EPAL1915 SCHI		N	SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N	_	
EPAL1916 SCHI		N	SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N		
EPAL1917 SCHI EPAL1918 SCHI	INDLER DR 370	N N	SF SF	UNK=NOLG UNK=NOLG	UNK		1979 1979		N N			UNK=NOLG UNK=NOLG		1979 1979		N N		
EPAL1918 SCHI		N N	SE	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N N	†	-
EPAL1920 SCHI		N	SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N		
EPAL1921 SCHI	INDLER DR 382	N	SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N		
EPAL1922 SCHI		N	SF	UNK=NOLG	UNK		1979		N			UNK=NOLG		1979		N		
EPAL1923 SECO		N	SF	UNK=LG	UNK		1956		N			UNK=LG	1	1956		N		
EPAL1924 SECO		N	SF	UNK=LG	UNK		1956		N			UNK=LG	+	1956		N	 	
EPAL1925 SECO		N N	SF SF	UNK=LG UNK=LG	UNK		1956 1956		N N			UNK=LG UNK=LG	+	1956 1956		N N		
EPAL1926 SECO		N N	SF SF	UNK=LG C	V	1.00	2009	INSTALLED AFTER LEAD BAN	N Y	2009	VISUAL INSP DURING INSTALL OR REPAIR	UNK=LG p	1.00	2022	INSTALLED AFTER LEAD BAN	N Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1927 SECO		N	SF	C	Y	1.00	2009	INSTALLED AFTER LEAD BAN	Y	2009	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1929 SECO		N	SF	Č	Y	1.00	2009	INSTALLED AFTER LEAD BAN	Y	2009	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1930 SECO	OND ST E 122	N	SF	Ċ	Y	1.00	2009	INSTALLED AFTER LEAD BAN	Υ	2009	VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2009	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP DURING INSTALL OR REPAIR
EDAL 1024 C	OND ST E 203	N	SF	C	Υ	1.00	2009	INSTALLED AFTER LEAD BAN	Υ	2009	VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2009	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP DURING INSTALL OR REPAIR
	OND ST E 204	N	SF	С	Y	1.00	2009	INSTALLED AFTER LEAD BAN	Υ	2009	VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2022	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1932 SECO		N	SF	С	Υ	1.00	2009 2009	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2009	VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2022	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1932 SECO									Y	2009	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL1932 SECO EPAL1933 SECO EPAL1934 SECO	OND ST E 209	N	SF SF	C	Y				v		VISUAL INSPIDIRING INSTALL OF BEDAIN	_	1 00	2000	INSTALLED AFTER LEAD DAM	v	2022	VISUAL INSPIDITRING INSTALL OF BEDAID
EPAL1932 SECO EPAL1933 SECO EPAL1934 SECO EPAL1935 SECO	OND ST E 209 OND ST E 216		SF SF	C C	Y	1.00	2009 2009 2009	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2009 2009	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C P	1.00	2009 2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022 2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL1932 SECO EPAL1933 SECO EPAL1934 SECO	OND ST E 209 OND ST E 216 OND ST E 310	N N	SF	C C	Y	1.00	2009	INSTALLED AFTER LEAD BAN		2009		C P		2022				

March Marc	SITE ID	LOCATION ID	LEAD BUILDING GOOSNEC TYPE K	MATERAIL	WAS PUBLICSIDE EVER LEAD	SIZE	PUBLIC INSTALL	BASIS OF PUBILC MATRERIAL CLASSIFICATION	IC FILED VERFIED	DATE OF STREET SIDE FIELD VERIFICATIO N	PUBLIC METHOD OF STREET SIDE FIELD VERIFICATION	PRIVATE MATERAIL	PRIVATE SIZE	PRIVATE INSTALL	BASIS OF PRIVATE MATRERIAL CLASSIFICATION		DATE OF PROPERTY SIDE FIELD VERIFICATION	PRIVATE METHOD OF PROPERTY SIDE FIELD VERIFICATION
Control Cont			1 1	PUBLIC	PUBLIC													
The column Column				C	Y											-		
The content of the	EPAL1941	SECOND ST E 410		C	Υ	1.00	2009			2009	VISUAL INSP DURING INSTALL OR REPAIR		1.00	2009			2022	VISUAL INSP DURING INSTALL OR REPAIR
The content of the				C	Y				_									
Charles Control Cont				C														
Part				C	Y											Υ		
Ministry 1965 197				C	Y											Y		
MAINE Control of the Control of				C	-													
Charles Char				C	Υ										INSTALLED AFTER LEAD BAN			
1972 1973 1973 1973 1974 1975				C	Y													
March Marc				C	Y													
The color of the				C	Υ											Υ		
Proceedings	EPAL1954		N SF	C	Y					2009						Y		
The column The				C	Y				_									
Mathematics	EPAL1957			С														
March Marc				C	Y													
Change C				C	Y					2009	VISUAL INSP DURING INSTALL OR REPAIR							
Ministry					1.00		INSTALLED AFTER LEAD BAN		2009	VISUAL INSP DURING INSTALL OR REPAIR		1.00		INSTALLED AFTER LEAD BAN		2022	VISUAL INSP DURING INSTALL OR REPAIR	
PASSES SACKOS 18 19					UNK				N N						-			
Mining M																		
MAINE MAIN N. P. MAIN N. P. MAIN N. P. MAIN N. P.							1975											
MARIE MICHOSO NY 18																		
MATERIAL 1960 196																		
The color of the																		
SAME PROPERTY 18																		
MATERIAL PROPERTY NOT BE NOT																		
PALLEY P	EPAL1973	SECOND ST W 546	N SF	UNK=NOLG	UNK		1975		N			UNK=NOLG				N		
PATENDED STOCKED AT NO. 19																		
PARTIES N. NOMES P. N. 10 2013 NOME NOT NOT NECESSAL ON REPAIR P. N. 10 2013 NOME NOT NECESSAL ON REPAIR P. N. 2013 N. 2014 P. N. 2013 NOME NOT NECESSAL ON REPAIR P. N. 20																		
PALTER SORT PT N.15 12	EPAL0001	SHELTER #1	N NONRES		N	1.00	2013	INSTALLATION RECORD	Υ	2012	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2013	INSTALLATION RECORD	Υ	2012	VISUAL INSP AT METER
MAINTENNESS N. S. UNIVERS UN																		
Final State 1.5 1.								+										
PARTIESS SANCE OF 1-10	EPAL1980	SIDNEY ST N 123	N SF	UNK=LG	UNK		1930		N			UNK=LG		1930		N		
PALSES SONTY \$1 185																		
EMALISS SOURCE FOR 14 II																		
EMALSES SORRY ST N 146	EPAL1984	SIDNEY ST N 136	N SF	UNK=LG	UNK		1930		N			L	0.75	1930	PREVIOUS EVAL	Υ	2022	VISUAL INSP AT METER
PRA1598 DORN'T N 146																		
FEALURING SOURCE N													0.75		PREVIOUS EVAL		2022	VISUAL INSP AT METER
EPALISPS SURVEY IN 1209	EPAL1988	SIDNEY ST N 147	N SF	UNK=LG	UNK		1930		N					1930		N		
EPALIPS SOMEYST N. 201													0.75		PREVIOUS EVAL		2022	VISUAL INSP AT METER
EPALIPS SONRY ST 223 N																		
EPALIPS SIONEY ST 120									_				0.75		PREVIOUS EVAL		2022	VISUAL INSP AT METER
EPAL-1995 SIONEY ST 1220 N SF																		
EPAL-1995 SONEY'S TO 225 N SF UNK-LEG UNK 1930 N L 0.75 1330 PREVIOUS EVAL Y 2022 VISUAL INSP AT METER				UNK=LG UNK=LG								UNK=LG UNK=LG						
EPAL399 SIONEY ST N 23	EPAL1996	SIDNEY ST N 225	N SF	UNK=LG	UNK		1930		N			L		1930		Υ		
EPAL2009 SIONEY ST N 22								1					0.75		PREVIOUS EVAL		2022	VISUAL INSP AT METER
EPAL2005 SIDNEY ST N 303				UNK=LG UNK=LG	UNK	 												
EPAL2002 SIDNEY ST N 308	EPAL2000	SIDNEY ST N 303	N SF	UNK=LG	UNK		1930		N					1930		N		
EPAL2003 SIDNEY ST N 309								1				L	0.75		PREVIOUS EVAL		2022	VISUAL INSP AT METER
EPAL2003 SIONEY ST N 314																		
EPAL2005 SIDNEY ST N 318	EPAL2004	SIDNEY ST N 314	N SF	UNK=LG	UNK		1930		N					1930		N		
EPAL2002 SIDNEY ST N 319						\vdash							0.75		PREVIOUS EVAL		2022	VISUAL INSP AT METER
EPAL2003 SIDNEY ST N 324 N SF																		
EPAL2010 SIONEY ST N 330													0.75		PREVIOUS EVAL		2022	VISUAL INSP AT METER
EPAL2012 SIDNEY ST N 331													0.75		PREVIOUS EVAL		2022	VISUAL INSP AT METER
EPAL2012 SIDNEY ST N 403 N SF				UNK=IG				1										
EPAL2012 SIDNEY ST N 415								<u> </u>					0.75		PREVIOUS EVAL		2022	VISUAL INSP AT METER
EPAL2015 SIDNEY ST N 416																		
EPAL2DIS SIDNEY ST N 421 N SF UNK-LG UNK 1930 N UNK-LG 1930 N D UNK-LG 1930 N UNK-LG 1930 N D UN												UNK=LG	1					
EPAL2017 SIDNEY ST N 427 N NONRES UNK=LG UNK 1930 N UNK=LG 1930 N UNK=LG 1930 N EPAL2018 SIDNEY ST N 433 N SF UNK=LG UNK 1930 N UNK=LG 1930 N UNK=LG 1930 N N UN								1										
EPAL2019 SIDNEY ST N 439 N SF UNK=LG UNK 1930 N UNK=LG 1930 N EPAL2020 SIDNEY ST N 460 N SF UNK=LG UNK 1930 N UNK=LG 1930 N	EPAL2017	SIDNEY ST N 427	N NONRES	UNK=LG	UNK		1930		N			UNK=LG		1930		N		
EPAL2020 SIDNEY ST N 460 N SF UNK=LG UNK 1930 N UNK=LG 1930 N								1										
									N N									

SITE ID	LOCATION ID	LEAD GOOSNEC K	BUILDING TYPE	PUBLIC MATERAIL	WAS PUBLICSIDE EVER LEAD	PUBLIC SIZE	PUBLIC INSTALL	BASIS OF PUBILC MATRERIAL CLASSIFICATION	IC FILED	DATE OF STREET SIDE FIELD VERIFICATIO N	PUBLIC METHOD OF STREET SIDE FIELD VERIFICATION	PRIVATE MATERAIL	PRIVATE SIZE	PRIVATE INSTALL	BASIS OF PRIVATE MATRERIAL CLASSIFICATION	WAS PRIVATE FILED VERFIED	DATE OF PROPERTY SIDE FIELD VERIFICATION	PRIVATE METHOD OF PROPERTY SIDE FIELD VERIFICATION
		_		PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE
EPAL2022 SIDI EPAL2023 SIDI		N N	SF SF	UNK=LG UNK=LG	UNK		1947 1947		N N			UNK=LG	0.75	1947 1947	INSTALLATION RECORD	N Y	2022	VISUAL INSP AT METER
EPAL2024 SIDI	NEY ST S 120	N	SF	UNK=LG	UNK		1947		N			Ĺ	0.75	1947	INSTALLATION RECORD	Υ	2022	VISUAL INSP AT METER
EPAL2025 SIDI		N	SF	UNK=LG	UNK		1947 1947		N			L	0.75	1947	INSTALLATION RECORD	Y	2022	VISUAL INSP AT METER
EPAL2026 SIDI		N N	SF SF	UNK=LG UNK=LG	UNK		1947		N N			UNK=LG L	0.75	1947 1947	INSTALLATION RECORD	N Y	2022	VISUAL INSP AT METER
EPAL2028 SIDI		N	SF	UNK=LG	UNK		1947		N			UNK=LG		1947		N		
EPAL2029 SIDI	NEY ST S 131	N N	SF SF	UNK=LG UNK=LG	UNK		1947 1947		N N			L	0.75	1947 1947	INSTALLATION RECORD	Y	2022	VISUAL INSP AT METER VISUAL INSP AT METER
EPAL2030 SIDI		N	SF	UNK=LG	UNK		1947		N			L	0.75	1947	INSTALLATION RECORD	Y		VISUAL INSP AT METER VISUAL INSP AT METER
EPAL2032 SIDI		N	SF	UNK=LG	UNK		1947		N			L	0.75	1947	INSTALLATION RECORD	Υ		VISUAL INSP AT METER
EPAL2033 SIDI EPAL2034 SIDI		N N	SF SF	UNK=LG UNK=LG	UNK		1947 1947		N N			C UNK=LG	1.00	1975 1947	INSTALLATION RECORD	Y N	2022	VISUAL INSP AT METER
EPAL2034 SIDI		N	SF	UNK=LG	UNK		1947		N			UNK=LG		1947		N		
EPAL2036 SIDI		N	NONRES	UNK=LG	UNK		1947		N			P	1.00		INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2037 SIDI EPAL2038 SIDI	NEY ST S 214 NEV ST S 219	N N	SF SF	UNK=LG UNK=LG	UNK		1947 1947		N N			UNK=LG	0.75	1947 1947	INSTALLATION RECORD	N v	2022	VISUAL INSP AT METER
EPAL2039 SIDI		N	SF	UNK=LG	UNK		1947		N			L	0.75	1947	INSTALLATION RECORD	Y		VISUAL INSP AT METER
	NEY ST S 224	N	SF	UNK=LG	UNK		1947		N			L	0.75	1947	INSTALLATION RECORD	γ		VISUAL INSP AT METER
EPAL2041 SIDI EPAL2042 SIDI		N N	SF SF	UNK=LG UNK=LG	UNK		1947 1947		N N			UNK=LG	0.75	1947 1947	INSTALLATION RECORD	Y N	2022	VISUAL INSP AT METER
EPAL2042 SIDI		N	SF	UNK=LG	UNK		1947		N			L L	0.75	1947	INSTALLATION RECORD	Y	2022	VISUAL INSP AT METER
EPAL2044 SIDI		N	SF	UNK=LG	UNK		1947		N			UNK=LG		1947		N		
EPAL2045 SIDI EPAL2046 SIDI		N N	SF SF	UNK=LG UNK=LG	UNK		1947 1947		N N			L UNK=LG	0.75	1947 1947	INSTALLATION RECORD	Y N	2022	VISUAL INSP AT METER
EPAL2047 SIDI	NEY ST S 246	N	SF	UNK=LG	UNK		1947		N			UNK=LG		1947		N		
EPAL2048 SIDI		N	SF	UNK=LG	UNK		1947		N			UNK=LG		1947		N		
EPAL2049 SIDI		N N	SF SF	UNK=LG UNK=LG	UNK		1947 1947		N N			C	1.00	1975 1975	INSTALLATION RECORD INSTALLATION RECORD	Y		VISUAL INSP AT METER VISUAL INSP AT METER
EPAL2051 SIDI		N	SF	UNK=LG	UNK		1947		N			c	1.00	1975	INSTALLATION RECORD	Y		VISUAL INSP AT METER
EPAL2052 SIDI		N	SF	UNK=LG	UNK		1947		N			UNK=LG		1947		N		
	NEY ST S 325 NEY ST S 326	N N	SF SF	UNK=LG UNK=LG	UNK		1947 1947		N N			C UNK=LG	1.00	1975 1947	INSTALLATION RECORD	Y N	2022	VISUAL INSP AT METER
	NEY ST S 329	N	SF	UNK=LG	UNK		1947		N			C C	1.00	1947	INSTALLATION RECORD	Y	2022	VISUAL INSP AT METER
EPAL2056 SIDI		N	SF	UNK=LG	UNK		1947		N			UNK=LG		1947		N		
EPAL2057 SIDI		N N	SF SF	UNK=LG UNK=LG	UNK		1947 1947		N N			C UNK=LG	1.00	1975 1947	INSTALLATION RECORD	Y N	2022	VISUAL INSP AT METER
EPAL2058 SIDI		N N	SF SF	UNK=LG UNK=LG	UNK		1947		N N			UNK=LG C	1.00	1947	INSTALLATION RECORD	Y	2022	VISUAL INSP AT METER
EPAL2060 SIDI		N	SF	UNK=LG	UNK		1947		N			C	1.00	1975	INSTALLATION RECORD	Υ		VISUAL INSP AT METER
	NEY ST S 345 NEY ST S 350	N N	SF SF	UNK=LG UNK=LG	UNK		1947 1947		N N			C C	1.00	1975 1975	INSTALLATION RECORD INSTALLATION RECORD	Y		VISUAL INSP AT METER VISUAL INSP AT METER
EPAL2062 SIDI		N	SF	UNK=LG	UNK		1947		N			C	1.00		INSTALLATION RECORD	Y		VISUAL INSP AT METER
EPAL2064 SIDI		N	SF	UNK=LG	UNK		1947		N			С	1.00		INSTALLATION RECORD	Υ		VISUAL INSP AT METER
	NEY ST S 419 NEY ST S 420	N N	SF SF	UNK=LG UNK=LG	UNK		1947 1947		N N			С	1.00	1975 1975	INSTALLATION RECORD	Y	2022	VISUAL INSP AT METER VISUAL INSP AT METER
EPAL2066 SIDI		N	SF	UNK=LG	UNK		1947		N			C	1.00	1975	INSTALLATION RECORD	Y		VISUAL INSP AT METER
EPAL2068 SIDI		N	SF	UNK=LG	UNK		1947		N			С	1.00	1975	INSTALLATION RECORD	Υ		VISUAL INSP AT METER
EPAL2069 SIDI EPAL2070 SMI	NEY ST S 428	N N	SF SF	UNK=LG P	UNK N	1.00	1947 2017	INSTALLED AFTER LEAD BAN	N Y	2017	VISUAL INSP DURING INSTALL OR REPAIR	C P	1.00	1975 2017	INSTALLATION RECORD INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP DURING INSTALL OR REPAIR
	THFIELD DR 208	N	SF	P	N	1.00	2017	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2017	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR
EPAL2072 SMI		N	SF	P	N	1.00		INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2017	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR
	THFIELD DR 212 THFIELD DR 213	N N	SF SF	P P	N N	1.00	2017	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2017 2017	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2017	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2017	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2075 SMI	THFIELD DR 214	N	SF	P	N	1.00		INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2017	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
	THFIELD DR 217	N	SF	Р	N	1.00	2017	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2017	INSTALLED AFTER LEAD BAN	Υ	2017	VISUAL INSP DURING INSTALL OR REPAIR
	THFIELD DR 218 THFIELD DR 219	N N	SF SF	P P	N N	1.00	2017	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2017	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2079 SMI	THFIELD DR 220	N	SF	P	N	1.00	2017	INSTALLED AFTER LEAD BAN	Υ	2017	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2017	INSTALLED AFTER LEAD BAN	Υ	2017	VISUAL INSP DURING INSTALL OR REPAIR
	THEILD DR 301	N N	SF SF	P	N	1.00		INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00		INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
	THFIELD DR 303 THFIELD DR 304	N N	SF SF	P	N N	1.00	2017	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2017 2017	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2017	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2017	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2083 SMI	THFIELD DR 306	N	SF	P	N	1.00	2017	INSTALLED AFTER LEAD BAN	Y	2017	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2017	INSTALLED AFTER LEAD BAN	Y	2017	VISUAL INSP DURING INSTALL OR REPAIR
	THFIELD DR 307	N N	SF SF	P	N	1.00	2017	INSTALLED AFTER LEAD BAN	Y	2017	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2017	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
	THFIELD DR 309 THFIELD DR 310	N N	SF SF	P P	N N	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2017	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	THFIELD DR 312	N	SF	P	N	1.00	2017	INSTALLED AFTER LEAD BAN	Y	2017	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2017	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR
EPAL2088 SON		N	SF	С	N	1.00		INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00		INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL2089 SON EPAL2090 SON		N N	SF SF	C	N N	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2091 SON	MERSET LN 103	N	SF	Č	N	1.00		INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	Č	1.00	2004	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL2092 SON		N	SF	C	N	1.00		INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2004	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR
EPAL2093 SON EPAL2094 SON		N N	SF SF	C	N N	1.00	2004	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2004	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2095 SON	JERSET LN 109	N	SF	Č	N	1.00	2004	INSTALLED AFTER LEAD BAN	Y	2005	VISUAL INSP DURING INSTALL OR REPAIR	Č	1.00	2004	INSTALLED AFTER LEAD BAN	Υ	2005	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2096 SON		N	SF	C	N	1.00		INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2004	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
	MERSET LN 114 MERSET LN 118	N N	SF SF	C C	N N	1.00	2004	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2004	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2099 SON	MERSET LN 120	N	SF	Č	N	1.00	2004	INSTALLED AFTER LEAD BAN	Y	2005	VISUAL INSP DURING INSTALL OR REPAIR	Č	1.00	2004	INSTALLED AFTER LEAD BAN	Y	2005	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2100 SON		N	SF	c	N	1.00	2004	INSTALLED AFTER LEAD BAN	Υ	2005	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2004	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR
EPAL2101 SON EPAL2102 SON	MERSET LN 123 MERSET IN 124	N N	SF SF	C	N N	1.00	2004	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2004	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2103 SON	MERSET LN 126	N	SF	c	N	1.00	2004	INSTALLED AFTER LEAD BAN	γ	2005	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2004	INSTALLED AFTER LEAD BAN	Y	2005	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2104 SON		N	SF	C	N	1.00	2004	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00		INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR
EPAL2105 SON	VIEKSET LN 129	N	SF	C	N	1.00	2004	INSTALLED AFTER LEAD BAN	Υ	2005	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2004	INSTALLED AFTER LEAD BAN	Υ	2005	VISUAL INSP DURING INSTALL OR REPAIR

SITE ID	LOCATION ID	LEAD GOOSNEC K	BUILDING TYPE	PUBLIC MATERAIL	WAS PUBLICSIDE EVER LEAD	PUBLIC SIZE	PUBLIC INSTALL	BASIS OF PUBILC MATRERIAL CLASSIFICATION	WASPUBL ST	DATE OF TREET SIDE FIELD ERIFICATIO N	PUBLIC METHOD OF STREET SIDE FIELD VERIFICATION	PRIVATE MATERAIL	PRIVATE SIZE	PRIVATE INSTALL	BASIS OF PRIVATE MATRERIAL CLASSIFICATION	WAS PRIVATE FILED VERFIED	DATE OF PROPERTY SIDE FIELD VERIFICATION	PRIVATE METHOD OF PROPERTY SIDE FIELD VERIFICATION
				PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE
	OMERSET LN 130 OMERSET LN 132	N N	SF SF	C	N N	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2004	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	OMERSET LN 132	N N	SF SF	C	N N	1.00	2004	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2004	INSTALLED AFTER LEAD BAN	Υ	2005	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	OMERSET LN 135	N	SF	C	N	1.00		INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2004	INSTALLED AFTER LEAD BAN	γ	2005	VISUAL INSP DURING INSTALL OR REPAIR
	OMERSET LN 136	N	SF	C	N	1.00		INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2004	INSTALLED AFTER LEAD BAN	Υ	2005	VISUAL INSP DURING INSTALL OR REPAIR
	OMERSET LN 138 OMERSET LN 142	N N	SF SF	C	N N	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2004	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2005	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	OMERSET LN 144	N	SF	C	N	1.00	2004	INSTALLED AFTER LEAD BAN	Y	2005	VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	2004	INSTALLED AFTER LEAD BAN	Y	2005	VISUAL INSP DURING INSTALL OR REPAIR
	ONE GATE DR 501	N	SF	С	N	1.00	1985	Installation record	Υ		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	ONE GATE DR 503	N N	SF SE	C	N N	1.00	1985 1985	Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985 1985		N N		
	ONE GATE DR 506 ONE GATE DR 507	N N	SF SF	C	N N	1.00	1985	Installation record Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1985		N N		
	ONE GATE DR 508	N	SF	C	N	1.00	1985	Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	ONE GATE DR 509	N	SF	C	N	1.00	1985	Installation record	Υ		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	ONE GATE DR 512 ONE GATE DR 513	N N	SF SF	C	N N	1.00	1985 1985	Installation record Installation record	Y	1985 1985	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1985 1985		N N		
	ONE GATE DR 514	N	SF	C	N	1.00		Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	ONE GATE DR 515	N	SF	С	N	1.00	1985	Installation record	Y	1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	ONE GATE DR 516	N	SF	c	N	1.00	1985	Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	ONE GATE DR 517 ONE GATE DR 518	N N	MF MF	C	N N	1.00	1985 1985	Installation record Installation record	Y	1985 1985	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1985 1985		N N		
EPAL2127 ST	ONE GATE DR 519	N	SF	C	N	1.00	1985	Installation record	Y	1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	ONE GATE DR 520	N	SF	С	N	1.00		Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	ONE GATE DR 600 ONE GATE DR 601	N N	SF SF	C	N N	1.00	1985 1985	Installation record Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1985 1985		N N		
	ONE GATE DR 601	N N	SF SF	C	N N	1.00	1985	Installation record Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1985		N N		
	ONE GATE DR 701	N	SF	C	N	1.00		Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
EPAL2133 ST	ONE GATE DR 707	N	SF	C	N	1.00	1985	Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	ONE GATE DR 712 ONE GATE DR 713	N N	SF SF	C	N N	1.00	1985 1985	Installation record Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1985 1985		N N		
	ONE GATE DR 718	N	SF	C	N N	1.00		Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1985		N		
EPAL2137 ST	ONE GATE DR 719	N	SF	C	N	1.00	1985	Installation record	Y	1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	ONE GATE DR 724	N	SF	C	N	1.00		Installation record	Υ		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	TONE GATE DR 725 TONE GATE DR 730	N N	SF SF	C	N N	1.00	1985 1985	Installation record Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1985 1985		N N		
	ONE GATE DR 731	N	SF	C	N	1.00		Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	ONE GATE DR 737	N	SF	С	N	1.00	1985	Installation record	Y	1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	RAWBERRY LN 619	N	SF	C	N	1.00	1985	Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	RAWBERRY LN 625 RAWBERRY LN 630	N N	SF SE	C	N N	1.00	1985 1985	Installation record Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1985 1985		N N		
	RAWBERRY LN 631	N	SF	C	N	1.00		Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	RAWBERRY LN 637	N	SF	C	N	1.00		Installation record	Υ		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	RAWBERRY LN 701 RAWBERRY LN 706	N N	SF SF	C	N N	1.00	1985 1985	Installation record Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1985 1985		N N		
	RAWBERRY LN 707	N	SF SF	C	N N	1.00	1985	Installation record	Y	1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	RAWBERRY LN 712	N	SF	С	N	1.00	1985	Installation record	Υ	1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	RAWBERRY LN 713	N N	SF SE	C	N	1.00		Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
EPAL2153 ST EPAL2154 ST	RAWBERRY LN 718 RAWBERRY LN 719	N N	SF SF	C	N N	1.00	1985 1985	Installation record Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1985 1985		N N		
	RAWBERRY LN 724	N	SF	c	N	1.00	1985	Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	RAWBERRY LN 725	N	SF	С	N	1.00	1985	Installation record	Υ		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	RAWBERRY LN 730 RAWBERRY LN 731	N N	SF SF	C	N N	1.00	1985 1985	Installation record Installation record	Y	1985 1985	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985 1985		N N		
	JNSET DR 1003	N N	SF	P	N N	1.00		INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG C	1.00	1985	INSTALLATION RECORD	Y	2023	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2160 SU	JNSET DR 1004	N	SF	P	N	1.00	2023	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1974	INSTALLATION RECORD	Υ	2023	VISUAL INSP DURING INSTALL OR REPAIR
	JNSET DR 1013	N	SF	P P	N	1.00	2023	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974	INSTALLATION RECORD	Y		VISUAL INSP DURING INSTALL OR REPAIR
	JNSET DR 1014 JNSET DR 1023	N N	SF SF	P	N N	1.00	2023 2023	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974 1974	INSTALLATION RECORD INSTALLATION RECORD	Ϋ́		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2164 SU	JNSET DR 1024	N	SF	P	N N	1.00	2023	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00		INSTALLATION RECORD	Y		VISUAL INSP DURING INSTALL OR REPAIR
	JNSET DR 1103	N	SF	P	N	1.00		INSTALLED AFTER LEAD BAN	Y	2023	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974	INSTALLATION RECORD	Y	2023	VISUAL INSP DURING INSTALL OR REPAIR
	JNSET DR 1104 JNSET DR 1113	N N	SF SF	P P	N N	1.00	2023	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2023	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974 1974	INSTALLATION RECORD INSTALLATION RECORD	Y	2023	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	JNSET DR 1115 JNSET DR 1114	N	SF	P	N	1.00	2023	INSTALLED AFTER LEAD BAN	Y	2023	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974	INSTALLATION RECORD	Y	2023	VISUAL INSP DURING INSTALL OR REPAIR
	JNSET DR 1203	N	SF	P	N	1.00		INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1974	INSTALLATION RECORD	Υ		VISUAL INSP DURING INSTALL OR REPAIR
	JNSET DR 1204 JNSET DR 1213	N N	SF SF	P	N N	1.00	2023	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1974 1974	INSTALLATION RECORD INSTALLATION RECORD	Y	2023	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2171 SU EPAL2172 SU		N N	SF SF	P P	N N	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2023	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00		INSTALLATION RECORD	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2173 SU	JNSET DR 1304	N	SF	P	N	1.00		INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	c	1.00		INSTALLATION RECORD	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL2174 SU	JNSET DR 1314	N	SF	P	N	1.00	2023	INSTALLED AFTER LEAD BAN	Υ	2023	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974	INSTALLATION RECORD	γ	2023	VISUAL INSP DURING INSTALL OR REPAIR
	JNSET DR 1326 JNSET DR 1402	N	SF	P	N N	1.00		INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00		INSTALLATION RECORD	Y		VISUAL INSP DURING INSTALL OR REPAIR
	JNSET DR 1402 JNSET DR 1403	N N	SF SF	P P	N N	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974 1974	INSTALLATION RECORD INSTALLATION RECORD	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2178 SU	JNSET DR 1420	N	SF	P	N	1.00	2023	INSTALLED AFTER LEAD BAN	Y	2023	VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	1974	INSTALLATION RECORD	Y	2023	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2179 SU	JNSET DR 1421	N	SF	P	N	1.00	2023	INSTALLED AFTER LEAD BAN	Υ	2023	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1974	INSTALLATION RECORD	γ	2023	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2180 SU EPAL2181 SU	JNSET DR 1432 JNSET DR 1502	N N	SF SF	P P	N N	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974 1974	INSTALLATION RECORD	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	JNSET DR 1502 JNSET DR 1516	N N	SF SF	P	N N	1.00	2023	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974	INSTALLATION RECORD	Υ		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2183 SU	JNSET DR 1604	N	SF	P	N	1.00	2023	INSTALLED AFTER LEAD BAN	Y	2023	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974	INSTALLATION RECORD	γ	2023	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2184 SV	VIM LAKE	N	MIX	C	Υ	1.00	2007	INSTALLED AFTER LEAD BAN	Y	2008	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2007	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP AT METER
EPAL2185 TA EPAL2186 TA		N N	MF	C	N N	1.50	1992 1992	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C C	1.50	1992 1992	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1992 1992	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	AYLOR ST 412	N	SF	c	N N	1.50	1992	INSTALLED AFTER LEAD BAN	Y	1992	VISUAL INSP DURING INSTALL OR REPAIR	C	1.50	1992	INSTALLED AFTER LEAD BAN	Y	1992	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2188 TA	AYLOR ST 413	N	MF	С	N	1.50	1992	INSTALLED AFTER LEAD BAN	Υ	1992	VISUAL INSP DURING INSTALL OR REPAIR	С	1.50	1992	INSTALLED AFTER LEAD BAN	Υ	1992	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2189 TA	AYLUR ST 414	N	SF	С	N	1.50	1992	INSTALLED AFTER LEAD BAN	Υ	1992	VISUAL INSP DURING INSTALL OR REPAIR	C	1.50	1992	INSTALLED AFTER LEAD BAN	Υ	1992	VISUAL INSP DURING INSTALL OR REPAIR

SITE ID	LOCATION ID	LEAD BUILDING GOOSNEC TYPE K	PUBLIC MATERAIL	WAS PUBLICSIDE EVER LEAD	PUBLIC SIZE	PUBLIC INSTALL	BASIS OF PUBILC MATRERIAL CLASSIFICATION	WASPUBL IC FILED VERFIED	DATE OF STREET SIDE FIELD VERIFICATIO N	PUBLIC METHOD OF STREET SIDE FIELD VERIFICATION	PRIVATE MATERAIL	PRIVATE SIZE	PRIVATE INSTALL	BASIS OF PRIVATE MATRERIAL CLASSIFICATION	WAS PRIVATE FILED VERFIED	DATE OF PROPERTY SIDE FIELD VERIFICATION	PRIVATE METHOD OF PROPERTY SIDE FIELD VERIFICATION
			PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE
	TAYLOR ST 419 TAYLOR ST 420	N MF	C	N N	1.50	1992 1992	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.50	1992 1992	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1992 1992	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	TAYLOR ST 422	N SF	C	N N	1.50	1992	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	1.50	1992	INSTALLED AFTER LEAD BAN	Y	1992	VISUAL INSP DURING INSTALL OR REPAIR
	TAYLOR ST 425	N MF	С	N	1.50	1992	INSTALLED AFTER LEAD BAN	Υ	1992	VISUAL INSP DURING INSTALL OR REPAIR	С	1.50	1992	INSTALLED AFTER LEAD BAN	Υ	1992	VISUAL INSP DURING INSTALL OR REPAIR
	TAYLOR ST 428 TAYLOR ST 430	N SF	C	N N	1.50	1992	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.50	1992	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1992 1992	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	TAYLOR ST 430	N SF	C	N N	1.50	1992	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.50	1992	INSTALLED AFTER LEAD BAN	Y	1992	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2197 1	TAYLOR ST 438	N SF	C	N	1.50	1992	INSTALLED AFTER LEAD BAN	Y	1992	VISUAL INSP DURING INSTALL OR REPAIR	c	1.50	1992	INSTALLED AFTER LEAD BAN	Y	1992	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2198 T	THELOSEN DR 601	N SF	С	N	1.00	1995	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1995	INSTALLED AFTER LEAD BAN	Υ	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2199 T	THELOSEN DR 602 THELOSEN DR 603	N SF	C	N N	1.00	1995 1995	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995 1995	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2200 T	THELOSEN DR 603	N SF	C	N N	1.00	1995	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2202 T	THELOSEN DR 620	N SF	C	N	1.00	1995	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995	INSTALLED AFTER LEAD BAN	Υ	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2203 1	THELOSEN DR 622	N SF	C	N	1.00	1995	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2204 1	THELOSEN DR 625 THELOSEN DR 627	N SF N SF	C	N N	1.00	1995 1995	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1995 1995	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1995 1995	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1995 1995	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2206	THELOSEN DR 640	N SF	C	N N	1.00	1995	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2207 1	THELOSEN DR 642	N SF	C	N	1.00	1995	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995	INSTALLED AFTER LEAD BAN	Υ	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2208 1	THELOSEN DR 645	N SF	С	N	1.00	1995	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2209 T EPAL2210 T	THELOSEN DR 647 THELOSEN DR 700	N SF N SF	C	N N	1.00	1995 1995	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995 1995	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1995 1995	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2211 1	THELOSEN DR 702	N SF	C	N	1.00	1995	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2212 T	THELOSEN DR 703	N SF	С	N	1.00	1995	INSTALLED AFTER LEAD BAN	Υ	1995	VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2213 T	THELOSEN DR 705 THELOSEN DR 725	N SF N SF	C	N	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2214 T	THELOSEN DR 725 THELOSEN DR 726	N SF	· ·	N N	1.00	1995 1995	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995 1995	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1995 1995	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2215 T	THELOSEN DR 727	N SF	C	N	1.00	1995	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2217 T	THELOSEN DR 728	N SF	С	N	1.00	1995	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1995	INSTALLED AFTER LEAD BAN	Υ	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2218	THELOSEN DR 760	N SF	С	N	1.00	1995	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2219 T	THELOSEN DR 761 THELOSEN DR 762	N SF	C	N N	1.00	1995 1995	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995 1995	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1995 1995	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2221 T	THELOSEN DR 763	N SF	C	N	1.00	1995	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2222 1	THELOSEN DR 817	N SF	С	N	1.00	1995	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1995	INSTALLED AFTER LEAD BAN	Υ	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2223 1 EPAL2224 1	THELOSEN DR 818 THELOSEN DR 819	N SF	C	N N	1.00	1995	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2224	THELOSEN DR 820	N SF	C	N N	1.00	1995 1995	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995 1995	INSTALLED AFTER LEAD BAN	Y	1995 1995	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2226 1	THELOSEN DR 837	N SF	С	N	1.00	1995	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1995	INSTALLED AFTER LEAD BAN	Υ	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2227 1	THELOSEN DR 838	N SF	С	N	1.00	1995	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1995	INSTALLED AFTER LEAD BAN	Υ	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2228 1 EPAL2229 1	THELOSEN DR 839 THELOSEN DR 840	N SF	C	N N	1.00	1995 1995	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995 1995	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1995 1995	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2230 1	THELOSEN DR 845	N SF	C	N	1.00	1995	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2231 T	THELOSEN DR 846	N SF	C	N	1.00	1995	INSTALLED AFTER LEAD BAN	γ	1995	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995	INSTALLED AFTER LEAD BAN	Υ	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2232 1	THELOSEN DR 847	N SF	С	N	1.00	1995	INSTALLED AFTER LEAD BAN	γ		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2233 T	THELOSEN DR 848 THELOSEN DR 853	N SF N SF	C	N N	1.00	1995 1995	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1995 1995	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995 1995	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1995 1995	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2235 1	THELOSEN DR 854	N SF	C	N N	1.00	1995	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995	INSTALLED AFTER LEAD BAN	Y	1995	VISUAL INSP DURING INSTALL OR REPAIR
	THELOSEN DR 855	N SF	С	N	1.00	1995	INSTALLED AFTER LEAD BAN	Υ	1995	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1995	INSTALLED AFTER LEAD BAN	Υ	1995	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2237 T	THELOSEN DR 856 THERESA CT 422	N SF N SF	C P	N N	1.00	1995 2001	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1995 2001	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1995 2001	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2238 1	THERESA CT 422	N SF	P	N N	1.00	2001	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2001	INSTALLED AFTER LEAD BAN	Y	2001	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2240 1	THERESA CT 429	N SF	P	N	1.00	2001	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	2001	INSTALLED AFTER LEAD BAN	Y	2001	VISUAL INSP DURING INSTALL OR REPAIR
	THERESA CT 528	N SF	Р	N	1.00	2001	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2001	INSTALLED AFTER LEAD BAN	Υ	2001	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2242 1 EPAL2243 1	THERESA CT 530 THERESA CT 531	N SF N SF	P	N N	1.00	2001	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2001 2001	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2001	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2001	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2243 T	THERESA CT 531	N SF	P	N N	1.00	2001	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2001	INSTALLED AFTER LEAD BAN	Y	2001	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2245 1	THERESA CT 534	N SF	P	N	1.00	2001	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	2001	INSTALLED AFTER LEAD BAN	Y	2001	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2246 1	THERESA CT 536	N SF	Р	N	1.00	2001	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2001	INSTALLED AFTER LEAD BAN	Υ	2001	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2247 1	THERESA CT 537 THERESA CT 538	N SF N SF	P	N N	1.00	2001	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2001	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2001	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2001	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2248 1	THERESA CT 539	N SF	P	N N	1.00	2001	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2001	INSTALLED AFTER LEAD BAN	Y	2001	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2250 T	THERESA CT 540	N SF	P	N	1.00	2001	INSTALLED AFTER LEAD BAN	Υ	2001	VISUAL INSP DURING INSTALL OR REPAIR	č	1.00	2001	INSTALLED AFTER LEAD BAN	Υ	2001	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2251 T	THERESA CT 541	N SF	P	N	1.00	2001	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2001	INSTALLED AFTER LEAD BAN	Y	2001	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2252 1 EPAL2253 1	THERESA CT 543 THERESA CT 603	N SF	P	N N	1.00	2001	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2001	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2001 2001	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2253 1	THERESA CT 605	N SF	P	N N	1.00	2001	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2001	INSTALLED AFTER LEAD BAN	Y	2001	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2255 T	THERESA CT 607	N SF	P	N	1.00	2001	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	Č	1.00	2001	INSTALLED AFTER LEAD BAN	Y	2001	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2256 1	THERESA CT 609	N SF	Р	N	1.00	2001	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2001	INSTALLED AFTER LEAD BAN	Υ	2001	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2257 1 EPAL2258 1	THERESA CT 610 THERESA CT 612	N SF	P	N N	1.00	2001	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2001	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2001	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2258 1	THIRD ST E 103	N SF	UNK=LG	UNK	1.00	1940	MOTALLED ALTER LEAD DAIN	N N	2001	1307 E INSE DOMING INSTALL OF REPAIR	UNK=LG	1.00	1940	INSTALLED AT THE LEAD DAIN	N N	2001	VISONE INST DOMING INSTALL OR REPAIR
EPAL2260 1	THIRD ST E 109	N SF	UNK=LG	UNK		1940		N			UNK=LG		1940		N		
EPAL2261	THIRD ST E 115	N SF	UNK=LG	UNK	1	1940		N			UNK=LG		1940		N		
EPAL2262 T	THIRD ST E 116 THIRD ST E 121	N SF N SF	UNK=LG UNK=LG	UNK	1	1940 1940		N N			UNK=LG UNK=LG		1940 1940	1	N N		
EPAL2263	THIRD ST E 121	N SF	UNK=LG UNK=LG	UNK		1940		N N			C C	0.75	2001	INSTALLED AFTER LEAD BAN	N Y	2022	VISUAL INSP AT METER
EPAL2265 T	THIRD ST E 203	N SF	UNK=LG	UNK		1940		N			C	0.75	2001	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER
EPAL2266	THIRD ST E 204	N SF	UNK=LG	UNK		1940		N			С	0.75	2001	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP AT METER
EPAL2267 1 EPAL2268 1	THIRD ST E 209 THIRD ST E 210	N SF N SF	UNK=LG	UNK		1940 1940		N N			C	0.75	2001 1940	INSTALLED AFTER LEAD BAN	Y N	2022	VISUAL INSP AT METER
EPAL2268 1	THIRD ST E 210 THIRD ST E 215	N SF	UNK=LG UNK=LG	UNK		1940 1940		N N			UNK=LG L	0.75	1940 1940	PREVIOUS EVAL	N Y	2022	VISUAL INSP AT METER
EPAL2270 1	THIRD ST E 216	N SF	UNK=LG	UNK		1940		N			UNK=LG	0.75	1940		N	LULL	
EPAL2271 1	THIRD ST E 221	N SF	UNK=LG	UNK		1940		N			UNK=LG		1940		N		
	THIRD ST E 222 THIRD ST E 303	N SF N SF	UNK=LG	UNK		1940		N			C UNK=LG	0.75	2001	INSTALLED AFTER LEAD BAN	Y N	2022	VISUAL INSP AT METER
EPALZZ/3	ITINU 31 E 3U3	IN SF	UNK=LG	UNK	II	1940	1	I N	l		UNK=LG	1	1940	1	N		

SITE ID	LOCATION ID	LEAD BUILDING GOOSNEC TYPE K	PUBLIC MATERAIL	WAS PUBLICSIDE EVER LEAD		PUBLIC INSTALL	BASIS OF PUBILC MATRERIAL CLASSIFICATION	IC FILED	DATE OF STREET SIDE FIELD VERIFICATIO N	PUBLIC METHOD OF STREET SIDE FIELD VERIFICATION	PRIVATE MATERAIL	PRIVATE SIZE	PRIVATE INSTALL	BASIS OF PRIVATE MATRERIAL CLASSIFICATION	WAS PRIVATE FILED VERFIED	DATE OF PROPERTY SIDE FIELD VERIFICATION	PRIVATE METHOD OF PROPERTY SIDE FIELD VERIFICATION
			PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE
EPAL2274 TH EPAL2275 TH	HRD ST E 304 HRD ST E 309	N SF	UNK=LG UNK=LG	UNK		1940		N N			UNK=LG	0.75	1940 1940	PREVIOUS EVAI	N Y	2022	VISUAL INSP AT METER
EPAL2276 TH		N SF	UNK=LG	UNK		1940		N			C	0.75	2001	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER
	HIRD ST E 315	N SF	UNK=LG	UNK		1940		N			UNK=LG		1940		N		
	HIRD ST E 316	N SF	UNK=LG	UNK		1940		N			С	0.75	2001	INSTALLED AFTER LEAD BAN	γ	2022	VISUAL INSP AT METER
	HIRD ST E 321	N SF N SF	UNK=LG UNK=LG	UNK		1940		N N			C	0.75	2001	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER VISUAL INSP AT METER
	HIRD ST E 322 HIRD ST E 403	N SF	UNK=LG UNK=LG	UNK		1940		N N			UNK=LG	0.75	2001 1940	INSTALLED AFTER LEAD BAN	N N	2022	VISUAL INSP AT METER
	HIRD ST E 404	N SF	UNK=LG	UNK		1940		N			C	0.75	2001	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER
EPAL2283 TH	HIRD ST E 409	N SF	UNK=LG	UNK		1940		N			UNK=LG		1940		N		
	HIRD ST E 410	N SF	UNK=LG	UNK		1940		N			UNK=LG		1940		N		
	HIRD ST E 415	N SF N SF	UNK=LG	UNK		1940		N N			UNK=LG		1940		N N		
	HIRD ST E 416 HIRD ST E 422	N SF	UNK=LG UNK=LG	UNK		1940 1940		N N			UNK=LG UNK=LG		1940 1940		N N		
	HIRD ST E 423	N SF	UNK=LG	UNK		1940		N			С	0.75	2001	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP AT METER
EPAL2289 TH	HIRD ST E 503	N SF	UNK=LG	UNK		1940		N			UNK=LG		1940		N		
	HIRD ST E 504	N SF	UNK=LG	UNK		1940		N			С	0.75	2001	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP AT METER
	HIRD ST E 505 HIRD ST E 509	N SF N SF	UNK=LG UNK=LG	UNK		1940 1940		N N			C UNK=LG	0.75	2001 1940	INSTALLED AFTER LEAD BAN	Y N	2022	VISUAL INSP AT METER
	HIRD ST E 510	N SF	UNK=LG	UNK		1940		N			I I	0.75	1940	PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER
	HIRD ST E 516	N SF	UNK=LG	UNK		1940		N			L	0.75	1940	PREVIOUS EVAL	Ϋ́		VISUAL INSP AT METER
	HIRD ST E 521	N SF	UNK=LG	UNK		1940		N			UNK=LG		1940		N		
	HIRD ST E 603	N SF	UNK=LG	UNK	\vdash	1940		N			UNK=LG		1940		N		
	HIRD ST E 604 HIRD ST E 607	N SF N SF	UNK=LG UNK=LG	UNK	 	1940 1940		N N			UNK=LG UNK=LG		1940 1940		N N		
	HIRD ST E 607	N SF	UNK=LG UNK=LG	UNK	+	1940		N N			UNK=LG UNK=LG		1940		N N		
EPAL2300 TH	HIRD ST E 616	N SF	UNK=LG	UNK		1940		N			UNK=LG		1940		N		
EPAL2301 TH	HIRD ST E 704	N SF	UNK=LG	UNK		1940	-	N			UNK=LG		1940		N		
	HIRD ST E 711	N SF	UNK=LG	UNK		1940		N			L	0.75	1940	PREVIOUS EVAL	Υ		VISUAL INSP AT METER
	HIRD ST E 712 HIRD ST E 715	N SF N SF	UNK=LG	UNK		1940 1940		N N			L UNK=LG	0.75	1940 1940	PREVIOUS EVAL	Y N	2022	VISUAL INSP AT METER
	HIRD ST E 715	N SF	UNK=LG UNK=LG	UNK		1940		N N			UNK=LG L	0.75	1940	PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER
	HIRD ST E 719	N SF	UNK=LG	UNK		1940		N			UNK=LG		1940		N		
	HIRD ST E 720	N SF	UNK=LG	UNK		1940		N			UNK=LG		1940		N		
	HIRD ST E 724	N SF	UNK=LG	UNK		1940		N			UNK=LG		1940		N		
	HIRD ST E 725 HIRD ST E 731	N SF N SF	UNK=LG UNK=LG	UNK		1940 1940		N N			L UNK=LG	0.75	1940 1940	PREVIOUS EVAL	Y N	2022	VISUAL INSP AT METER
	HIRD ST E 731	N SF	UNK=LG UNK=LG	UNK		1940		N N			UNK=LG L	0.75	1940	PREVIOUS EVAL	N Y	2022	VISUAL INSP AT METER
	HRD ST E 809	N SF	UNK=LG	UNK		1940		N			UNK=LG	0.75	1940	THEVIOUS EVAL	N	1011	VISONE INSTANTINETEN
EPAL2313 TH	HIRD ST E 815	N SF	UNK=LG	UNK		1940		N			UNK=LG		1940		N		
	HIRD ST E 821	N SF	UNK=LG	UNK		1940		N			UNK=LG		1940		N		
	HIRD ST E 827 HIRD ST E 833	N SF N SF	UNK=LG UNK=LG	UNK		1940 1940		N N			C UNK=LG	0.75	2001 1940	INSTALLED AFTER LEAD BAN	Y N	2022	VISUAL INSP AT METER
	HRD ST W 1019	N SF	UNK=NOLG	UNK		1978		N			UNK=EG UNK=NOLG		1978		N		
	HIRD ST W 1020	N SF	UNK=NOLG	UNK		1978		N			UNK=NOLG		1978		N		
EPAL2319 TH	HIRD ST W 103	N SF	UNK=LG	UNK		1930		N			UNK=LG		1930		N		
	HIRD ST W 107	N SF	UNK=LG	UNK		1930		N			С	0.75	1930	PREVIOUS EVAL	Υ	2022	VISUAL INSP AT METER
	HIRD ST W 1103 HIRD ST W 1104	N SF N SE	UNK=NOLG UNK=NOLG	UNK		1978		N N			UNK=NOLG UNK=NOLG		1978 1978		N N		
	HRD ST W 1116	N SF	UNK=NOLG	UNK		1978		N			UNK=NOLG		1978		N		
EPAL2324 TH	HIRD ST W 1119	N SF	UNK=NOLG	UNK		1978		N			UNK=NOLG		1978		N		
	HIRD ST W 115	N SF	UNK=LG	UNK		1930		N			С	0.75	1930	PREVIOUS EVAL	γ	2022	VISUAL INSP AT METER
	HIRD ST W 116	N SF	UNK=LG	UNK	-	1930		N			UNK=LG		1930 1930		N		
	HIRD ST W 120 HIRD ST W 1209	N SF N SF	UNK=LG UNK=NOLG	UNK	 	1930 1978		N N	-		UNK=LG UNK=NOLG		1930 1978		N N		
	HRD ST W 1209	N SF	UNK=NOEG	UNK		1930		N	+		UNK=NOEG UNK=LG		1930		N		
EPAL2330 TH	HIRD ST W 1210	N SF	UNK=NOLG	UNK		1978		N			UNK=NOLG		1978		N		
	HIRD ST W 1219	N SF	UNK=NOLG			1978		N			UNK=NOLG		1978		N		
	HIRD ST W 1220 HIRD ST W 1351	N SF	UNK=NOLG	UNK	-	1978		N			UNK=NOLG		1978		N		
	HRD ST W 1351 HRD ST W 1412	N SF N SF	UNK=NOLG UNK=NOLG	UNK	 	1978 1978		N N			UNK=NOLG UNK=NOLG		1978 1978		N N		
	HRD ST W 1412	N SF	UNK=NOLG			1978		N			UNK=NOLG		1978		N		
EPAL2336 TH	HIRD ST W 1420	N SF	UNK=NOLG	UNK		1978		N			UNK=NOLG		1978		N		
	HIRD ST W 1427	N SF	UNK=NOLG	UNK		1978		N			UNK=NOLG		1978		N		
	HRD ST W 1428	N SF	UNK=NOLG	UNK	-	1978		N			UNK=NOLG		1978		N N		
	HIRD ST W 1435 HIRD ST W 1436	N SF N SF	UNK=NOLG UNK=NOLG	UNK	+ +	1978 1978		N N	+		UNK=NOLG UNK=NOLG		1978 1978		N N		
	HRD ST W 1444	N SF	UNK=NOLG	UNK		1978		N			UNK=NOLG		1978		N		
EPAL2342 TH	HIRD ST W 1504	N SF	UNK=NOLG	UNK		1978		N			UNK=NOLG		1978		N		
	HIRD ST W 1511	N SF	UNK=NOLG	UNK		1978		N			UNK=NOLG		1978		N		
	HIRD ST W 1512	N SF N SF	UNK=NOLG	UNK	-	1978		N N			UNK=NOLG		1978		N N		
	HIRD ST W 1519 HIRD ST W 1520	N SF	UNK=NOLG UNK=NOLG	UNK		1978		N N			UNK=NOLG UNK=NOLG		1978		N N		
	HRD ST W 1521	N SF	UNK=NOLG	UNK		1978		N	+		UNK=NOLG		1978		N		
EPAL2348 TH	HIRD ST W 203	N SF	UNK=LG	UNK		1930		N			UNK=LG		1930		N		
EPAL2349 TH	HIRD ST W 209	N SF	UNK=LG	UNK		1930		N			C	0.75	1930	PREVIOUS EVAL	γ	2022	VISUAL INSP AT METER
	HIRD ST W 215	N SF	UNK=LG	UNK		1930		N			C	0.75	1930	PREVIOUS EVAL	Y		VISUAL INSP AT METER
	HIRD ST W 216 HIRD ST W 219	N SF N SF	UNK=LG UNK=LG	UNK		1930 1930		N N			C	0.75 0.75	1930 1930	PREVIOUS EVAL PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER VISUAL INSP AT METER
	HRD ST W 220	N SF	UNK=LG UNK=LG	UNK		1930		N N			UNK=LG	0./3	1930	. MEVIOUS EVAL	N N	2022	FISONE INST AT WILLEN
EPAL2354 TH	HIRD ST W 303	N SF	UNK=LG	UNK		1930		N			C	0.75	1930	PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER
	HIRD ST W 309	N SF	UNK=LG	UNK		1930		N			UNK=LG		1930		N		
EPAL2356 TH EPAL2357 TH		N SF N SF	UNK=LG	UNK	\vdash	1930		N			C UNK=LG	0.75	1930	PREVIOUS EVAL	Y	2022	VISUAL INSP AT METER
EPAL235/ TH	C15 M 16 חחור	N SF	UNK=LG	UNK		1930		N			UNK=LG	I	1930		N		

SITE ID	LOCATION ID	LEAD GOOSNEC K	BUILDING TYPE	PUBLIC MATERAIL	WAS PUBLICSIDE EVER LEAD	PUBLIC SIZE	PUBLIC INSTALL	BASIS OF PUBILC MATRERIAL CLASSIFICATION	DATE OF WASPUBL STREET SIDE IC FILED FIELD VERFIED VERIFICATIO N	PUBLIC METHOD OF STREET SIDE FIELD VERIFICATION	PRIVATE MATERAIL	PRIVATE SIZE	PRIVATE INSTALL	BASIS OF PRIVATE MATRERIAL CLASSIFICATION	WAS PRIVATE FILED VERFIED	DATE OF PROPERTY SIDE FIELD VERIFICATION	PRIVATE METHOD OF PROPERTY SIDE FIELD VERIFICATION
				PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC PUBLIC	PUBLIC	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE
EPAL2358 THIR EPAL2359 THIR		N N	SF SF	UNK=LG UNK=LG	UNK		1930 1930		N N		UNK=LG UNK=LG		1930 1930		N N		
EPAL2359 THIR		N N	SF	UNK=LG UNK=LG	UNK		1930		N N		UNK=LG UNK=LG	-	1930		N N		
EPAL2361 THIR	RD ST W 403	N	SF	UNK=LG	UNK		1930		N		UNK=LG		1930		N		
EPAL2362 THIR		N	SF	UNK=LG	UNK		1930		N		UNK=LG		1930		N		
EPAL2363 THIR EPAL2364 THIR		N N	SF SF	UNK=LG UNK=LG	UNK		1930 1930		N N		UNK=LG UNK=LG		1930 1930		N N		
EPAL2365 THIR		N	SF	UNK=LG	UNK		1930		N		UNK=LG		1930		N		
EPAL2366 THIR		N	SF	UNK=LG	UNK		1930		N		UNK=LG		1930		N		
EPAL2367 THIR EPAL2368 THIR		N N	SF NONRES	UNK=LG UNK=LG	UNK		1930 1930		N N		UNK=LG UNK=LG		1930 1930		N N		
EPAL2369 THIR		N	SF	UNK=LG	UNK		1930		N N		UNK=LG	-	1930		N		
EPAL2370 THIR		N	SF	UNK=LG	UNK		1930		N		UNK=LG		1930		N		
EPAL2371 THIR EPAL2372 THIR		N	SF	UNK=LG	UNK		1930		N N		UNK=LG		1930 1930		N		
EPAL2372 THIR		N N	NONRES SF	UNK=LG UNK=LG	UNK		1930 1930		N N		UNK=LG UNK=LG		1930		N N		
EPAL2374 THIR		N	SF	UNK=LG	UNK		1930		N		UNK=LG		1930		N		
	RD ST W 537	N	SF	UNK=LG	UNK		1930		N		UNK=LG		1930		N		
EPAL2376 THIR		N N	SF SF	UNK=LG UNK=LG	UNK		1930 1930		N N		UNK=LG UNK=LG		1930		N N		
EPAL2377 THIR		N N	SCH/CC	P P	N N	3.00	2000	Previous eval	Y 2000	VISUAL INSP DURING INSTALL OR REPAIR	P P	3.00	2000	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER
EPAL2379 THIR	RD ST W 824	N	SF	UNK=LG	UNK		1930		N		UNK=LG		1930		N		
EPAL2380 THIR		N N	SF SF	P P	N N	1.00	2015 2015	INSTALLED AFTER LEAD BAN	Y 2015 Y 2015	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2000	INSTALLATION RECORD	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2381 THIR		N N	SF SF	P P	N N	1.00	2015	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2015 Y 2015	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00		INSTALLATION RECORD	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2383 THIR	RD ST W 903	N	SF	P	N N	1.00	2015	INSTALLED AFTER LEAD BAN	Y 2015	VISUAL INSP DURING INSTALL OR REPAIR	Č	1.00	2000	INSTALLATION RECORD	Y	2015	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2384 TREA		N	SF	P	N	1.00	2017	INSTALLED AFTER LEAD BAN	Y 2017	VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2017	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR
EPAL2385 TREA		N N	SF SE	P	N N	1.00	2017 2017	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2017 Y 2017	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2017	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2387 TREA		N	SF	P	N	1.00	2017	INSTALLED AFTER LEAD BAN	Y 2017	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2017	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL2388 TRUI		N	NONRES	С	N	2.00	1986	Diameter > 2 inches	Y 1986	VISUAL INSP DURING INSTALL OR REPAIR	С	2.00	1986	DIAMETER > 2"	Υ		VISUAL INSP DURING INSTALL OR REPAIR
EPAL2389 TRUI		N N	NONRES	C	N	2.00	1986 1986	Diameter > 2 inches	Y 1986 Y 1986	VISUAL INSP DURING INSTALL OR REPAIR	C C	2.00	1986 1986	DIAMETER > 2" DIAMETER > 2"	Y		VISUAL INSP DURING INSTALL OR REPAIR
	MAN ST 1019	N N	NONRES	C	N N	2.00	1986	Diameter > 2 inches Diameter > 2 inches	Y 1986 Y 1986	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	2.00	1986	DIAMETER > 2"	Y	1986	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2392 TRUI		N	NONRES	C	N	2.00	1986	Diameter > 2 inches	Y 1986	VISUAL INSP DURING INSTALL OR REPAIR	C	2.00	1986	DIAMETER > 2"	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL2393 TRUI		N	NONRES	C	N	2.00	1986	Diameter > 2 inches	Y 1986	VISUAL INSP DURING INSTALL OR REPAIR	C	2.00	1986	DIAMETER > 2"	Υ		VISUAL INSP DURING INSTALL OR REPAIR
EPAL2394 TRUI	MAN ST 749 MAN ST 753	N N	SCH/CC NONRES	C	N N	2.00	1986 1986	Diameter > 2 inches Diameter > 2 inches	Y 1986 Y 1986	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	2.00	1986 1986	DIAMETER > 2" DIAMETER > 2"	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2396 TRUI		N	NONRES	C	N	2.00	1986	Diameter > 2 inches	Y 1986	VISUAL INSP DURING INSTALL OR REPAIR	C	2.00	1986	DIAMETER > 2"	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL2397 TRUI		N	NONRES	С	N	2.00	1986	Diameter > 2 inches	Y 1986	VISUAL INSP DURING INSTALL OR REPAIR	C	2.00	1986	DIAMETER > 2"	Υ		VISUAL INSP DURING INSTALL OR REPAIR
EPAL2398 UPPI		N N	MIX	C	Y	1.00	2007	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2008 Y 2008	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2007	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER VISUAL INSP AT METER
EPAL2400 VAN		N	SF	C	N N	1.00	1993	INSTALLED AFTER LEAD BAN	Y 1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1993	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP DURING INSTALL OR REPAIR
EPAL2401 VAN		N	SF	С	N	1.00	1993	INSTALLED AFTER LEAD BAN	Y 1993	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1993	INSTALLED AFTER LEAD BAN	Υ	1993	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2402 VAN EPAL2403 VAN		N N	SF SF	C	N	1.00	1993 1993	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 1993 Y 1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1993 1993	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2403 VAN EPAL2404 VAN		N N	SF SF	C	N N	1.00	1993	INSTALLED AFTER LEAD BAN	Y 1993 Y 1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1993	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2405 VAN	I ELZEN LN 546	N	SF	C	N	1.00	1993	INSTALLED AFTER LEAD BAN	Y 1993	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1993	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR
EPAL2406 VAN		N	SF	C	N	1.00	1993	INSTALLED AFTER LEAD BAN	Y 1993	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1993	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL2407 VAN EPAL2408 VAN		N N	SF SF	C	N N	1.00	1993 1993	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 1993 Y 1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1993 1993	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2409 VAN		N	SF	c	N	1.00	1993	INSTALLED AFTER LEAD BAN	Y 1993	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1993	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR
EPAL2410 VAN		N	SF	С	N	1.00	1993	INSTALLED AFTER LEAD BAN	Y 1993	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1993	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR
EPAL2411 VAN EPAL2412 VAN		N N	SF SF	C	N N	1.00	1993 1993	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 1993 Y 1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1993 1993	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	1993 1993	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2413 VAN		N	SF	c	N	1.00	1993	INSTALLED AFTER LEAD BAN	Y 1993	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1993	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL2414 VAN		N	SF	С	N	1.00	1993	INSTALLED AFTER LEAD BAN	Y 1993	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00		INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR
EPAL2415 VERI	HAGEN PARKWAY	N N	MIX	С	Y N	1.00	2007	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2008 Y 2005	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2007 2004	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022 2005	VISUAL INSP AT METER VISUAL INSP DURING INSTALL OR REPAIR
EPAL2416 VILL		N N	SF	C	N N	1.00	2004	INSTALLED AFTER LEAD BAN	Y 2005	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2004	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2418 VILL	A DR 520	N	SF	С	N	1.00	2004	INSTALLED AFTER LEAD BAN	Y 2005	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2004	INSTALLED AFTER LEAD BAN	γ		VISUAL INSP DURING INSTALL OR REPAIR
EPAL2419 VILL		N	SF	С	N	1.00	2004	INSTALLED AFTER LEAD BAN	Y 2005	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2004	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL2420 VILL		N N	SF SE	C	N N	1.00	2004	INSTALLED AFTER LEAD BAN	Y 2005 Y 2005	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2004	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2422 VILL	A DR 532	N	SF	Č	N	1.00	2004	INSTALLED AFTER LEAD BAN	Y 2005	VISUAL INSP DURING INSTALL OR REPAIR	Č	1.00	2004	INSTALLED AFTER LEAD BAN	Υ	2005	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2423 VILL		N	SF	С	N	1.00	2004	INSTALLED AFTER LEAD BAN	Y 2005	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2004	INSTALLED AFTER LEAD BAN	Υ	2005	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2424 VILL		N N	SF SF	C	N N	1.00	2004	INSTALLED AFTER LEAD BAN	Y 2005 Y 2005	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2004	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2427 WAL		N	SF	P	Y	1.00	2010	INSTALLED AFTER LEAD BAN	Y 2010	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL2428 WAL		N	SF	P	Y	1.00	2010	INSTALLED AFTER LEAD BAN	Y 2010	VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2022	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2429 WAL		N	SF SF	P P	Y	1.00	2010	INSTALLED AFTER LEAD BAN	Y 2010 Y 2010	VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL2430 WAL		N N	SF SF	P P	Y	1.00	2010 2010	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2010 Y 2010	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2432 WAL	LNUT ST S 127	N	SF	P	Y	1.00	2010	INSTALLED AFTER LEAD BAN	Y 2010	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2433 WAL		N	SF	Р	Υ	1.00	2010	INSTALLED AFTER LEAD BAN	Y 2010	VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2022	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR
EPAL2434 WAL		N N	SF SE	P P	Y V	1.00	2010 2010	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2010 Y 2010	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2435 WAL		N N	SF	P	Y	1.00	2010	INSTALLED AFTER LEAD BAN	Y 2010 Y 2010	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2437 WAL	LNUT ST S 203	N	SF	P	Y	1.00	2010	INSTALLED AFTER LEAD BAN	Y 2010	VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2022	INSTALLED AFTER LEAD BAN	γ	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2438 WAL		N	SF	P	Y	1.00	2010	INSTALLED AFTER LEAD BAN	Y 2010	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL2439 WAL		N N	SF SF	P	Y	1.00	2010 2010	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y 2010 Y 2010	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022 2022	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2441 WAL	LNUT ST S 220	N	SF	P	Y	1.00	2010	INSTALLED AFTER LEAD BAN	Y 2010	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00		INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL2442 WAL		N	SF	P	Y	1.00	2010	INSTALLED AFTER LEAD BAN	Y 2010	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP DURING INSTALL OR REPAIR

Part	SITE ID	LOCATION ID	LEAD GOOSNEC K	BUILDING TYPE	PUBLIC MATERAIL	WAS PUBLICSIDE EVER LEAD	PUBLIC SIZE	PUBLIC INSTALL	BASIS OF PUBILC MATRERIAL CLASSIFICATION	DATE OF WASPUBL STREET SIDE IC FILED FIELD VERFIED VERIFICATIO N	PUBLIC METHOD OF STREET SIDE FIELD VERIFICATION	PRIVATE MATERAIL	PRIVATE SIZE	PRIVATE INSTALL	BASIS OF PRIVATE MATRERIAL CLASSIFICATION	WAS PRIVATE FILED VERFIED V	DATE OF PROPERTY SIDE FIELD /ERIFICATION	PRIVATE METHOD OF PROPERTY SIDE FIELD VERIFICATION
Part					PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC PUBLIC	PUBLIC	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE
The Content of 1915 1.0					Р	Υ						P				Υ		
Part					P	Y						P				Y		
Part					P							P						
March 1966													1.00		INSTALLED ATTEN LEAD BAN	-	2022	VISUAL INST DURING INSTALL ON REPAIR
Part	EPAL2448 WAL	NUT ST S 239		SF	P	Y							1.00				2022	VISUAL INSP DURING INSTALL OR REPAIR
Page					P	Υ												
The color of the					· ·	Y										-		
MATERIAL					P	Y										Y		
Page					P	Y										Y		
Page					Р	Y												
Part	EPAL2455 WAL	NUT ST S 326	N		P	Y	1.00	2010	INSTALLED AFTER LEAD BAN	Y 2010	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2022	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP DURING INSTALL OR REPAIR
Part					P	Y						P				Y		
Page					P	Y										-		
Process Proc					· ·													
Transfer					P	Y										-		
Part					UNK=LG	UNK												
Part										N		С						
PROMETICAL PRO																		
												C						
Transport 15 1												C				-		
March Marc																-		
MARCHESTON FOR 16 1																		
PARTICIPATION PARTICIPATIO	EPAL2470 WAS	SHINGTON ST N 143	N	SF	UNK=LG	UNK		1930		N			0.75	1930	INSTALLATION RECORD	-	2022	VISUAL INSP AT METER
Part																		
PROJECT NAMESHOON ST 127 27 100																		
Fig. 12 1 1 1 1 1 1 1 1 1													0.75		INSTALLATION RECORD		2022	VISUAL INSP AT METER
PAILAGE WORNINGTON 575137 X S WARRES																		
PAILAGE WORNINGTON 575137 X S WARRES																		
Fig. 20 Months	EPAL2477 WAS	SHINGTON ST S 115			UNK=LG													
PARTIALIS PAR																-		
PRAMER WASHINGTON \$1 131 1																		
FRAMERING PARTICULAR PART					UNK=LG							, r						
FRAZIAGE MARKINGTON 57-127 N 5" UNIVELLE OF LANK 1930 N N C C D.75 1930 MARKINGTON GETOM V 2022 UNIVEL HIGH AT METERS C C D.75 1930 MARKINGTON GETOM V 2022 UNIVEL HIGH AT METERS C C D.75 1930 MARKINGTON GETOM V 2022 UNIVEL HIGH AT METERS C C D.75 1930 MARKINGTON GETOM V 2022 UNIVEL HIGH AT METERS C C D.75 1930 MARKINGTON GETOM V 2022 UNIVEL HIGH AT METERS C C D.75 UNIVEL HIGH AT METERS C D.75 UN												c				Y		
EPALAGE WARRINGTON \$71-518 N			N	SF						N		P		2022		Υ		
FRANCES MAGNETICH 51-148 N												С				Y		
FRAZISH MARKETON \$15 44 N 57 MARKE MARKET												C				Y		
FigN-2489 MAGRIFICAT \$75.48 N. \$5			_									C				Y		
PRIAZES WINDERFORM \$75.93 N												C						
PRIADED WASHINGTOR \$7 500												C				Y		
PRAZES WASHINGTON \$5 12 N. \$5	EPAL2490 WAS	SHINGTON ST S 203	N	SF	UNK=LG	UNK		1930		N		P	1.00	2022	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
FPAL269 WASHINGTOM \$75 2121 N \$5 UMR-LIG UMR 1390 N P 1.00 2022 VISUAL INSPECTION FEATURE BAN Y 2022 VISUAL INSPECTION FEATUR BAN Y 2024 VISUAL INSPECTION FEATUR BAN Y 2024 VISUAL INSPECTION FEATUR B												P						
PRA1259 WASHINCTON 575 222 N												C				Y		
EPAL295 WASHINCTON \$75 220 N												C				Y		
EPAL299 WASHINCTON \$75 222			_	_								P						
EPAL299 WASHINGTON \$75 223																		
EPAL2509 MASHINGTON \$75 225	EPAL2497 WAS	SHINGTON ST S 223											1.00	2022		Υ	2022	
EPALSOD MASHINGTON \$75 227 N NONRES UNIK-LIG UNIK 1930 N N				_														
EPAL2501 MASHINGTON \$75 223 N \$5																-		
FRALSON WASHINGTON \$TS 2238 N																		
FRAL2503 WASHINGTON \$T\$ 524																-		
FRAL2505 MSHINKTON ST \$40 N NONRES P N 12.00 1975 Field inspection only Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 Field inspection only Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 Field inspection only Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1976 INSTALLED AFTER IEAD BAN Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1976 INSTALLED AFTER IEAD BAN Y 1994 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1976 INSTALLED AFTER IEAD BAN Y 1994 VISUAL INSP DURING INSTALL OR REPAIR P 2024 VISUAL INSP DURING INSTALL OR REPAIR P 2024 VISUAL INSP DURING INSTALL OR REPAIR P 2024 VISUAL INSP DURING INSTALL OR REPAIR P 20	EPAL2503 WAS	SHINGTON ST S 238		SF	UNK=LG	UNK		1930		N			0.75	1930	INSTALLATION RECORD		2022	VISUAL INSP AT METER
EPAL2506 M. NONRES P N 12.00 1975 Field inspection only Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1976 INSTALLED AFTER LEAD BAN Y 1994 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1976 INSTALLED AFTER LEAD BAN Y 1994 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1976 INSTALLED AFTER LEAD BAN Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR													1.00		INSTALLED AFTER LEAD BAN		2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2597 MASHINGTON ST 5422 N NONRES P N 12.00 1975 Field inspection only Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 12.00 1975 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR UNK-NOLG 1976 INSTALLED AFTER LEAD BAN Y 2024 VISUAL INSP DURING INSTALL OR REPAIR UNK-NOLG 1976 INSTALLED AFTER LEAD BAN Y 1994 VISUAL INSP DURING INSTALL OR REPAIR UNK-NOLG 1976 INSTALLED AFTER LEAD BAN Y 1994 VISUAL INSP DURING INSTALL OR REPAIR UNK-NOLG 1976 INSTALLED AFTER LEAD BAN Y 1994 VISUAL INSP DURING INSTALL OR REPAIR UNK-NOLG 1976 INSTALLED AFTER LEAD BAN Y 1994 VISUAL INSP DURING INSTALL OR REPAIR UNK-NOLG 1976 INSTALLED AFTER LEAD BAN Y 1994 VISUAL INSP DURING INSTALL OR REPAIR UNK-LG 1930 INSTALLED AFTER LEAD BAN Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 6.00 2013 INSTALLED AFTER LEAD BAN Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 6.00 2013 INSTALLED AFTER LEAD BAN Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 6.00 2013 INSTALLED AFTER LEAD BAN Y 2024 VISUAL INSP DURING INSTALL OR REPAIR P 6.00 2013 INSTALLED AFTER LEAD BAN Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974					UNK=LG		12.00		Field inspection or b		VICTIAL INCO DUDING INSTALL OF SERVE		12.00		INCTALLATION DECORD		2024	VICUAL INCO DUDING INCTALL OF SERVICE
EPAL2598 WASHINGTON ST 5 424					Р													
EPAL2510 WASHINGTON ST S 438					· ·													
EPAL2510 MASHINGTON ST 5 444 N					-					N						-		, , , , , , , , , , , , , , , , , , , ,
EPAL2511 MASHINGTON ST 5 528 N NONRES C N 1.00 1994 MSTALLED AFTER LEAD BAN Y 1.00 1994 MSTALLED	EPAL2510 WAS	SHINGTON ST S 444	N	NONRES	С	N		1976		Y 2024		UNK=NOLG		1976		N		
EPAL2513					C							UNK=NOLG						
EPAL2514 MASHINGTON ST 5-366					C		1.00		INSTALLED AFTER LEAD BAN		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00		INSTALLED AFTER LEAD BAN		1994	VISUAL INSP AT METER
EPAL2515 WELHOUSE DR 200																		
EPAL2515 WELHOUSE DR 200							6.00		INSTALLED AFTER LEAD BAN		VISUAL INSP DURING INSTALL OR REPAIR		6.00		INSTALLED AFTER LEAD BAN		2022	VISUAL INSP AT METER
EPAL2518 WELHOUSE DR 206					P							c				-		
EPAL2519 WELHOUSE DR 207 N SF P N 1.00 2024 INSTALLED AFTER LEAD BAN Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR EPAL2521 WELHOUSE DR 213 N SF P N 1.00 2024 INSTALLED AFTER LEAD BAN Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR EPAL2522 WELHOUSE DR 218 N SF P N 1.00 2024 INSTALLED AFTER LEAD BAN Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR EPAL2522 WELHOUSE DR 219 N SF P N 1.00 2024 INSTALLED AFTER LEAD BAN Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR EPAL2524 WELHOUSE DR 224 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974					P							С						
EPAL2520 WELHOUSE DR 212 N SF P N 1.00 2024 INSTALLED AFTER LEAD BAN Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974					Р		1.00					-	1.00			-		
EPAL2521 WELHOUSE DR 213 N SF P N 1.00 2024 INSTALLED AFTER LEAD BAN Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR EPAL2522 WELHOUSE DR 218 N SF P N 1.00 2024 INSTALLED AFTER LEAD BAN Y 2024 VISUAL INSP DURING INSTALL OR REPAIR EPAL2523 WELHOUSE DR 219 N SF P N 1.00 2024 INSTALLED AFTER LEAD BAN Y 2024 VISUAL INSP DURING INSTALL OR REPAIR EPAL2524 WELHOUSE DR 224 N SF P N 1.00 2024 INSTALLED AFTER LEAD BAN Y 2024 VISUAL INSP DURING INSTALL OR REPAIR EPAL2524 WELHOUSE DR 224 N SF P N 1.00 2024 INSTALLED AFTER LEAD BAN Y 2024 VISUAL INSP DURING INSTALL OR REPAIR EPAL2524 WELHOUSE DR 224 N SF P N 1.00					P							C				-		
EFALS222 WELHOUSE DR 218 N SF P N 1.00 2024 INSTALLED AFTER LEAD BAN Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR EPALS223 WELHOUSE DR 219 N SF P N 1.00 2024 INSTALLED AFTER LEAD BAN Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR EPALS243 WELHOUSE DR 224 N SF P N 1.00 2024 INSTALLED AFTER LEAD BAN Y 2024 VISUAL INSP DURING INSTALL OR REPAIR EPALS243 WELHOUSE DR 224 N SF P N 1.00 2024 INSTALLED AFTER LEAD BAN Y 2024 VISUAL INSP DURING INSTALL OR REPAIR EPALS243 WELHOUSE DR 224 N SF P N 1.00 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974												C				-		
EPAL2523 WELHOUSE DR 219 N SF P N 1.00 2024 INSTALLED AFTER LEAD BAN Y 2024 VISUAL INSP DURING INSTALL OR REPAIR EPAL2524 WELHOUSE DR 224 N SF P N 1.00 2024 INSTALLED AFTER LEAD BAN Y 2024 VISUAL INSP DURING INSTALL OR REPAIR EPAL2524 WELHOUSE DR 224 N SF P N 1.00 2024 INSTALLED AFTER LEAD BAN Y 2024 VISUAL INSP DURING INSTALL OR REPAIR EPAL2524 WELHOUSE DR 224 N SF P N 1.00 2024 INSTALLED AFTER LEAD BAN Y 2024 VISUAL INSP DURING INSTALL OR REPAIR EPAL2524 WELHOUSE DR 224 N SF P N 1.00 2024 VISUAL INSP DURING INSTALL OR REPAIR EPAL2524 WELHOUSE DR 224 N SF P N 1.00 2024 VISUAL INSP DURING INSTALL OR REPAIR EPAL2525 WELHOUSE DR 224 N SF P N 1.00 2024 VISUAL INSP DURING INSTALL OR REPAIR EPAL2525 WELHOUSE DR 224 N SF P N 1.00 2024 VISUAL INSP DURING INSTALL OR REPAIR EPAL2526 WELHOUSE DR 224 N SF P N 1.00 2024 VISUAL INSP DURING INSTALL OR REPAIR EPAL2526 WELHOUSE DR 224 N SF P N 1.00 2024 VISUAL INSP DURING INSTALL OR REPAIR EPAL2526 WELHOUSE DR 224 N SF P N 1.00 2024 VISUAL INSP DURING INSTALL OR REPAIR EPAL2526 WELHOUSE DR 224 N SF P N 1.00 2024 VISUAL INSP DURING INSTALL OR REPAIR EPAL2526 WELHOUSE DR 224 N SF P N 1.00 2024 VISUAL INSP DURING INSTALL OR REPAIR EPAL2528 WELHOUSE DR 224 N SF P N 1.00 2024 VISUAL INSP DURING INSTALL OR REPAIR EPAL2528 WELHOUSE DR 224 N SF P N 1.00 2024 VISUAL INSP DURING INSTALL OR REPAIR EPAL2528 WELHOUSE DR 224 N SF P N 1.00 2024 VISUAL INSP DURING INSTALL OR REPAIR EPAL2528 WELHOUSE DR 224 N SF P N 1.00 2024 VISUAL INSP DURING INSTALL OR REPAIR EPAL2528 WELHOUSE DR 224 N SF P N 1.00 2024 VISUAL INSP DURING INSTALL OR REPAIR EPAL2528 WELHOUSE DR 224 N SF P N 1.00 2024 VISUAL INSP DURING INSTALL OR REPAIR EPAL2528 WELHOUSE DR 224 N SF P N 1.00 2024 VISUAL INSP DURING INSTALL OR REPAIR EPAL2528 WELHOUSE DR 224 N SF P N 1.00 2024 VISUAL INSP DURING INSTALL OR REPAIR EPAL2528 WELHOUSE DR 224 N SF P N 1.00 2024 VISUAL INSP DURING INSTALL OR REPAIR EPAL2528 WELHOUSE DR 224 N SF P N 1.00 2024 VISUAL INSP DURING INSTALL OR REPAIR EPAL2528 WELHOUSE DR 224 N SF P N 1.00 2024 VISUAL INSP					P							C						
EPAL2524 WELHOUSE DR 224 N SF P N 1.00 2024 INSTALLED AFTER LEAD BAN Y 2024 VISUAL INSP DURING INSTALL OR REPAIR					P							C						
	EPAL2524 WELI	HOUSE DR 224	N	SF	P	N	1.00	2024	INSTALLED AFTER LEAD BAN	Y 2024	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974	INSTALLATION RECORD		2024	VISUAL INSP DURING INSTALL OR REPAIR
	EPAL2525 WELI	HOUSE DR 225	N	SF	P	N	1.00	2024	INSTALLED AFTER LEAD BAN	Y 2024	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1974	INSTALLATION RECORD	Y	2024	VISUAL INSP DURING INSTALL OR REPAIR
EPAL5256 WELHOUSE DR 230 N SF P N 1.00 2024 INSTALLED AFTER LEAD BAN Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR					P							C				-		
EPAL2527 WELHOUSE DR 231 N SF P N 1.00 2024 INSTALLED AFTER LEAD BAN Y 2024 VISUAL INSP DURING INSTALL OR REPAIR C 1.00 1974 INSTALLATION RECORD Y 2024 VISUAL INSP DURING INSTALL OR REPAIR	EPAL252/ WELI	HOUSE DR 231	N	SF.	Р	N	1.00	2024	INSTALLED AFTER LEAD BAN	1 2024	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	19/4	INSTALLATION RECORD	Y	2024	VISUAL INSP DURING INSTALL OR REPAIR

SITE ID	LOCATION ID	LEAD GOOSNEC K	BUILDING TYPE	PUBLIC MATERAIL	WAS PUBLICSIDE EVER LEAD	PUBLIC SIZE	PUBLIC INSTALL	BASIS OF PUBILC MATRERIAL CLASSIFICATION	WASPUBL ST	DATE OF TREET SIDE FIELD ERIFICATIO N	PUBLIC METHOD OF STREET SIDE FIELD VERIFICATION	PRIVATE MATERAIL	PRIVATE SIZE	PRIVATE INSTALL	BASIS OF PRIVATE MATRERIAL CLASSIFICATION	WAS PRIVATE FILED VERFIED	DATE OF PROPERTY SIDE FIELD VERIFICATION	PRIVATE METHOD OF PROPERTY SIDE FIELD VERIFICATION
				PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC		PUBLIC	PUBLIC	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE
EPAL2528 WE	LHOUSE DR 236 LHOUSE DR 242	N N	SF SF	P	N N	1.00	2024	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2024	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974 1974	INSTALLATION RECORD INSTALLATION RECORD	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2529 WE	LHOUSE DR 242 LHOUSE DR 248	N	SF	P	N N	1.00	2024	INSTALLED AFTER LEAD BAN	Y	2024	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974	INSTALLATION RECORD	Y	2024	VISUAL INSP DURING INSTALL OR REPAIR
	LHOUSE DR 302	N	SF	P	N	1.00	2024	INSTALLED AFTER LEAD BAN	Y	2024	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1974	INSTALLATION RECORD	Υ	2024	VISUAL INSP DURING INSTALL OR REPAIR
	LHOUSE DR 308	N N	SF SF	P P	N N	1.00	2024	INSTALLED AFTER LEAD BAN	Y	2024	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974	INSTALLATION RECORD	Y	2024	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2533 WE EPAL2534 WE	LHOUSE DR 309	N N	SF SF	P	N N	1.00	2024	INSTALLED AFTER LEAD BAN	Y	2024	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974	INSTALLATION RECORD	Y	2024	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	LHOUSE DR 315	N	SF	P	N	1.00	2024	INSTALLED AFTER LEAD BAN	Y	2024	VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	1974	INSTALLATION RECORD	Y	2024	VISUAL INSP DURING INSTALL OR REPAIR
	LHOUSE DR 320	N	SF	P	N	1.00	2024	INSTALLED AFTER LEAD BAN	Y	2024	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1974	INSTALLATION RECORD	Υ		VISUAL INSP DURING INSTALL OR REPAIR
	LHOUSE DR 321	N N	SF SF	P	N	1.00	2024	INSTALLED AFTER LEAD BAN	Y	2024	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00		INSTALLATION RECORD	Y	2024 2024	VISUAL INSP DURING INSTALL OR REPAIR
	LHOUSE DR 326 LHOUSE DR 327	N N	SF SF	P	N N	1.00	2024	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2024	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974	INSTALLATION RECORD INSTALLATION RECORD	Y	2024	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	LHOUSE DR 332	N	SF	P	N	1.00	2024	INSTALLED AFTER LEAD BAN	Υ	2024	VISUAL INSP DURING INSTALL OR REPAIR	Č	1.00		INSTALLATION RECORD	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL2541 WE		N	SF	P	N	1.00	2024	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	С	1.00		INSTALLATION RECORD	Υ		VISUAL INSP DURING INSTALL OR REPAIR
	LHOUSE DR 338	N N	SF SF	P P	N N	1.00	2024	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2024	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1974 1974	INSTALLATION RECORD INSTALLATION RECORD	Y	2024	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	LHOUSE DR 339 LHOUSE DR 342	N N	SF	P	N N	1.00	2024	INSTALLED AFTER LEAD BAN	Y	2024	VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	1974	INSTALLATION RECORD	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL2545 WE	LHOUSE DR 345	N	SF	Р	N	1.00	2024	INSTALLED AFTER LEAD BAN	Y	2024	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1974	INSTALLATION RECORD	Υ	2024	VISUAL INSP DURING INSTALL OR REPAIR
	LHOUSE DR 348	N	SF	P	N	1.00	2024	INSTALLED AFTER LEAD BAN	Υ	2024	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1974	INSTALLATION RECORD	Υ	2024	VISUAL INSP DURING INSTALL OR REPAIR
	LHOUSE DR 351 LHOUSE DR 354	N N	SF SF	P P	N N	1.00	2024	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2024	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974 1974	INSTALLATION RECORD INSTALLATION RECORD	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2548 WE		N N	SF	P	N N	1.00		INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974	INSTALLATION RECORD	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2550 WE	LHOUSE DR 360	N	SF	P	N	1.00	2024	INSTALLED AFTER LEAD BAN	Y	2024	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974	INSTALLATION RECORD	Y	2024	VISUAL INSP DURING INSTALL OR REPAIR
	LHOUSE DR 361	N N	SF SF	P P	N N	1.00	2024	INSTALLED AFTER LEAD BAN	Y	2024	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974	INSTALLATION RECORD	Y	2024	VISUAL INSP DURING INSTALL OR REPAIR
	LHOUSE DR 368 LHOUSE DR 369	N N	SF SF	P P	N N	1.00	2024	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2024	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974 1974	INSTALLATION RECORD INSTALLATION RECORD	Y	2024	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	LHOUSE DR 369 LHOUSE DR 375	N N	SF	P	N N	1.00	2024	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	c	1.00		INSTALLATION RECORD	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
EPAL2555 WE	LHOUSE DR 376	N	SF	P	N	1.00		INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974	INSTALLATION RECORD	Υ		VISUAL INSP DURING INSTALL OR REPAIR
	LHOUSE DR 382	N	SF	P	N	1.00	2024	INSTALLED AFTER LEAD BAN	Υ	2024	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1974	INSTALLATION RECORD	Υ		VISUAL INSP DURING INSTALL OR REPAIR
EPAL2557 WE	LHOUSE DR 383 LHOUSE DR 389	N N	SF SF	P	N N	1.00	2024	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2024	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00		INSTALLATION RECORD INSTALLATION RECORD	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	LHOUSE DR 390	N	SF	P	N N	1.00	2024	INSTALLED AFTER LEAD BAN	Y	2024	VISUAL INSP DURING INSTALL OR REPAIR	c	1.00	1974	INSTALLATION RECORD	Y	2024	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2560 WE		N	SF	P	N	1.00	2024	INSTALLED AFTER LEAD BAN	Y	2024	VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	1974	INSTALLATION RECORD	Υ		VISUAL INSP DURING INSTALL OR REPAIR
	LHOUSE DR 398	N	SF	P	N	1.00	2024	INSTALLED AFTER LEAD BAN	Y	2024	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1974	INSTALLATION RECORD	Y		VISUAL INSP DURING INSTALL OR REPAIR
	IITE CEDAR PARKWAY 32: IITE CEDAR PARKWAY 32:		MF MF	P P	N N	1.00	2017	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2017 2017	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2017	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	ITE CEDAR PARKWAY 329		MF	P	N	1.00	2017	INSTALLED AFTER LEAD BAN	Y	2017	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2017	INSTALLED AFTER LEAD BAN	Y	2017	VISUAL INSP DURING INSTALL OR REPAIR
	IITE CEDAR PARKWAY 33		MF	P	N	1.00	2017	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00		INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR
	ITE CEDAR PARKWAY 337		MF MF	P P	N N	1.00	2017	INSTALLED AFTER LEAD BAN	Y	2017	VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00		INSTALLED AFTER LEAD BAN	Y	2017	VISUAL INSP DURING INSTALL OR REPAIR
	IITE CEDAR PARKWAY 341 IITE CEDAR PARKWAY 345		MF	P	N N	1.00	2017	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00		INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR
	ITE CEDAR PARKWAY 349		MF	P	N	1.00	2017	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00		INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR
EPAL2570 WIL		N	SF	UNK=NOLG	UNK				N			UNK=NOLG				N		
EPAL2571 WIL	BUR ST S 203 BUR ST S 210	N N	SF SF	UNK=NOLG UNK=NOLG	UNK				N N			UNK=NOLG UNK=NOLG				N N		
EPAL2572 WIL		N N	SF	UNK=NOLG	UNK				N N			UNK=NOLG				N N		
EPAL2574 WIL	BUR ST S 227	N	SF	UNK=NOLG	UNK				N			UNK=NOLG				N		
	BUR ST S 230	N	SF	UNK=NOLG	UNK				N			UNK=NOLG				N		
EPAL2576 WIL		N N	SF SF	UNK=NOLG UNK=NOLG	UNK				N N			UNK=NOLG UNK=NOLG				N N		
EPAL2577 WIL		N	SF	UNK=NOLG	UNK				N			UNK=NOLG				N		
EPAL2579 WIL		N	SF	UNK=NOLG	UNK				N			UNK=NOLG				N		
EPAL2580 WIL	BUR ST S 404	N N	SF SF	UNK=NOLG	UNK				N N			UNK=NOLG				N N		
EPAL2581 WIL		N N	SF SF	UNK=NOLG UNK=NOLG	UNK				N N			UNK=NOLG UNK=NOLG				N N		
EPAL2583 WIL		N	SF	UNK=NOLG	UNK				N			UNK=NOLG				N		
EPAL2584 WIL	BUR ST S 420	N	SF	UNK=NOLG	UNK				N			UNK=NOLG				N		
EPAL2585 WIL		N N	SF SF	UNK=NOLG UNK=NOLG	UNK				N N			UNK=NOLG UNK=NOLG				N N		
EPAL2586 WIL		N N	SF SF	UNK=NOLG UNK=NOLG	UNK				N N			UNK=NOLG UNK=NOLG				N N		
EPAL2588 WIL	BUR ST S 433	N	SF	UNK=NOLG	UNK				N			UNK=NOLG				N		
EPAL2589 WIL		N	SF	UNK=NOLG	UNK				N			UNK=NOLG				N		
EPAL2590 WIL EPAL2591 WIL	BUR ST S 440	N N	SF SF	UNK=NOLG UNK=LG	UNK	 	1935		N N			UNK=NOLG UNK=LG		1935		N N		
EPAL2591 WIL		N N	SF	UNK=LG UNK=LG	UNK		1935		N N			P P	1.00		INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2593 WIL	LOW ST S 120	N	SF	UNK=LG	UNK		1935		N			L	0.75	1935	INSTALLATION RECORD	Υ	2022	VISUAL INSP AT METER
EPAL2594 WIL		N	SF	UNK=LG	UNK		1935		N			UNK=LG		1935		N		
EPAL2595 WIL		N N	SF SF	UNK=LG UNK=LG	UNK		1935 1935		N N			UNK=LG	0.75	1935 1935	INSTALLATION RECORD	N Y	2022	VISUAL INSP AT METER
	LOW ST S 133	N	SF	UNK=LG	UNK		2000		N			P	1.00		INSTALLATION RECORD	Y		VISUAL INSP AT METER
EPAL2598 WIL		N	SF	UNK=LG	UNK		1935		N			L	0.75	1935	INSTALLATION RECORD	Υ	2022	VISUAL INSP AT METER
EPAL2599 WIL		N N	SF SF	UNK=LG	UNK		1935		N N			UNK=LG UNK=LG		1935		N N		
EPAL2600 WIL		N N	SF SF	UNK=LG UNK=LG	UNK		1935 1935		N N			UNK=LG UNK=LG		1935 1935		N N		
EPAL2602 WIL		N	SF	UNK=LG	UNK		1935		N			UNK=LG		1935		N		
EPAL2603 WIL		N	SF	UNK=LG	UNK		1935		N			UNK=LG		1935		N		
	LOW ST S 213	N N	SF SF	UNK=LG UNK=LG	UNK		2000 1935		N N			P	1.00 0.75	1935 1935	INSTALLATION RECORD INSTALLATION RECORD	Y		VISUAL INSP AT METER VISUAL INSP AT METER
EPAL2605 WIL		N N	SF SF	UNK=LG UNK=LG	UNK		1935		N N			C	0.75	1935	INSTALLATION RECORD	Y	2022	VISUAL INSP AT METER VISUAL INSP AT METER
EPAL2607 WIL	LOW ST S 220	N	SF	UNK=LG	UNK		1935		N			UNK=LG	2.73	1935		N N		
EPAL2608 WIL		N	SF	UNK=LG	UNK		1935		N			UNK=LG		1935		N		
EPAL2609 WIL	LOW ST S 231	N N	SF SF	UNK=LG UNK=LG	UNK		1935 1935		N N			C	0.75 0.75	1935 1935	INSTALLATION RECORD INSTALLATION RECORD	Y	2022	VISUAL INSP AT METER VISUAL INSP AT METER
EPAL2610 WIL		N N	SF SF	UNK=LG UNK=LG	UNK		1935		N N			C	0.75		INSTALLATION RECORD	Y		VISUAL INSP AT METER VISUAL INSP AT METER
LPALZ011 WIL	LUW 31 3 233	IN) or	UNK=LG	UNK		1333	1	IN				0.75	1333	INSTALLATION RECORD		2022	VISUAL INSP AT WEIGH

SITE ID	LOCATION ID	LEAD BUILDIN GOOSNEC TYPE K	MATERA	PUBL IL EVER	VAS LICSIDE R LEAD	PUBLIC SIZE	PUBLIC INSTALL	BASIS OF PUBILC MATRERIAL CLASSIFICATION	IC FILED VERFIED	DATE OF STREET SIDE FIELD VERIFICATIO N	PUBLIC METHOD OF STREET SIDE FIELD VERIFICATION	PRIVATE MATERAIL	PRIVATE SIZE	PRIVATE INSTALL	BASIS OF PRIVATE MATRERIAL CLASSIFICATION	VEINI IED	DATE OF PROPERTY SIDE FIELD VERIFICATION	PRIVATE METHOD OF PROPERTY SIDE FIELD VERIFICATION
FD413543	WII LOW CT C 220	N 65	PUBLIC		JBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE VISUAL INSP AT METER
	WILLOW ST S 238 WILLOW ST S 241	N SF	UNK=L0		JNK JNK		1935 1935		N N			UNK=LG	0.75	1935 1935	INSTALLATION RECORD	Y N	2022	VISUAL INSP AT METER
EPAL2614	WILLOW ST S 244	N SF	UNK=L0		JNK		1935		N			UNK=LG		1935		N		
	WILLOW ST S 249 WILLOW ST S 250	N SF	UNK=LO		JNK		1935 1935		N N			UNK=LG UNK=LG		1935 1935		N N		
EPAL2617	WILLOW ST S 255	N SF	UNK=L0		JNK		1935		N			UNK=LG UNK=LG		1935		N		
	WILLOW ST S 256	N SF	UNK=L0		JNK		2000		N			P	1.00	1935	INSTALLATION RECORD	Υ	2022	VISUAL INSP AT METER
EPAL2619 EPAL2620	WILLOW ST S 261 WILLOW ST S 303	N SF	UNK=LO		JNK		1935 1935		N N			UNK=LG UNK=LG		1935 1935		N N		
	WILLOW ST S 304	N SF	UNK=L		JNK		1935		N			L	0.75	1935	INSTALLATION RECORD	Y	2022	VISUAL INSP AT METER
EPAL2622	WILLOW ST S 305	N SF	UNK=L0		JNK		1935		N			UNK=LG		1935		N		
EPAL2623 EPAL2624	WILLOW ST S 307 WILLOW ST S 308	N SF	UNK=LO		JNK		1935 1935		N N			UNK=LG	0.75	1935 1935	INSTALLATION RECORD	N Y	2022	VISUAL INSP AT METER
EPAL2625	WILLOW ST S 313	N SF	UNK=L0		JNK		1935		N			UNK=LG	0.75	1935	INSTALDATION RECORD	N	2022	VISONE INSTITUTE IN THE INTERIOR
	WILLOW ST S 314	N SF	UNK=L0		JNK		1935		N			С	0.75	1935	INSTALLATION RECORD	Υ	2022	VISUAL INSP AT METER
EPAL2627 EPAL2628	WILLOW ST S 319 WILLOW ST S 320	N SF	UNK=LO		JNK JNK		1935 1935		N N			UNK=LG UNK=LG		1935 1935		N N		
	WILLOW ST S 326	N SF	UNK=L0		JNK		1935		N			UNK=LG		1935		N		
EPAL2630	WILLOW ST S 332	N SF	UNK=L0		JNK		1935		N			UNK=LG		1935		N		
	WILLOW ST S 338 WILLOW ST S 341	N SF	UNK=LO		JNK JNK		1935 1935		N N			L C	0.75 0.75	1935 1935	INSTALLATION RECORD INSTALLATION RECORD	Y		VISUAL INSP AT METER VISUAL INSP AT METER
EPAL2632 EPAL2633	WILLOW ST S 341	N SF	UNK=LC		JNK	- 1	1935		N N			L	0.75	1935	INSTALLATION RECORD	Y		VISUAL INSP AT METER VISUAL INSP AT METER
EPAL2634	WILLOW ST S 351	N SF	UNK=L0	G U	JNK		1935		N			c	0.75	1935	INSTALLATION RECORD	Y	2022	VISUAL INSP AT METER
EPAL2635 EPAL2636	WILLOW ST S 355 WILLOW ST S 359	N SF	UNK=LO		JNK JNK		1935 1935	1	N N			L	0.75 0.75	1935 1935	INSTALLATION RECORD	Y		VISUAL INSP AT METER VISUAL INSP AT METER
	WILLOW ST S 359 WILSON ST N 112	N SF	UNK=L0		JNK	1.00	2018	INSTALLED AFTER LEAD BAN	Y	2018	VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	1935 2018	INSTALLATION RECORD INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP AT METER
EPAL2638	WILSON ST N 117	N SF	Р	U	JNK	1.00	2018	INSTALLED AFTER LEAD BAN	Υ	2018	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP AT METER
EPAL2639 EPAL2640	WILSON ST N 118	N SF	P		JNK	1.00	2018	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	С	1.00	2018 2018	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER
EPAL2640	WILSON ST N 119 WILSON ST N 124	N SF	P		JNK	1.00	2018	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2018	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP AT METER
	WILSON ST N 127	N SF	P	U	JNK	1.00	2018	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER
EPAL2643	WILSON ST N 128	N SF	P		JNK	1.00	2018	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP AT METER
EPAL2644 EPAL2645	WILSON ST N 132 WILSON ST N 137	N SF	P		JNK	1.00	2018	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C P	1.00	2018	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP AT METER
EPAL2646	WILSON ST N 138	N SF	P		JNK	1.00	2018	INSTALLED AFTER LEAD BAN	Y	2018	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER
	WILSON ST N 141	N SF	Р		JNK	1.00	2018	INSTALLED AFTER LEAD BAN	Υ	2018	VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP AT METER
EPAL2648 EPAL2649	WILSON ST N 148 WILSON ST N 204	N SF	P		JNK	1.00	2018	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2018	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP AT METER
	WILSON ST N 216	N SF	P		JNK	1.00	2018	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER
EPAL2651	WILSON ST N 222	N SF	P		JNK	1.00	2018	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	Р	1.00	2022	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP DURING INSTALL OR REPAIR
EPAL2652 EPAL2653	WILSON ST N 304 WILSON ST N 314	N SF	P		JNK	1.00	2018	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2022	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP AT METER
EPAL2653	WILSON ST N 314 WILSON ST N 318	N SF	P		JNK	1.00	2018	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2018	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP AT METER
EPAL2655	WILSON ST N 322	N SF	P		JNK	1.00	2018	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP AT METER
EPAL2656 EPAL2657	WILSON ST N 328 WILSON ST N 340	N SF	P		JNK	1.00	2018	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2018 2018	INSTALLED AFTER LEAD BAN	Y	2022 2022	VISUAL INSP AT METER VISUAL INSP AT METER
	WILSON ST N 340 WILSON ST N 342	N SF	P		JNK	1.00	2018	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP AT METER
EPAL2659	WILSON ST N 352	N SF	Р		JNK	1.00	2018	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018	INSTALLED AFTER LEAD BAN	Υ	2022	VISUAL INSP AT METER
EPAL2660	WILSON ST N 356	N SF	P		JNK	1.00	2018	INSTALLED AFTER LEAD BAN	Υ		VISUAL INSP DURING INSTALL OR REPAIR	C	1.00	2018	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER
EPAL2661 EPAL2662	WILSON ST N 358 WILSON ST N 362	N SF	P		JNK JNK	1.00	2018	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	C P	1.00	2018	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP AT METER
	WILSON ST N 364	N SF	P		JNK	1.00	2018	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER
EPAL2664 EPAL2665	WILSON ST N 372 WILSON ST N 374	N SF N SF	P		JNK JNK	1.00	2018 2018	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018 2018	INSTALLED AFTER LEAD BAN INSTALLED AFTER LEAD BAN	Y	2022 2022	VISUAL INSP AT METER VISUAL INSP AT METER
EPAL2666	WILSON ST N 374 WILSON ST N 382	N SF	P		JNK JNK	1.00	2018	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	P P	1.00	2018	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP AT METER VISUAL INSP AT METER
EPAL2667	WILSON ST N 384	N SF	P		JNK	1.00	2018	INSTALLED AFTER LEAD BAN	Y		VISUAL INSP DURING INSTALL OR REPAIR	P	1.00	2018	INSTALLED AFTER LEAD BAN	Y	2022	VISUAL INSP AT METER
EPAL2668 EPAL2669	WINDFLOWER WAY 600 WINDFLOWER WAY 601	N SF N SF	C		N N	1.00	1985	Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1985 1985		N		
EPAL2669 EPAL2670	WINDFLOWER WAY 601 WINDFLOWER WAY 630	N SF	C		N N	1.00	1985 1985	Installation record Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1985		N N		
EPAL2671	WINDFLOWER WAY 631	N SF	C		N	1.00	1985	Installation record	γ	1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
EPAL2672	WINDFLOWER WAY 660	N SF	C		N	1.00	1985	Installation record	Υ		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
EPAL2673 EPAL2674	WINDFLOWER WAY 661 WINDFLOWER WAY 690	N SF	C		N N	1.00	1985 1985	Installation record Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1985 1985		N N		
EPAL2675	WINDFLOWER WAY 691	N SF	C		N	1.00	1985	Installation record	Υ	1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	WINDFLOWER WAY 710	N SF	С		N	1.00	1985	Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
EPAL2677 EPAL2678	WINDFLOWER WAY 711 WINDFLOWER WAY 720	N SF	C		N N	1.00	1985 1985	Installation record Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1985 1985		N N		
EPAL2679	WINDFLOWER WAY 721	N SF	C		N	1.00	1985	Installation record	Υ		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
EPAL2680	WINDFLOWER WAY 725	N SF	С		N	1.00	1985	Installation record	Υ		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG	ļ	1985		N		-
EPAL2681 EPAL2682	WINDFLOWER WAY 730 WINDFLOWER WAY 731	N SF	C		N N	1.00	1985 1985	Installation record Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG	1	1985 1985		N N		
EPAL2683	WINDFLOWER WAY 731 WINDMILL DR 528	N SF	C		N	1.00	1985	Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1985		N N		
EPAL2684	WINDMILL DR 533	N SF	С		N	1.00	1985	Installation record	Υ	1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
EPAL2685	WINDMILL DR 534	N SF	C		N	1.00	1985	Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
EPAL2686 EPAL2687	WINDMILL DR 540 WINDMILL DR 546	N SF	C		N N	1.00	1985 1985	Installation record Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1985 1985		N N		
EPAL2688	WINDMILL DR 548	N SF	c		N	1.00	1985	Installation record	Υ	1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
EPAL2689	WINDMILL DR 551	N SF	C		N	1.00	1985	Installation record	Υ		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
EPAL2690 EPAL2691	WINDMILL DR 552 WINDMILL DR 558	N SF	C		N N	1.00	1985 1985	Installation record Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG		1985 1985		N N		
EPAL2691	WINDMILL DR 604	N SF	C		N	1.00	1985	Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
EPAL2693	WINDMILL DR 607	N SF	С		N	1.00	1985	Installation record	Υ	1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
	WINDMILL DR 610 WINDMILL DR 616	N SF	C		N N	1.00	1985 1985	Installation record Installation record	Y		VISUAL INSP DURING INSTALL OR REPAIR VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG UNK=NOLG	1	1985 1985		N N		
CPALZ095	MAINANIEL DE 010	IN SF	1 (14	1.00	1303	mistanation record		1303	VISUAL INSP. DURING INSTALL OF REPAIR	JINK=NOLG	1	1303		IN		

SITE ID	LOCATION ID	LEAD GOOSNEC K	BUILDING TYPE	PUBLIC MATERAIL	WAS PUBLICSIDE EVER LEAD	PUBLIC SIZE	PUBLIC INSTALL	BASIS OF PUBILC MATRERIAL CLASSIFICATION	IC FILED	DATE OF STREET SIDE FIELD VERIFICATIO N	PUBLIC METHOD OF STREET SIDE FIELD VERIFICATION	PRIVATE MATERAIL	PRIVATE SIZE	PRIVATE INSTALL	BASIS OF PRIVATE MATRERIAL CLASSIFICATION	WAS PRIVATE FILED VERFIED	DATE OF PROPERTY SIDE FIELD VERIFICATION	PRIVATE METHOD OF PROPERTY SIDE FIELD VERIFICATION
				PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PUBLIC	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE	PRIVATE
EPAL2696	VINDMILL DR 622	N	SF	C	N	1.00	1985	Installation record	Υ	1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
EPAL2697	VINDMILL DR 628	N	SF	C	N	1.00	1985	Installation record	Υ	1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
EPAL2698 N	VINDMILL DR 634	N	SF	C	N	1.00	1985	Installation record	Υ	1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
EPAL2699 V	VINDMILL DR 640	N	SF	C	N	1.00	1985	Installation record	Y	1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
EPAL2700 V	VINDMILL DR 646	N	SF	С	N	1.00	1985	Installation record	Υ	1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
EPAL2701 V	VINDMILL DR 652	N	SF	C	N	1.00	1985	Installation record	Υ	1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
EPAL2702	WOODSVIEW LN 700	N	SF	C	N	1.00	1985	Installation record	Υ	1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
EPAL2703 V	WOODSVIEW LN 701	N	SF	C	N	1.00	1985	Installation record	Y	1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
EPAL2704 V	WOODSVIEW LN 706	N	SF	С	N	1.00	1985	Installation record	Υ	1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
EPAL2705 N	WOODSVIEW LN 707	N	SF	C	N	1.00	1985	Installation record	Υ	1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
EPAL2706 V	WOODSVIEW LN 712	N	SF	С	N	1.00	1985	Installation record	Υ	1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
EPAL2707	WOODSVIEW LN 713	N	SF	С	N	1.00	1985	Installation record	Υ	1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
EPAL2708 V	VOODSVIEW LN 718	N	SF	C	N	1.00	1985	Installation record	Y	1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
EPAL2709 \	WOODSVIEW LN 719	N	SF	C	N	1.00	1985	Installation record	Y	1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		
EPAL2710 V	WOODSVIEW LN 724	N	SF	C	N	1.00	1985	Installation record	Υ	1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985	·	N		
EPAL2711 V	WOODSVIEW LN 725	N	SF	C	N	1.00	1985	Installation record	Υ	1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985	·	N		
EPAL2712 V	WOODSVIEW LN 730	N	SF	C	N	1.00	1985	Installation record	Υ	1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985	·	N		
EPAL2713 V	WOODSVIEW LN 731	N	SF	C	N	1.00	1985	Installation record	Υ	1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985	·	N		
EPAL2714 N	WOODSVIEW LN 737	N	SF	С	N	1.00	1985	Installation record	Υ	1985	VISUAL INSP DURING INSTALL OR REPAIR	UNK=NOLG		1985		N		